PR RS EES4HEFIRA S NINGBO AOTE FASTENERS MANUFACTURER CO.LTD
WEMBES#EAEMRASE YUYUAN MACHINERY ELECTRIC HARDWARE CO.,LTD

itk AT LA LTRSS i 4 (POSTCODE) : 315410
ADI:No.98 Zishan West Road, Zhangting Town, Yuyao City, Ningbo China

M.T.:(0) 13605847779 www.atfasteners.com

TEL:0086-574-62981288 henryf@atfasteners.com

FAX:0086=574~62989866 henryS@vip.163.com

AIRSHIP

Fasteners  Machinery  AutoParts Hardware

TV i inland®
o /A TUOVRheinland

1509001:2008 Precisaly Right.




P

P\t ”

v WIW/ /}

- 6%’?% ) Al.!'I

==t ///ﬂ




www.atfasteners.com

ATF

EHAHN A R
DIN STAINLESS STEEL SELF TAPPING SCREWS

DxPxL DxPxLIDxPxL| DxPxL DxPxL| DxPxL

ST22x0.794.5 ST2.9x1.06x6.5 ST3.5x1.27%3.5
ST2.2x0.79xE.5 ST2.9x1.06x9.5 ST3.511.27x13
ST3.5n1.27x16
§T35x1.27x19
ST35n.2ma2
§T3.5x1.27x25
ST3.5x1.27x32
§T3.511.27x38

ST2.2:0.79x05 ST2.9x1.06x13
ST2.2x0.79x13  ST2.9x1.06x16
ST2.2x0.79¢16  ST2.9x1.06x1%

ST3.911.34x8.5
ST3.9x1.34x13
ST3.9x1.34x16
ST3.0x1.3dx19
ST3.901.34x22
ST3.9x1.34x25
ST3.911.34x32
ST3.9x1.34x38
ST3.001.34x40
ST3.9x1.3dx45
ST3.9x1.34x50

ST4.241.41x9.5
ST4.2x1.41x13
ST4.2x1.41x16
ST4.2x1.41x19
ST4.2x1.41x22
§T4.201.41x25
ST4.241.41x32
ST4.2x1.41x38
ST4.2x1.41x40
ST4.2x1.41x45
ST4.2x1.41x50
§T4.241.41x60
ST4.201.4170

5T4.8x1.59x9.5
ST4.8x1.59x13
S5T4.8x1.59x16
8T4.8x1.59x19
374.8x1.59x22
8T4.8x1.59x25
5T4.8x1.59%32
5T4.8x1.59x38
574.8x1.59x40
8T4.8x1.59x45
ST4.8x1.59x50
5T4.8x1.59x55
5T4.8x1.59%60
5T4.8x1.59x70
S5T4.8x1.59%80
8T4.8x1.59x90
ST4.8x1.59x95

Material:
"Stainless steel:SUS410,5US304:5U8316

DxPxL

ST5.5x1.81x13
ST5.5x1.81x16
ST5.5x1.81x18
ST5.5x1.81x22
5T5.5x1.81x25
ST5.5x1.81x32
ST5.5x1.81x38
5T5.5¢1.81x40
ST5.5x1.61x45
ST5.5x1.81x50
5T5.5x1.81x55
ST5.5x1.81x60
ST5.5x1.81x70
ST5.5x1.81x80
ST5.5x1.81x80
ST5.5x1.81x95
ST5.5x1.61x100

ST6.3x1.81x13
§T6.3x1.81x16
5T6.3x1.81x19
§T6.3x1.81x22
ST6.3x1.81x25
5T6.3x1.81x32
ST6.3x1.81x38
ST6.3x1.81x40
ST6.3x1.81x45
§T6.3x1.81x50
ST6.3x1.81x55
5T6.3x1.81x60
ST6.3x1.81x70
§T6.3x1.81x80
S5T6.3x1.81x80
§T6.3x1.81x95
ST6.3x1.81x100

574.8x1.59x100

\SELFTAPP\NG SCREW, POZIDRIV.

DIN-7982 H DIN-7982 Z DIN-7982 SLD

pres=heg: §-3 prEg=te §-3 preg=prt £

SELF TAPPING SCREW, SELF TAPPING SCREW, SELF TAPPING SCREW,

COUNTERSUNK HEAD ,PHILLIPS, COUNTERSUNK HEAD , POZIDRIV, COUNTERSUNK HEAD, TORX.

DIN-7983 H ( DIN-7983 Z DIN-7983 SLD
e (= o )

FikAHEL FikHHEL FikEmgL

SELF TAPPING SCREW, SELF TAPPING SCREW, SELF TAPPING SCREW,

COUNTERSUNK PAISED HEAD ,PHILLIPS. COUNTERSUNE PAISED HEAD, POZIDRIV, COUNTERSUNK PAISED HEAD , TORX.

5

DIN-7881 H DIN-7981 Z DIN-7981 SLD

BE AWML AL EHIME BIANBE

SELFTAPPING SCREW PAN HEAD PHILLIPS. SELF TAPPING SCREW, TORX.

A HNEBIRL

ANSI STAINLESS STEEL SELF TAPPING SCREWS

TYPE A

D=TxL | D-=TxL

Material:

STAINLESS STEEL SCREWS

*Stainless steel:SUS410:3U8304:5US316

232316 3283116 4-24x3M6 5204 6163 7-1BX3E G153 1012 12-10x3/B  W-10x12  16-10x34 1B-0x3/4
3004 32BK14 4-24x1M SDDAME 61812 716k B-1Sa12  10-12¢U2  12-11x1/2 14-10k3W  16-10x7TB 1B-8x7/8
23516 328516 4-24x5116 52038 6-1BSE  T-16XSIE  B-15a5  10-126  12-11x5/8  14-10xTB  16-10x1-1/4 18-8x1-1/4
23008 3208 424638 G212 G-1BBM T-URKAM B-1SRA 10-1263M 12-11x34 1100114 TE-1001-12 18-Gx1-172
2312 32812 4-24x12 52058 6180 7-16kTIE B-1B7@ 101278 12-11N78  14-10k1-1/2 16-10x1-34  18-8x1-304
3260508 4-24508 520 6-18x-1M T-16x1-14 B-15x1-14  10-12dt 12-101-1/4  1d-1001-304 16-102  18-Bx2
424030 S-0NTIE  G-fni-12 T-16x1-12 B-15xi-112 10-121-14 12-1fxi-1/2  14-1062  16-10x2-1/4 18-Ox2-1/4
4244718 5200 T-1601-304 B-15x1-304 10-1201-112 12-11x1-30  14-10x2-1/4 16-10x2-112 18-0x2-112
4-24x1 T-6x2  B-15i2 10-120-34 12-11x2 1W-10@-112 16-102-314  18-0x2-3/4
16214 B-15a2-14 10-12K2  2-11a2-104 14-1062-304 16-1063  18-0x3
T-16x2-102 B-15a2-12 10-122-1M4 12-11x2-112  14-1063  16-10B-112  18-Ox3-112
8-16a2-3i 101212 121102304 14106312 16100 18-Oxd
153 10-12@-34 12-11x3 14-1004
10-1243 12-11x3-112
1012612 129154
10-12¢d
TYPE AB (TYPE B)
D-TxL ‘ D-TxL
231316 3-28x3/16 4-24 520144 6-20x8  7-19x3/8  B-18x3/B  10-16x3/8  12-14x3/8  1M4-14x3/4  5/16-12x3/4
2320104 32814 4-24n1id 5200516 B-20012 T2 BABN2  10-1BxM2 12-14x12 1M-14TIE SNE-12478
2320516 3-28%5(16 4-24x5116 5-200308  G-205(6  T-OXEIB  B-18x5/8  10-1BxS/B  12-14xBI8  1/4-1dxi-14  SME-12x1-1/4
231308 3-28x308 4-24x3l8  B-20x12  G-20x34  T-1Ox3M 8-18x3M4 10-1Bx3M4 12-14x34 14-14x1-12 BHE-12x1-112
2330102 3280102 4-24x12 520008 B-207/6  TABIB  B-18x7/E  A0-1BXTB 12-14x7I8  1/4-14x1-304  SH6-12x1-314
3-28x508 4-24x508 5-20k34  B20x1-14 71914 B-18x1-14  10-16x1 12-14x1-104 1/d-14x2 5/16-12x2
4-24x30  5-20aTB  G-RO0X112 TAABA-2  B1Bx1-1/2  AD-1Bx1-1/4 12-14x1-12 14-14x2-14  5/16-12x2-14
4244718 5-2001 TADA-34  B18x1-34  10-1Bx1-12  12-14x1-304 1/4-14x2-12  516-12x2-1/2
4-24x1 71802 8-18x2 10-16x1-304  12-14%2  1fd-14x2-314  5/16-12x2-3/4
702104 8-18x2-1/4  10-16x2 12-14x2-104 1/4-14x3 516-12x3
TAB-12  B-18x2-12  10-16x2-104  12-14x2-112 1/4-14x3-12  5/16-12x3-1/2
B18x2-304  10-16x2-1/2 12-14x2-3/4 1/4-14x4 5/16-12x4
8-18x3 10-16x2-304  12-14x3
10-16x3 12-14x3-1/2
10-16x3-1/2  12-14xd
10-16x4
© )
Pan Heads Slotted Phillips/siotied Socket
Flat Heads
Socket
Oval Heads f]m

Round Heads

e

Hex Washer Heads Eb!lﬂﬂm'
{

Round Washer Heads qm

Phillips

Phillipa

Pozidrive

()

Pozidrivp

(- AN




www.atfasteners.com

STAINLESS STEEL SCREWS

ATF-

13 I 7 5 AL 4 0% 2
DIN STAINLESS STEEL MACHINE SCREWS

DxPxL | DxPxL | DxPxL| DxPxL| DxPxL | DxPxL | DxPxL

Material:
*Stainless steel:SUS410;5U5304;5U5316

M2x0.4x3  M2.5x0.45x3 M3x0.5x5 Mdx0.7x6 M5x0.8x9 M6Ex1.0x10 M8x1.25x10
M2x0.4x4  M2.5x0.45x4 M3x0.5x6 M4x0.7x8 M5x0.8x10 MEx1.0x12 M8x1.25x12
M2x0.4x5  M2.5x0.45x5 M3x0.5x8 M4x0.7x9 M5x0.8x12 M6Ex1.0x14 M8x1.25x14
M2x0.4x6 M2.5x0.45x6 M3x0.5x9 M4x0.7x10 M5x0.8x14 MEx1.0x16 M8x1.25x16
M2x0.4x8  M2.5x0.45x8 M3x0.5x10 M4x0.7x12 M5x0.8x16 MEx1.0x18 M8x1.25x18
M2x0.4x10 M2.5x0.45x10 M3x0.5x12 M4x0.7x14 M5x0.8x18 MBx1.0x20 M8x1.25x20
M2x0.4x12 M2.5x0.45x12 M3x0.5x14 Max0.7x16 M5x0.8x20 Mex1.0x22 M8x1.25x22
M2x0.4x16 M2.5x0.45x16 M3x0.5x16 Md4x0.7x18 M5x0.8x22 M6x1.0x25 M8x1.25x25
M2.5x0.45%20 M3x0.5x18 M4x0.7x20 M5x0.8x25 MEx1.0x28 M8x1.25x28
M3x0.5x20 M4x0.7x22 MEx0.8x28 MEx1.0x30 M8x1.25x30
M3x0.5x22 M4x0.7x25 M5x0.8x30 M6Ex1.0x35 M8x1.25x35
M3x0.5x25 M4x0.7x28 M5x0.8x35 MEx1.0x40 M8x1.25x40
M3x0.5x28 M4x0.7x30 M5x0.8x40 M6Ex1.0x45 M8x1.25x45
M3x0.5x30 M4x0.7x35 M5x0.8x45 M6x1.0x50 M8x1.25x50
M4x0.7x40 M5x0.8x50
e . S N [ \
DIN 963 DIN 964 DIN 965H
—
& SRRl (4) | O
FrH i K 1R 5T Figi Ean e £ + =l Sk R 4T
\_Slotted countersunk head screws \_ Slotted raised countersunk oval head screws J  \_ Cross recessed countersunk flat head screws )
r = " = T ™\
DIN 965Z DIN 965 SLD DIN 966H
o @) o %) (| ——
RFHETLLIRET kA A TEEET + PR S IRET
\_Slotted countersunk head screws PZ ) | Countarsunkhead serews simizrDINGgS siiobe drve ) | Cross racessed countersunk oval head screws )
g ™ i N1 ar R
DIN 966Z 1SO 7380 1SO 7380-ULF
. o © 6w
KT L IEET AR RER AN FAER
\_Cross recessed countersunk oval head seraws |\ Hexagon socket botton head screws | | Hexagon socket botton head screws flasch ULF )
s ™\ % B
DIN 7985H DIN 79852 DIN 7985 SLD
k= Fie 1) KRR IR ST [Shatra=en: $3)
\_Cross recessed raised pan headscrews /] \_Cross recessed raised pan headscrews J | _Cross recessed raised pan headscrews
i N
DIN 7991 DIN 7991 SLD DIN912
kM ARIERET kA TEIRET P 7 A B Sk U 6T

dexagun socket countersunk head SCTews

® Countersunk head screws similar DIN 7911 six lobe dmuJ

Hexagon socket head cap screws

5E Wl 7 435 TR B 4 18 44

UNC STAINLESS STEEL MACHINE SCREWS 2A 60 ANSI

4-40x3/16
4-40x1/4
4-40x5/16
4-40x3/8
4-40x1/2
4-40x5/8
4-40x3/4
4-40x7/8
4-40x1
4-40x1-1/4
4-40x1-1/2
4-40x1-3/4
4-40x2

6-32x3/16
6-32x1/4
6-32x5/16
6-32x3/8
B-32x1/2
6-32x5/8
6-32x3/4
6-32x7/8
B-32x1
6-32x1-1/4
6-32x1-1/2
6-32x1-3/4
B-32x2
6-32x2-1/4
6-32x2-1i2

8-32x1/4 10-24x5/186
8-32x5/16 10-24x3/8
8-32x3/8 10-24x%1/2
8-32x1/2 10-24x5/8
8-32x5/8 10-24x3/4
8-32x3/4 10-24x7/8
8-32x7/8 10-24x1
B8-32x1 10-24x1-1/4
8-32x1-1/4 10-24x1-1/2
8-32x1-1/2 10-24x1-3/4
8-32x1-3/4 10-24x2
8-32x2 10-24x2-1/4
8-32x2-1/4 10-24x2-1/2
8-32x2-1/2 10-24x2-3/4
8-32x2-3/4 10-24x3
8-32x3 10-24x3-1/2
10-24x4

Material:
*Stainless steel:SUS410;5US304;5US316

12-24x5/16 1/4-20x3/8 5/16-18x3/8
12-24x3/8 1/4-20x1/2 5/16-18x1/2
12-24x1/2 1/4-20%5/8 5/16-18x5/8
12-24x5/8 1/4-20%3/4 5/16-18x3/4
12-24%3/4 1/4-20%7/8 5/16-18x7/8
12-24x7/8 1/4-20x1 5/16-18x1
12-24x1 1/4-20x1-1/4 5/16-18x1-1/4
12-24x1-1/4 1/4-20x1-1/2 5/16-18x1-1/2
12-24x1-1/2 1/4-20%1-3/4 5/16-18x1-3/4
12-24x1-3/4 1/4-20x2 5/16-18x2
12-24x2 1/4-20x2-1/4 5/16-18x2-1/4
12-24x2-1/4 1/4-20x2-1/2 5/16-18x2-1/2
12-24x2-1/2 1/4-20%2-3/4 5/16-18x2-3/4
12-24x2-3/4 1/4-20%3 5/16-18x3
12-24x3 1/4-20%3-1/2 5/16-18x3-1/2
12-24x3-1/2 1/4-20x4 5/16-18x4
12-24x4

UNF STAINLESS STEEL MACHINE SCREWS 2A 60 ANSI

[ D=Tal | D-TxL | D-TxL | D-TxL | D-Txl

4-48x3/18 6-40x3/16 B-36x1/4 10-32x5/16 12-28x5/16 1/4-28x3/8 5/16-24x3/8
4-48x1/4 6-40x1/4 B-36x5/16 10-32x3/8 12-28x3/8 1/4-28x1/2 5/16-24x1/2
4-48x5/16 6-40x5/16 B-36x3/8 10-32x1/2 12-28x1/2 1/4-28x5/8 5/16-24x5/8
4-48x3/8 6-40x3/8 B-36x1/2 10-32x5/8 12-28x5/8 1/4-28x3/4 5/16-24x3/4
4-48x1/2 6-40x1/2 B-36x5/8 10-32x3/4 12-28x3/4 1/4-28x7/8 5/16-24x7/8
4-48x5/8 6-40x5/8 B-36x3/4 10-32x7/8 12-28x7/8 1/4-28x1 5/16-24x1
4-48x3/4 6-40x3/4 8-36x7/8 10-32x1 12-28x1 1/4-28x1-1/4 5/16-24x1-1/4
4-48x7/8 6-40x7/8 B-36x1 10-32x1-1/4 12-28x1-1/4 1/4-28x1-1/2 5M16-24x1-1/2
4-48x1 B=40x1 8-36x1-1/4 10-32x1=-1/2 12-28x1-1/2 1/4-28x1-3/4 5/16-24x1-3/4
4-48x1-1/4 6-40x1-1/4 8-36x1-1/2 10-32x1-3/4 12-28x1-3/4 1/4-28x2 5/16-24x2
4-48x1-1/2  6-40x1-1/2 B-36x1-3/4 10-32x2 12-28x2 1/4-28x2-1/4 5/16-24x2-1/4
4-48x1-3/4  6-40x1-3/4 8-36x2 10-32x2-1/4 12-28x2-1/4 1/4-28x2-1/2 5/M16-24x2-1/2
4-48x2 6-40x2 B-36x2-1/4 10-32x2-1/2 12-28x2-1/2 1/4-28x2-3/14  5/16-24x2-3/4
6-40x2-1/4 8-36x2-1/2 10-32x2-3/4 12-28x2-3/4 1/4-28x3 5/16-24x3
6-40x2-1/2 8-36x2-3/4 10-32x3 12-28x3 1/4-28x3-1/2 5/16-24x3-1/2
8-36x3 10-32x3-1/2 12-28x3-1/2 1/4-28x4 5/16-24x4
10-32x4 12-28x4
(Paneads  (umm  (® © ©
Phillips Tored Sguare sockat Slotted Fhillips/slotted Sockat
Flat Heads @ . @ @
Phillips T/uii? Bquare sooket Socket
Oval Heads ==
0 Phillipsssiottad
Hex Washer Heads | 1
ligs ledanted Hex.
Round Heads @

.

Truss Heads

Souare socket Sock

S &

Siotted  Phillips/slottad

a5

J
@




www . atfasteners.com STAINLESS STEEL SCREWS

ATF-

H ﬁl z’:ﬁiﬁ*}lmﬂg I\gta‘n‘\tl:;asls steel:SUS410;5U5304:5U8316
JIS STAINLESS STEEL MACHINE SCREWS

DxPxL| DxPxL|DxPxL |DxPxL |DxPxL|DxPxL | DxPxL| DxPxL |DxPxL
M2x0.4x3  M2.5x0.45x3  M3x0.5x4 M3.5x0.6x5 M4x0.7x5  M4.5x0.75x5  M5x0.8x6 Méx1.0x8 MBx1.25x12
M2x0.4xd  M2.5x0.45xd  M3x0.5x5 M3.5x0.6x6 Mdx0.7x6  M4.5x0.75x6  M5x0.8x8 M6x1.0x10  MBx1.25x16
M2x0.4x5 M2.5x0.45x5  M3x0.5x6 M3.5x0.6x8 M4x0.7x8 M4.5x0.75x8 M5x0.8x10 M6x1.0x12  MBx1.25x20
M2x0.4x6  M2.5x0.45x6  M3x0.5x8 M3.5%x0.6x10  M4x0.7x10  M4.5x0.75x10  M5x0.8x12 M6x1.0x16  MBx1.25x25
M2x0.4x8 M2.5%0.45x8  M3x0.5x10  M3.5x0.6x12  M4x0.7x12 M4.5x0.75x12 M5x0.8x16 M6Ex1.0x20  MBx1.25x30
M2x0.4x10  M2.5x0.45x10 M3x0.5x12  M35x0.6x16  M4x0.7x16  M4.5x0.75x16 M5x0.8x20  MEx1.0x25  MBx1.25x35
M2x0.4x12  M2.5x0.45x12 M3x0.5x16  M3.5x0.6x20  M4x0.7x20 Md4.5x0.75x20 M5x0.8x25 M6x1.0x30  MBx1.25x40
M2x0.4x16 M2.5x0.45x16 M3x0.5x20 M3.5x0.6x25 M4x0.7x25 M4.5x0.75x25 M5x0.8x30 MEx1.0x35  MBx1.25%45
M2x0.4x20  M2.5x0.45x20 M3x0.5X25 M3.5x0.6x30  M4x0.7x30 M4.520.75x30 M5x0.8x35 M6x1.0x40  MBx1.25x50

M3x0.5X30 M3.5x0.6x35 M4x0.7x35 M4.5x0.75x35 MS5x0.8x40 M6Ex1.0x45  MBx1.25%55
M4x0.7x40  M4.5x0.75x40  M5x0.8x45 M6x1.0x50  MBx1.25x60

M4.5x0.75x45  M5x0.8x50 M6x1.0x55

M6x1.0x60

v (- (%) Qh

E EI] z; % iﬁ E I& !g g ;ﬁg:;‘ri:g steel:SUS410;5US304;5U8316

JIS STAINLESS STEEL TAPPING SCREWS TYPE 1

D-TxL | D-TxL |D-TxL| D-TxL| D-TxL| D-TxL [D-TxL

M2-32x4 M2.5-28x5 M3-24x6  M3.5-18x8 M4-16x8 M4.5-14x10 M5-12x10 Me-10x12
M2-32x5 M2.5-28x6  M3-24x8 M3.5-18x10 M4-16x10 M4.5-14x12 M5-12x12 ME-10x16
M2-32x6 M2.5-28x8 M3-24x10 M3.5-18x12 M4-16x12 Md4.5-14x16 M5-12x16 MB-10x20
M2-32x8 M2.5-28x10 M3-24x12 M3.5-18x16 M4-16x16 M4.5-14x20 M5-12x20 MB-10x25
M2-32x10 M2.5-28x12 M3-24x16 M3.5-18x20 M4-16x20 M4.5-14x25 M5-12x25 MB-10x30
M2-32x12 M2.5-28x16 M3-24x20 M3.5-18x25 M4-16x25 M4.5-14x30 M5-12x30 ME-10x35
M3.5-18x30 M4-16x30 M4.5-14x35 M5-12x35 M6-10x40

M4-16x35 M5-12x40 Me-10x45

MB-10x50

JIS STAINLESS STEEL TAPPING SCREWS TYPE 2
D-TxL | D-TxL |[D-TxL| D-TxL| D-TxL | D-TxL D—TxL| D-TxL

M2-32x4  M2.5-28x5 M3-24x6 M3.5-20x8 M4-18x8 M4.5-16x10 M5-16x10 MB-14x12
M2-32x5 M2.5-28x6 M3-24x8 M3.5-20x10  M4-18x10 M4.5-16x12 M5-16x12 M6-14x16
M2-32x6 M2.5-28x8 M3-24x10 M3.5-20x12 M4-18x12 M4.5-16x16 MS5-16x16 MB-14x20
M2-32x8 M2.5-28x10 M3-24x12 M3.5-20x16 M4-18x16 M4.5-16x20 M5-16x20 M6-14x25
M2-32x10 M2.5-28x12 M3-24x16 M3.5-20x20 M4-18x20 M4.5-16x25 M5-16x25 MB-14x30
M2-32x12 M2.5-28x16 M3-24x20 M3.5-20x25 M4-18x25 M4.5-16x30 MS5-16x30 M6-14x35
M3.5-20x30 M4-18x30 M4.5-16x35 M5-16x35 M6-14x40

M4-18x35 M5-16x40 M6-14x45

M6-14x50

® - Duw & @

Truss Hinds

Vi

Material:
*Stainless steel:5US410,8US304

ANRALATFENEhERIEL
DIN-7504-K
DIN STAINLESS STEEL SELF DRILLING SCREW, HEXAGON WASHER HEAD

CODE DxPxL | CODE DxPxL| CODE DxPxL | CODE DxPxL‘ CODE DxPxL

704K 35005  3.5x1.27x0.5 THOM( 42135 4.2x1.41x13  7504K 48135 4.8x1.59x13 75K 55195 G5.5x1.81x19  THMK £319S  B.3x1.81x19
THMK 35135 3.5x1.27x13  TAMK 42165 4.2x1.41x16  7504K 48165 4.8x1.59x16 THMK 55225 55x1.B1x22 754K B35S 6.3x1.81X25
TH04K 35165 35x1.27x16  THOMK 42195 4.2x1.41x19  T504K 48195  4.8x1.59x19 THMK 55255 5.5x1.81x25  7R0K 63325  6.3x1.81X32
TO0K 35198 3.5x1.27x19  TH0MK 42255 4.2x1.41x25 904K 48255 4.8x1.59x25 5K 55325 55x1.81x32 750K B33BS  6.3x1.81X38
504K 35258 3.5x1.27x25  TH04K 42325 42x1.41x32  7504K 48325 4.8x1.59x32 T50MK 55385 55¢1.81x38  7hMMK 63505  6.3x1.81X50
TH0MK 35325 35x1.27x32  TH0MK 42385 4.2x1.41x38  7504K 48385 4.8x1.59x38 THMK 55505 5.5x1.81x50  7S04K BI63S  6.3x1.81X63
56635 55x1.81x63 754K 63755  6.3x1.81X75
55753 55x1.81x75  TSMK 63805  6.3x1.81X80
754K 63008 6.3x1.81X80

754K B3100S  6.3x1 81X100

TFREXTFERAEARIEL
DIN-7504-N
STAINLESS STEEL SELF DRILLING SCREW, PHILLIPS PAN HEAD

Juieze -

CODE DxPxL ICODE DxPxL| CODE DxPxL !CODE DxPxL |CODE DxPxL

TN 35005 35x1.27x05  TSON 30135 30x134x13 TMN 42135 420141x13  THN 48135 4.Bx150x13 TSN 55108 5.5x181x19
TN 35118 B5x127x11  TS0N 301BS  30x1.3dx16  TMN 42165 42¢141x16  TH0IN 4B18S 48x150x16  TRON 55228 5.5x181x22
TSN 35138 B5x127x13 TSN 39185 3.0x1.3419 TSN 42185 4214119 TS04N 4819 4.Bx159x19 754N 55255  5.5x1.81x25
TSOMN 35165 G5x12Tx16  THMN 38228 30x1.3422 TSN 42228 421.41x22  TS0N 48228 4.Bx159x22  TH04N 55308  5.5¢1.81x32
750N 35198 35x127¢19  THOMN 30255 3.0x1.34x25 BN 42258 42x1.41x25  THOMN 48258 4.8x150x25 750N 55385 5.5%1.81x38
TSN 36228 BEw12Tx22 TSN 30025 3.0x1.34x32 TSN 42328 421.41x32  TSO4N 48328 4.Bx1.59x32  TH04N 55455  5.5x1.81xd5
TSN 36258 B5x1.27x25 TN 30385 3.0x1.34x38 THOMN 42385 42¢1.41x38 750N 48388 4.8x150x38  7T504N 55608 5.5x1.81x60
TSN 35328 3.5x1.27x32 TS0AN 42508 42x1.41x50  TH04N 48458 4.Bx1.50xd5  THOMN BS73S  5.5x1.81x73

T504N 48508 4 8x1.50%50

T504N 48805  4.Bx1.59%60

504N 48735 4.8x1.59x73

Material:
*Stainless steel: SUS410;5U5304




® RN S TAINLESS STEEL SCREWS
ATF

SLSL R A Material:
;}ﬁ_{}-g‘oj-‘%% E ss E BIR 'Statlnless steal.SUS410;5U8304 * ﬁ iﬁ ﬁ ﬁ E %T Material:

“Stainless steal:SUS410;5U5304, 505316
STAINLESS STEEL SELF DRILLING SCREW, COUNTERSUNK PHILLIPS HEAD STAINLESS STELLCHIPBOARD SCREWS

Powinieni=  POZI ® PAN® TRUSS @ TORX®)

CODE DxPxL | CODE DxPxL| CODE DxPxL | CODE DxPxL | CODE DxPxL CODE DxL |CODE D CODE DxL DxL CODE  DxL
T504P 35005  35x1.27x8.5  7OO4P 39135 39x13xf3  T504P 42135 42014113 TH0MP 48135 4.8x1.5913  7504P 55185 5.5¢1.81x18 .
T504P 35118 3.5x%1.27x11 TS04P 3916 39u1.Mx16  T504P 42165  4.2x141x16  T504P 48165  4.8x159%16  7T504P 55255 5.5k1.81x25 CBS300128 3.0x12 CBS350128 3.5x12 CBS400128 4.0x12 CBS450165 4.5x16 CBS50020S 5.0x20 CBS60020S 6.0x20
7504P 35135 35x1.27x13  7H04P 30105 30u1 K10 T504P 42195 42k 4119 TS0MP 28105 4.8x159x19  750MP 55328 5.5x1.81x32 CBS300168 3.0x16 CBS350165 3.5x16 CBS400165 4.0x16 CBS450205 4.5x20 CBS500255 5.0x25 CBS600305S 6.0x30
7504P 35165  35x1.27k16  TEOMP 30205 30x1ak22 THO04P 42205  42x141x22  THO4P 48255  4.8x1.50x25  7504P 55385 5.5x1.81x38 CBS300208 3.0x20 CBS35018S 3.5x18 CBS400205 4.0x20 CBS450255 4.5x25 CBS50030S 5.0x30 CBS60040S 6.0x40
T504P 35185 35x1.27x19  TS04P 30258 30x1 325 THO04P 42255  42x1 4125 TH04P 48328 4.8x1.50x32  7S0MP 55455 5.5¢1.B1xd5 CBS300258 3.0x25 CBS350208 3.5x20 CBS400255 4.0x25 CBS450305 4.5x30 CBS500355 5.0x35 CBS600505 6.0x50
7504P 35298 35x1.27x22 TSP 30308 301230 TS04P 425 42x1d4Nd?  TSOMP 4838S  4.8x1 5938 7504P 55505 5.5x1.81x50 CBS300308 3.0x30 CBS330258 3.5x25 CBS400305 4.0x30 CBS450355 4.5x35 CBS500405 5.0x40 CBS60080S 6.0x60
T504P 35258 3.5x1.97x05 TS04P 39385 30w Mx38 7504P 42385  4.2x141x38  T504P 48455  4.8x1.59%45 CBS300355 3.0x35 CBS35030S 3.5x30 CBS400355 4.0x35 CBS450405 4.5x40 CBS500455 5.0x45 CBS60070S 6.0x70
TH4P 42455 4241 41%d5  7504P 48508  4.8x1.59x50 CB5350355 3.5x35 CBS400405 4.0x40 CBS450455 4.5x45 CBS500505 5.0x50 CBS60080S 6.0x80

CBS350405 3.5x40 CBS400455 4.0x45 CBS450505 4.5x50 CBS500608 5.0x60 CBS600905 6.0x90
CBS350458 3.5x45 CBS400505 4.0x50 CBS450605 4.5x60 CBS500705 5.0x70 CBS60100S 6.0x100
CBS350508 3.5x50 CBS400555 4.0x55 (BS450705 4.5x70 CBS500805 5.0x80 CBS60110S 6.0x110
CBS400605 4.0x60 CBS450805 4.5x80 CBS50090S 5.0x90 CBS60120S8 6.0x120

CBS400705 4.0x70 CBS501008 5.0x100 CBS601308 6.0x130

CBS801405  6.0x140

CBS601505  6.0x150

5 B S (LR ) A5 6 B 5 R AR 4 e st/ SUSH10:SUS04
STAINLESS STEEL SELF DRILLING SCREW, PHILLIPS PAN HEAD WASHER.

.

i
b2
CODE DxPxL )2

- SDPW 42138 4.2x1.41x13 wlkE
@ |§KW SDPW 42165 4.2x1.41x16 £
SDPW 42195 4.2%1.41%19 "},E

— s SDPW 42255 4.2x1.41x25 e

Wu SDPW 42328 4.2x1.41x32 o

SDPW 42385 4.2x1.41x38 %

SDPW 42458 4.2x1.41x45 5

SDPW 42515 4.2x1.41x51 3

+FE kA F(RIE ) R RE W R L
STAINLESS STEEL SELF TAPPING SCREW, PHILLIPS PAN HEAD WASHER.

CODE DxPxL
STPW 42138 4.2x1.41x13
STPW 42168 4.2x1.41x16
STPW 42198 4.2x1.41x19
STPW 42258 4.2x1.41x25
STPW 42328 4.2x1.41x32
STPW 42388 4.2x1.41x38
STPW 42458 4.2x1.41x45
STPW 42515 4.2x1.41x51




AT

www.atfasteners.com

F®

Hexagon head bolts half thread

Ak - oF
DIN931 1S04014 GB5782

DINS31 05025
DIN931 05028
DIN931 05030
DIN931 05035
DING31 05040
DIN931 05045
DIN931 05050

M5x0.8x25
M5x0.8x28
M5x0.8x30
M5x0.8x35
M5x0.8x40
M5x0.8x45
M5x0.8x50

Méx1.0x30
Méx1.0x35
MeEx1.0x40
Méx1.0x45
MEx1.0x50
MBx1.0x55
MeEx1.0x60

DIN931 06030
DING31 06035
DINS31 06040
DINS31 06045
DING31 06050
DIN931 06055
DING31 06060

L

DINS31 08035
DING31 08040
DING31 08045
DING31 08050
DIN931 08055
DINS31 08060
DING31 08065
DINS31 08070
DING31 08075
DINg31 08080

T

M8x1.25x35
M8x1.25x40
M8x1.25x45
M8x1.25x50
M8x1.25x55
M8x1.25x60
M8x1.25%65
M8x1.25x70
M8x1.25x75
M8x1.25x80

DINS31 10040
DIN931 10045
DING31 10050
DING31 10055
DINS31 10060
DIN931 10065
DING31 10070
DINS31 10075
DINS31 10080
DIN931 10085
DIN931 10090
DIN231 10085
DINS31 10100

M10x1.5x40
M10x1.5x45
M10x1.5x50
M10x1.5x55
M10x1.5x60
M10x1.5x65
M10x1.5x70
M10x1.5x75
M10x1.5x80
M10x1.5x85
M10x1.5x90
M10x1.5x95
M10x1.5x100

DINS31 12045
DINS31 12050
DINS31 12055
DIN931 12060
DING31 12065
DING31 12070
DINS31 12075
DINS31 12080
DING31 12085
DIN931 12090
DINS31 12095
DIN931 12100
DINS31 12110
DING31 12120

il
M12x1.75x45
M12x1.75x50
M12x1.75%55
M12x1.75x60
M12x1.75x65
M12x1.75x70
M12x1.75x75
M12x1.75x80
M12x1.75xB5
M12x1.75x90
M12x1.75x95
M12x1.75x100
M12x1.75x110
M12x1.75x120

s
RS

DING31 14050 M14x2.0x50
DING31 14055 M14x2.0x55
DING31 14060 M14x2.0x60
DING31 14065 M14x2.0x65
DING31 14070 M14x2.0x70
DINS31 14075 M14x2.0x75
DING31 14080 M14x2.0x80
DING31 14085 M14x2 0x85
DING31 14090 M14x2.0x90
DING31 14095 M14x2.0x95
DING31 14100 M14x2.0x100
DING31 14110 M14x2.0x110
DINS31 14120 M14x2.0x120
DING31 14130 M14x2.0x130
DING31 14140 M14x2.0x140

DINS31 16055
DINS31 16060
DING31 16065
DIN931 16070
DING31 16075
DING31 16080
DIN931 16085
DING31 16080
DING31 16095
DINg31 16100
DIN931 16110
DING31 16120
DINS31 16130
DING31 16140
DINS31 16150
DING31 16160

M16x2.0x55
M16x2.0x60
M16x2.0x65
M16x2.0x70
M16x2.0x75
M16x2.0x80
M16x2.0x85
M16x2.0x30
M16x2.0x95
M16x2.0x100
M16x2.0x110
M16x2.0x120
M16x2.0x130
M16x2.0x140
M16x2.0x150
M16x2.0x160

DINS31 18060
DING31 18065
DINg31 18070
DIN931 18075
DING31 18080
DINS31 18085
DIN931 18090
DIN931 18085
DING31 18100
DIN931 18110
DIN931 18120
DIN931 18130
DING31 18140
DIN931 18150
DIN931 18160
DINS31 18170
DIN931 18180

M18x2.5x60
M18x2.5x65
M18x2.5x70
M18x2.5x75
M18x2.5x80
M18x2.5x85
M18x2.5x90
M18x2.5x95
M18x2.5x100
M18x2.5x110
M18x2.5x120
M18x2.5x130
M18x2.5x140
M18x2.5x150
M18x2.5x160
M18x2.5x170
M18x2.5x180

s
DIN931 20065
DINS31 20070
DINS31 20075
DIN931 20080
DIN931 20085
DINS31 20090
DINS31 20085
DIN931 20100
DINS31 20110
DING31 20120
DIN931 20130
DING31 20140
DIN931 20150
DINS31 20160
DIN931 20170
DING31 20180
DIN931 20190
DINS31 20200

DxPxL
i

M20x2.5%65
M20x2.5x70
M20x2.5x75
M20x2.5x80
M20x2.5x85
M20x2.5%30
M20x2.5%95
M20x2.5x100
M20x2.5x110
M20x2.5x120
M20x2.5x130
M20x2.5x140
M20x2.5x150
M20x2.5x160
M20x2.5x170
M20x2.5x180
M20x2.5x190
M20x2.5x200

He 3
DING31 22070 M22x2.5x70
DIN931 22075 M22x2.5x75
DING31 22080 M22x2.5x80
DING31 22085 M22x2 5x85
DIN931 22090 M22x2.5x90
DING31 22095 M22x2.5x95
DING31 22100 M22x2.5x100
DING31 22110 M22x2.5x110
DIN931 22120 M22x2.5x120
DINg31 22130 M22x2.5x130
DING31 22140 M22x2.5x140
DING31 22150 M22x2.5x150
DING31 22160 M22x2.5x160
DING31 22170 M22x2.5x170
DIN931 22180 M22x2.5x180
DIN931 22190 M22x2.5x190
DIN931 22200 M22x2.5x200
DING31 22220 M22x2.5x220

=5

DIN931 24075
DINS31 24080
DING31 24085
DIN931 24090
DIN931 24085
DIN931 24100
DING31 24110
DIN931 24120
DING31 24130
DING31 24140
DIN931 24150
DIN931 24160
DIN931 24170
DING31 24180
DING31 24190
DING31 24200
DIN931 24220
DINS31 24240

M24x3.0%75

M24x3.0x80

M24x3.0x85

M24x3.0x30

M24x3.0x95

M24x3.0x100
M24x3.0x110
M24x3.0x120
M24x3.0x130
M24x3.0x140
M24x3.0x150
M24x3.0x160
M24x3.0x170
M24x3.0x180
M24x3.0%190
M24x3.0x200
M24x3.0x220
M24x3.0x240

DIN931 27080
DIN931 27085
DING31 27090
DIN931 27095
DINS31 27100
DIN931 27110
DING31 27120
DIN931 27130
DING31 27140
DING31 27150
DIN931 27160
DINS31 27170
DIN931 27180
DING31 27190
DINS31 27200
DING31 27220
DING31 27240
DIN931 27260

M27x3.0x80

M27x3.0x85

M27x3.0x90

M27x3.0x35

M27x%3.0x100
M27x3.0x110
M27x3.0x120
M27x3.0x130
M27x3.0x140
M27x3.0x150
M27x3.0x160
M27x3.0x170
M27x3.0x180
M27x3.0x190
M27x3.0x200
M27x3.0x220
M27x3.0x240
M27x3.0x260

DING31 30090 M30x3.5x90
DING31 30100 M30x3.5x100
DIN931 30110 M30x3.5x110
DIN931 30120 M30x3.5x120
DIN931 30130 M30x3.5x130
DIN931 30140 M30x3.5x140
DIN931 30150 M30x3.5x150
DING31 30160 M30x3.5x160
DING31 30170 M30x3.5x170
DIN931 30180 M30x3.5x180
DIN931 30190 M30x3.5x190
DING31 30200 M30x3.5x200
DINS31 30220 M30x3.5x220
DING31 30240 M30x3.5x240
DIN931 30260 M30x3.5x260
DIN931 30280 M30x3.5x280
DIN931 30300 M30x3.5x300

DINg31 33100 M33x3.5x100
DIN931 33110 M33x3.5x110
DIN931 33120 M33x3.5x120
DIN931 33130 M33x3.5x130
DIN931 33140 M33x3.5x140
DIN®31 33150 M33x3.5x150
DINS31 33160 M33x3.5x160
DIN931 33170 M33x3.5x170
DIN931 33180 M33x3.5x180
DIN931 33190 M33x3.5x190
DIN931 33200 M33x3.5x200
DIN931 33220 M33x3.5x220
DIN931 33240 M33x3.5x240
DIN931 33260 M33x3.5x260
DIN931 33280 M33x3.5x280
DIN931 33300 M33x3.5x300

DIN931
DIND31
DING31
DINg31
DINg31
DINS31
DING31
DIN931
DIND31
DINg31
DINg31
DING31
DINS31
DING31
DING31

BOLTS

M36x4.0x110
M36x4.0x120
M36x4.0x130
M36x4.0x140
M36x4.0x150
M36x4.0x160
M36x4.0x170
M36x4.0x180
M36x4.0x190
M36x4.0%200
M36x4.0x220
M36x4.0x240
M36x4.0x260
M36x4.0x280
M36x4.0x300

DIN931 42130
DINS31 42140
DINS31 42150
DIN931 42160
DINg31 42170
DIN931 42180
DIN931 42180
DINS31 42200
DINS31 42220
DINg31 42240
DINS31 42260
DINg31 42280
DIN931 42300

M42x4.5%130
M42x4.5x140
M42x4.5x150
M42x4.5x160
M42x4.5x170
M42x4.5x180
M42x4.5%190
M42x4.5x200
M42xd 5x220
M42x4.5x240
M4 2x4.5x260
M42x4.5x280
M42x4.5x300

Hexalobular socket head cap
screws with large driving feature

= A0 FEE (B S R S F FE TSR AT

DIN34802

S At
DIN34802 05030 M5x0.8x30
DIN34802 05035 M5x0.8x35
DIN34802 05040 M5x0.8x40
DIN34802 05045 M5x0.8x45
DIN34802 05050 M5x0. 8x50

s

DIN34B02 08035
DIN34802 06040
DIN34802 08045
DIN34B02 06050
DIN34802 08055
DIN34802 08060

M6x1.0x35
M6x1.0x40
M6&x1.0x45
MEx1.0x50
MEx1.0x55
M6&x1.0x60

DIN34802 08040 M8x1.25x40
DIN34802 08045 M8x1.25x45
DIN34802 08050 M8x1.25x50
DIN34802 08055 Ma8x1.25x55
DIN34802 08060 M8x1.25x60
DIN34802 08065 M8x1.25x65
DIN34802 08070 M8x1.25x70
DIN34802 08080 M8x1.25%80

DIN34802 10045
DIN34802 10050
DIN34802 10055
DIN34802 10060
DIN34802 10085
DIN34802 10070
DIN34802 10080
DIN34802 10080
DIN34802 10100

M10x1.5x45
M10x1.5x50
M10x1.5x55
M10x1.5x60
M10x1.5%65
M10x1.5x70
M10x1.5x80
M10x1.5x80
M10x1.6%100

DIN34802 12055 M12x1.75x55
DIN34802 12060 M12x1.75x60
DIN34802 12065 M12x1.75x65
DIN34802 12070 M12x1.75x70
DIN34802 12080 M12x1.75x80
DIN34802 12090 M12x1.75x90
DIN34802 12100 M12x1.75x100
DIN34802 12110 M12x1.76x110
DIN34802 12120 M12x1.76x120

DIN34802 14060 M14x2 0x60
DIN34802 14065 M14x2.0x65
DIN34B02 14070 M14x2.0x70
DIN34B02 14080 M14x2.0x80
DIN34B802 14090 M14x2.0x80
DIN34802 14100 M14x2.0x100
DIN34B02 14110 M14x2.0x110
DIN34802 14120 M14x2.0x120
DIN34802 14130 M14x2.0x130

DIN34802
DIN34802
DIN34802
DIN34802
DINZ4802
DiN34802
DIN34802
DIN34802
DiN34802
DiNz4802
DIN34802

16065
16070
16080
16090
16100
16110
16120
16130
16140
16150
16160

M16x2.0x65
M16x2.0x70
M16x2.0x80
M16x2.0x80
M16x2.04100
M16x2.0x110
M16x2.0x120
M16x2.0x130
M16x2.04140
M16x2.04150
M16x2.0x160

DIN34802 20080
DIN34802 20080
DIN34B02 20100
DIN34802 20110
DIN34802 20120
DIN34802 20130
DIN34802 20140
DING4802 20150
DIN34802 20160
DINg4802 20180
DIN34802 20200

i

M20x2.5x80
M20x2.5x80
M20x2.5x100
M20x2.5x110
M20x2.5x120
M20x2.5%130
M20x2.5x140
M20x2.6x150
M20x2.5x%160
M20x2.5x180
M20x2.5x200

®




AT F ® www.atfasteners.com B 0 L T S

Hexagon head bolts full thread

AR5
DIN933 1S04017 GB5783

DING33 20016 M20x2.5x16 | DINO33 22016 M22x2.5x16  DIN933 24016 M24x3.0x16 | DIN933 27022 M27x3.0x22
DING33 20018 M20x2.5x18 | DIN933 22018 M22x2.5x18  DIN933 24018 M24x3.0x18 | DIN933 27025 M27x3.0x25
DING33 20020 M20x2.5x20 | DIN933 22020 M22x2.5x20  DIN933 24020 M24x3.0x20 | DIN93327028 M27x3.0x28
DING33 20022 M20x2.5x22 = DIN933 22022 M22x2.5x22 | DIN933 24022 M24x3.0x22 | DIN93327030 M27x3.0x30
DING33 20025 M20x2.5x25 DIN933 22025 M22x2.5%25 DIN933 24025 M24x3.0x25 | DIN93327035 M27x3.0x35

2 ! . DINS33 20028 M20x2.5x28  DIN933 22028 M22x2,5x28  DIN933 24028 M24x3.0x28 | DIN933 27040 M27x3.0x40
DING33 05006 M5x08x6  DINS33 06006 M6x1.0x6 ~ DIN933 08008 MBx1.25x8 | DIN933 10008 M10x1.5x8 DIN933 20030 M20x2.5%30 | DIN933 22030 M22x2.5x30  DIN933 24030 M24x3.0x30 | DIN933 27045 M27x3.0x45

DxPxL
M

DIN933 05007 M5x0.8x7 | DIN933 06007 M6x1.0x7 | DING33 08010 Mex1.25x10 | DINO33 10010 M10x1.5x10 DINS33 20035 M20x2.5x35 DIN933 22035 M22x2.5x35 = DIN933 24035 M24x3.0x35 | DIN933 27050 M27x3.0x50
Dintaes-DRGDS, MED.Dil [ EaNCossdin0ns, Mbel ooy | DINDSa aidE-Mext.cols, | DINGas: 10012 MuDMIool2 DING33 20040 M20x2.5%x40 | DIN933 22040 M22x2.5x40 | DIN933 24040 M24x3.0x40 | DIN93327055 M27x3.0x55

DINS33 05010 M5x0.8x10 DINS33 06010 M6x1.0x10 DIN933 08014 MBx1.25x14 | DINS33 10014 M10x1.5x14
DINS33 20045 M20x2.5x45 | DING33 22045 M22x2.5x45 | DIN933 24045 M24x3.0x45 | DIN93327060 M27x3.0x60

DIN933 05012 M5x0.8x12  DIN933 06012 M6Ex1.0x12  DIN933 08016 MB8x1.25x16 | DINS33 10016 M10x1.5x16
DIN933 05014 M5x0.8x14 DINS33 06014 M6x1.0x14 DINI33 08018 MBx1.25x18 | DINS33 10018 M10x1.5x18 DING33 20050 M20x2.5x50 | DIN933 22050 M22x2.5x50 DIN933 24050 M24x3.0x50 DING33 27065 M27x3.0%65
DING33 050168 M5x0.8x16 DING33 06016 MBx1.0x16 DIN933 0B020 MBx1.25%20 DING33 10020 M10x1.5%20 DINS33 20055 M20x2.5%55 DIN933 22055 M22x2.5x55 DIN933 24055 M24x3.0x55 DIN933 27070 M27x3.0x70
DING33 05018 M5x0.8x18 DINS3Z 06018 MBx1.0x18  DINI33 0B022 MBxi.25x22 | DIN933 10022 M10x1.5x22 DIN933 20080 M20x2.5x60 | DIN933 22060 M22x2.5x60 DIN933 24060 M24x3.0x60 | DIN933 27075 M27x3.0x75
DIN933 05020 M5x0.8x20 = DINS33 06020 M6x1.0x20 DING33 08025 MBx1.25x25 | DINS33 10025 M10x1.5x25 DING33 20065 M20x2.5x65  DIN933 22065 M22x2.5x65  DIN933 24065 M24x3.0x65 | DIN93327080 M27x3.0x80
DING33 05022 M5x0.8x22  DINS33 06022 M6x1.0x22 DIN933 08028 MBx1.25x28 | DIN933 10028 M10x1.5x28 DING33 20070 M20x2.5x70 | DIN933 22070 M22x2.5x70  DIN933 24070 M24x3.0x70 | DIN933 27085 M27x3.0x85
DIN933 05025 M5x0.8x25 = DINS33 06025 MGx1.0x25 DIN933 08030 MBx1.25x30 | DIN933 10030 M10x1.5x30 DING33 20075 M20x2.5x75 | DINO33 22075 M22x2.5x75  DIN933 24075 M24x2.0x75 | DIN93327090 M27x3.0x90
8::32; ggggg ﬂgxggxgg B::ggg ggggg mgxlgxgg E}:ggg gggzg mgngglig gmggg 13823 m:}gx: gxig DING33 20080 M20x2.5x80 | DIN933 22080 M22x2.5x80 DIN933 24080 M24x3.0x80 DING33 27095 M27x3.0x95
X0.Bx X1.0% x1.25K x1.5x% DIN933 20085 M20x2.5%85 | DIN933 22085 M22x2.5%x85 DIN933 24085 M24x3.0x85 DIN933 27100 M27x3.0x100
DIN933 05035 M5x0.8x35 = DINS33 06035 MBx1.0x35 DIN933 08045 M8x1.25x45 | DIN933 10045 M10x1.5x45 DING33 20090 M20x2.5x90  DING33 22090 M22x2.5x90 | DING33 24080 M24x3.0x90 | DIN93327110 M27x3.0x110

DINS33 05040 M5x0.8x40  DINS33 06040 M6x1.0x40 DINS33 0B050 MBx1.25x50 | DINS33 10050 M10x1.5x50

DING33 20005 M20x2.5x95 | DING33 22005 M22x2.5x95 @ DIN933 24005 M24x3.0x95 | DIN93327120 M27x3.0x120
pitigas Goods Mo Sub) [ RINasg.on0ds Mozl D | DINGSS. DR Moxiaown | DiNgds 10000 Micdl ol DIN933 20100 M20x2.5x100 | DIN933 22100 M22x2.5x100 DING33 24100 M24x3.0x100 | DIN933 27130 M27x3.0x130
DING33 05055 M5x0.8x55 DING32 06055 MBx1.0x55 DINO33 08065 MBEx1.25x65 | DINS33 10065 M10x1.5x65 DING33 20110 M20x2.5x110  DIN933 22110 M22x2.5x110 DINS33 24110 M24x3.0x110 | DIN933 27140 M27x3.0x140
DIN933 05060 M5x0.8x60 =~ DINS33 06060 M6x1.0x60 DING33 08070 M8x1.25x70 | DIN933 10070 M10x1.5x70 DINS33 20120 M20x2.5x120 DING33 22120 M22x2.5x120 DING33 24120 M24x3.0x120 | DINS33 27150 M27x3.0x150
DIN933 05065 M5x0.8x65 ~DINS33 06065 M6x1.0x65 DIN933 08075 MBx1.25x75 | DIN933 10075 M10x1,5x75 DING33 20130 M20x2.5x130 DIN933 22130 M22x2.5x130 DIN933 24130 M24x3.0x130 | DIN933 27160 M27x3.0x160
DIN933 05070 M5x0.8x70 DIN933 06070 MEx1.0x70 DINI33 08080 MBx1.25x80 DINS33 10080 M10x1.5x80 DIN933 20140 M20x2.5x140 DIN933 22140 M22x2.5x140 DINS33 24140 M24x3.0x140 | DINS33 27170 M27x3.0x170
DING33 05075 MS5x0.8x75 = DING33 06075 M6x1.0x75 DING33 0B085 MBx1.25x85 | DIN933 10085 M10x1.5x85 DING33 20150 M20x2.5x150 DINS33 22150 M22x2.5x150 DINS33 24150 M24x3.0x150 | DIN933 27180 M27x3.0x180
DIN933 05080 M5x0.8x80 | DIN933 06080 M6x1.0x80 | DING33 08050 MEx1.25x90 | DIN933 10090 M10x1.5x90 DIN933 20160 M20x2.5x160 DIN933 22160 M22x2,5x160 DIN933 24160 M24x3.0x160 | DIN933 27190 M27x3.0x190

DIN933 08095 M8x1.25x85 | DING3S 10095 M10x1.5x85 DING33 20170 M20x2,5x170 DIN933 22170 M22x2.5x170 DIN933 24170 M24x3.0x170 | DIN933 27200 M27x3.0x200

DING33 08100 MBx1.25x100| DINS33 10100 WM10x1.5x100
DIN933 08110 MB8x1.25x110| DIN933 10110 M10x1.5x110
DIN933 10120 M10x1.5x120

DING33 20180 M20x2.5x180  DINS33 22180 M22x2.5x180 DIN933 24180 M24x3.0x180
DING33 20180 M20x2.5x190 | DINS33 22190 M22x2.5x190 DIN933 24190 M24x3.0x190
DING33 20200 M20x2.5x200 DIN933 22200 M22x2.5x200 DINS33 24200 M24x3.0x200

g5

"S Ata 55 z & S ]
DIN933 12010 M12x1.75x10 | DIN933 14010 M14x2.0x10 | DIN933 16012 M16x2.0x12 DIN933 18016 M18x2.5x16
DINS33 12012 M12x1.75x12 | DIN933 14012 M14x2.0x12 | DIN333 16014 M16x2.0x14 DIN933 18018 M18x2.5x18

Code DxPxL

DINS33 12014 M12x1.75x14 | DIN933 14014 M14x2.0x14 = DIN933 16016 M16x2.0x16 | DIN933 18020 M18x2.5x20 = 4 #e i 545
DING33 12016 M12x1.75x16 | DINS33 14016 M14x2.0x16 DINS33 16018 M16x2.0x18 DING33 18022 Mi18x2.5x22

DIN933 12018 M12x1.75x18 | DING33 14018 M14x2.0x18  DIN933 16020 M{6x2.0x20 | DIN933 18025 M18x2.5x25 DING23 30035 M3bea,Sxas | RING2G 53035 Midid.aess | DINGAY 36036/ M3k xas. | DINGSS 42040 Macxd.5u0
DIN933 12020 M12x1.75x20 | DIN933 14020 M14x2.0x20 = DIN933 16022 M16x2.0x22 | DIN933 18028 M18x2.5x28 DIN933 30040 M30x3.5x40 = DINI33 33040 M33x3.5%40 | DIN933 36040 M36x4.0x40 | DINO33 42045 M42x4.5x45
DIN933 12022 M12x1.75x22 | DIN933 14022 M14x2.0x22 | DIN933 16025 M16x2.0x25 | DIN933 18030 M18x2.5x30 DIN933 30045 M30x3.5x45  DIN933 33045 M33x3.5x45  DIN933 36045 M36x4.0x45 | DIN933 42050 Md42x4.5x50
DIN933 12025 M12x1.75x25 | DIN933 14025 M14x2.0x25 = DINI33 16028 M16x2.0x28 | DIN933 18035 M18x2.5x35 DIN933 30050 M30x3.5x50  DING33 33050 M33x3.5%50 DIN933 36050 M36x4.0x50  DINS33 42055 M42x4.5x55
DIN933 12028 M12x1.75x28 | DING33 14028 M14x2.0x2B  DIN933 15030 M16x2.0x30 | DIN933 18040  M18x2.5x40 DIN933 30055 M30x3.5x55 = DIN@33 33055 M33x3.5x55  DING33 36055 M36x4.0x55 | DING33 42060 M42x4.5x50
DINS33 12030 M12x1.75x30 | DINS33 14030 M14x2.0x30 = DINS833 16035 M16x2.0x35 DIN933 18045 M18x2.5x45 DIN933 30060 M30x3.5%60 DIN933 33060 M33x3.5%60 DIN933 36060 M36x4.0x60 | DIN933 42065 M42x4.5%65
DIN933 12035 M12x1.75x35 | DIN933 14035 M14x2,0x35 = DIN9S33 16040 M16x2.0x40 | DIN933 18050 M18x2.5x50 DIN933 30065 M30x3.5x65 = DINS33 33065 M33x3.5x65 DIN933 36065 M36x4.0x65 | DING33 42070 M42x4 5x70
DINS33 12040 M12x1.75x40 | DIN933 14040 M14x2.0x40 = DIN933 16045 M16x2.0x45 | DIN933 18055 M18x2.5x55 DING33 30070 M30x3.5x70 | DING33 33070 M33x3.5¢70  DING33 36070 M26x4.0x70 | DIN933 42075 M42x4 5x75

DINS33 12045 M12x1.75x45 | DIN933 14045 M14x2.0x45 DIN933 16050 M16x2.0x50 DIN933 18060 M18x2.5x60
DING33 12060 M12x%1.75x60 | DIN933 14060 M14x2,0x50 = DIND33 160556 M16x%2.0x65 DIND33 18065 M18x2.5x65
DIN933 12055 M12x1.75x55 | DIN933 14055 M14x2.0x55 =~ DIN933 16060 M16x2.0x60 DIN933 18070 M18x2.5x70

DINS33 30075 M30x3.5x75 DIN933 33075 M33x3.5x75 DIN933 36075 M36x4.0x75 | DIN9S33 42080 M42x4 5x80
DINS33 30080 M30x3.5x80 DING33 33080 M33x3.5x80 DIN933 36080 M36x4.0x80 DIND33 42085 M42x4.5x85

DIN933 12060 M12x1.75x60 | DIN933 14060 M14x2.0x60 ~ DING33 16065 M16x2.0x65 | DING33 18075 M18x2.5x75 DIN933 30085 M30x3.5465 | DINSA3 33085 MomA5kB5 | DINSI3 36085 M36x4.0xp5 | DINGB3 42080; Ma2x4.5390
DINS33 12065 M12x1.75x65 | DING33 14065 M14x2.0x65 = DIN933 16070 M16x2.0x70 | DIN933 18080 M18x2 5x80 DIN933 30090 M30x3.5x90 = DIN933 33090 M33x3.5:90 DIN933 36090 M36x4.0x90 | DING33 42095 M42x4.5x95
DINS33 12070 M12x1.75x70 | DINS33 14070 M14x2.0x70 DINS33 16075 M16x2.0x75 DIN933 18085 M18x2.5xB5 DIN933 30095 M30x3.5%95 DIN933 33095 M33x3.5%95 DIN933 36095 M36x4.0x95 DIN933 42100 M42x4.5x100
DIN933 12075 M12x1.75x75 | DIN933 14075 M14x2.0x75 = DIN933 16080 M16x2.0x80 | DINO33 18090 M18x2.5x90 DIN933 30100 M30x3.5x100 | DIN933 33100 M33x3.5x100 DIN933 36100 M36x4.0x100 | DIN933 42120 M42x4.5x120
DINS33 12080 M12x1.75%80 | DIN933 14080 M14x2.0x80 = DIN933 16085 M16x2.0%85 DINO33 18095 M18x2.5x85 DIN933 30110 M30x3.5x110  DIN933 33110 M33x3.5x110 | DIN933 36110 M36x4.0x110 | DIN933 42130 M42x4.5x130
DING33 12085 M12x1.75x85 | DIN933 14085 M14x2.0x85 = DIN933 16090 M16x2.0x90 DING33 18100 M18x2.5x100 DIN933 30120 M30x3.5x120  DIN933 33120 M33x3.5x120  DING33 36120 M36x4.0x120 DIN933 42140 Md42x4.5x140
DIN933 12090 M12x1.75x90 | DIN933 14090 M14x2.0x30 | DIN933 16095 M16x2.0x95 | DIN93318110 MI18x2.5x110 DIM933 30130 M30x3.5%130  DIN933 33130 M33x3.5x130 | DIN933 36130 M36x4.0x130  DIN933 42150 M42x4.5%150
giNass 1209 Migxd, raxes. | DINGIS 1409 M14KE.0x8a. | DINGASTEI00 M16x2.00100: | DINSA3 18120 M18xe Sx120 DIN933 30140 M30x3.5x140 | DING33 33140 M33x3.5x140 DIN933 36140 M36x4.0x140  DIN933 42160 M42x4.5x160

DINS33 12100 M12x1.75x100| DIN9G33 14100 M14x2.0x100 DIN333 16110 M16x2.0x110 | DIN933 18130 M18x2.5x130

DIN933 12110 M12x1.75x110| DIN933 14110 M14x2.0x110  DING33 16120 M16x2.0x120 | DIN933 18140 M18x2.5x140 DINOAS 30160 M3oka.Bx{60, | DINBAS:SE160 Mais brlol | DINBAS 26150 M3Gxd Ox16D | DINGSS 42170 MdZxd.5ari?g

DIN933 30160 M30x3.5x160  DIN933 33160 M33x3.5x160 DING33 36160 M36x4.0x160 DIN933 42180 M42x4.5x180
DIN933 12120 M12x1.75x120| DIN933 14120 M14x2.0x120 DIN933 16130 M16x2.0x130 | DIN933 18150 M18x2.5x150
DIN933 12130 M12x1.75x130| DIN933 14130 M14x2,0x130 DIN933 16140 M16%2.0x140 | DIN933 18160 M18x2.5x160 DIN933 30170 M30x3.5x170 | DIN933 33170 M33x3.5x170 DIN933 36170 M36x4.0x170 | DIN933 42190 M42x4.5x190
DIN933 12140 M12x1.75x140| DIN933 14140 M14x2.0x140 DIN933 16150 M16x2.0x150 | DIN933 18170 M18x2.5x170 DIN933 30180 M30x3.5x180 = DIN933 33180 M33x3.5x180 DINS33 36180 M36x4.0x1B0 | DINS33 42200 M42x4.5x200
DIN933 12150 M12x1.75x150| DIN933 14150 M14x2.0x150 DIN933 18180  M18x2.5x180 DIN933 30190 M30x3.5x190  DIN933 33190 M33x3.5x130 DIN933 36190 M36x4.0x190
DIN933 18190 M18x2.5x190 DIN933 30200 M30x3.5x200  DIN33 33200 M33x3.5%200 DIN933 36200 M36x4.0x200

DINS33 18200 M18x2.5x200

® ®




www.atfasteners.com

ATF

Hexagon socket head cap screws

P 75 f Bl Sk 9B 4T

DIN912 1S04762 GB70.1-85

DINg12 05008
DINS12 05010
DINg12 05012
DINS12 05016
DINg12 05020
DINS12 05025
DINS12 05030
DINS12 05035
DINS12 05040
DIN912 05045
DIN912 05050

M5x0.8x8

M5x0.8x10
M5x0.8x12
M5x0.8x16
M5x0.8x20
M5x0.8x25
M5x0. 8x30
M5x0.8x35
M5x0.8x40
M5x0.8x45
M5x0.8x50

DINS12 06010
DINS12 06012
DINS12 06016
DINg12 06020
DINg12 06025
DINS12 06030
DINS12 06035
DINS12 06040
DING12 06045
DINg12 06050
DINS12 06055
DING12 06060

MBx1.0x10
MBEx1.0x12
M6Ex1.0x16
M6x1.0x20
MBx1.0x25
MBx1.0x30
M&x1.0x35
M6x1.0x40
M6x1.0x45
M6x1.0x50
MBx1.0x55
M6Ex1.0x60

DINg12 08012
DIN912 08016
DINS12 08020
DINg12 08025
DIN912 08030
DINS12 08035
DINS12 08040
DING12 08045
DINg12 08050
DIN912 08055
DINg12 08060
DIN912 08065
DIN912 08070
DINg12 08080

M8x1.25x12
M8x1.25x16
M8x1.25x20
M8x1.25x25
M8x1.25x30
Max1.25x35
M8x1. 25x40
M8x1.25x45
M8x1.25x50
M&x1.25x55
MEx1.25x60
MEx1.26x65
M8x1.25%70
M8x1.25x80

Code

#8

DINS12 10016
DINS12 10020
DINS12 10025
DINg12 10030
DINg12 10035
DINS12 10040
DINS12 10045
DINS12 10050
DINg12 10055
DINg12 10060
DINS12 10065
DINg12 10070
DIN912 10080
DINg12 10090
DINg12 10100

M10x1.5x16
M10x1.5x20
M10x1.5x25
M10x1.5x30
M10x1.5x35
M10x1.5x40
M10x1 5x45
M10x1.5x50
M10x1.5x55
M10x1.5x60
M10x1.5x65
M10x%1.5%70
M10x1.5x80
M10x1.5x90
M10x1.5x100

BOLTS

Hexagon head bolts with fine pitch thread(Half thread)

RSk 5F i - OF
DIN960 1S08765 GB5485

DING60 08045P1 MBx1.0x45
DINS60O 08050P1 MBx1.0x50
DINg60 08055P1 MBx1.0x55
DIN9BO 08060P1 M8x1.0x60
DING60 0B0B5P1 M8x1.0x865
DINSB0 08070P1 MBx1.0x70
DING6O 08080P1 MBx1.0x80

DIN960 10045P 1 M10x1.0x45
DINS60 10050P 1 M10x1.0x50
DIN9G0 10055P1 M10x1.0x55
DINS60 10060P 1 M10x1.0x60
DINS60 10065P 1 M10x1.0x65
DIN960 10070P1 M10x1.0x70
DIN9G0 10080P 1 M10x1.0x80
DINS60 10080P 1 M10x1.0x90
DINS60 10100P1 M10x1.0x100

ﬂ.\\l‘.‘ﬂ\\l‘"ﬂH\’@'ﬂ\\’l‘ﬂ\\l‘fﬂi\

DIN960 10045P125 M10x1.25x45
DIN960 10050P125 M10x1.25k50
DIN9G0 10055P125 M10x1.25x55
DINE0 10060P125 M10x1.25x60
DINSE0 10065P125 M10x1.25%65
DINS60 10070P125 M10x1.25x70
DIN9E0 10080P125 M10x1.25x80
DIN960 10090P125 M10x1.25x90
DIN9G0 10100P125 M10x1.25x100

DIN96D 12050P125
DIN960 12055P125
DIN960 12060P125
DIN960 12065P125
DIN9GD 12070P125
DING60 12080P125
DIN96D 12080P125
DIN960 12100P125
DIN9G0 12110P125
DIN960 12120P125

M12x1.25x50
M12x1.25x55
M12x1.25x60
M12x1.25x65
M12x1.25x70
M12x1.25x80
M12x1.25%90
M12x1.25x100
M12x1.25x110
M12x1.25x120

Code

DIN912 12020 M12x1.75x20
DING12 12025 M12x1.75x25
DING12 12030 M12x1.75x30
DING12 120356 M12x1.75x35
DING12 12040 M12x1.75x40
DING12 12045 M12x1.75x45
DINS12 12050 M12x1.75x50
DINS12 12055 M12x1.75x55
DIN912 12060 M12x1.75x60
DIN912 12065 M12x1.75x65
DING12 12070 M12x1.75x70
DING12 12080 M12x1.75x80
DINS12 12090 M12x1.75x90
DINg12 12100 M12x1.75x100|
DINg12 12110 M12x1.75x110
DIN912 12120 M12x1,75x120

DINS12 14025 M14x2.0x25
DING12 14030 M14x2.0x30
DING12 14035 M14x%2.0x35
DING12 14040 M14x2.0x40
DINS12 14045 M14x2.0x45
DING12 14050 M14x2.0x50
DINS12 14055 M14x2.0x55
DINS12 14060 M14x2.0x60
DINS12 14065 M14x2.0x65
DINS12 14070 M14x2.0x70
DING12 14080 M14x2 0x80
DING12 14090 M14x2.0x80 |
DING12 14100 M14x2.0x100|
DINg12 14110 M14x2.0x110|
DING12 14120 M14x2.0x120|
DINS12 14130 M14x2.0x130|
DINS12 14140 M14x%2.0x140

DIN912 16025
DIN912 16030
DIN912 16035
DING12 16040
DING12 16045
DINg12 16050
DIN912 16055
DIN912 16060
DIN912 16065
DINS12 16070
DIN912 16080
DIN912 16090
DIN912 16100
DIN912 16110
DIN91216120
DIN9®12 16130
DING12 16140
DIN912 16150
DIN912 16160

M16x2.0x25
M16x2.0x30
M16x2.0x35
M16x2.0x40
M16x2.0x45
M16x2.0x50
M16x2.0x55
M16x2.0x60
M16x2.0x65
M16x2.0x70
M16x2.0x80
M16x2.0x90
M16x2.0x100
M16x2.0x110
M16x2.0x120
M16x2.0x130
M16x2.0x140
M16x2.0x150
M16x2.0x160

Code

DINg12 18030
DINg12 18035
DING12 18040
DING12 18045
DINg12 18050
DINS12 18055
DINS12 18060
DING12 1B065
DINg12 18070
DINg12 1BOBO
DINS12 18080
DINS12 18100
DINg12 18110
DINg12 18120
DINS12 18130
DINS12 18140
DING12 1B150
DINg12 18160
DINg12 18180

M18x2.5x30
M18x2.5x35
M18x2.5x40
M18x2.5x45
M18x2.5x50
M18x2.5x55
M18x2.5x60
M18x2.5x65
M18x2.5x70
M18x2.5x80
M18x2 5x90
M18x2.5x100
M18x2.5x110
M18x2.5x120
M18x2.5x130
M18x2.6x140
M18x2,5x150
M18x2.5x160
M18x2.5x180

DIN960 12050P15 M12x1.5x50
DIN960 12056P15 M12x1.5x85
DIN9B0 12060P15 M12x1.5x60
DINGE0 12065P15 M12x1.5x65
DINGBO 12070P15 M12x1.5x70
DIN960 12080P15 M12x1.5x80
DINGE0 12090P15 M12x1.5x90
DING6O0 12100P15 M12x1.5x100
DINGB0 12110P15 Mi2x1.5x110
DINS6O0 12120P15 M12x1.5x120

DIN9B0 14060P15 M14x1.5x60
DIN9G0 14065P15 M14x1.5x65
DINSB0 14070P15 M14x1.5x70
DING&0 14080P15 M14x1.5x80
DINGB0 14090P15 M14x1.5x90
DING60 14100P15 M14x1.5x100
DINGB0 14110P15 M14x1.5x110
DINS60 14120P15 M14x1.5x120
DIN9G0 14130P15 M14x1.5x130
DINS60 14140P15 M14x1.5x140

DxPxL
HE A

DIN960 16065P15 M16x1.5x65
DIN60 16070P15 M16x1.5x70
DINS60 160B0P15 M16x1.5x80
DIN960 16090P15 M16x1.5x90
DIN960 168100P15 M16x1.5x100
DINSG0 16110P15 M16x1.5x110
DING60 16120P15 M16x1.5x120
DIN60 16130P15 M16x1.5x130
DIN960 16140P15 M16x1.5%140
DINS60 16150P15 M16x1.5x150
DING60 16160P15 M16x1.5x160

Code
=

| DINSBO 18070P15 M18x1.5x70

DIN9G0 18080P15 M18x1.5x80
DIN9G0 18090P15 M18x1.5%90
DIN9G0 18100P15 M18x1.5x100
DIN9G0 18110P15 M18x1.5x110
DIN960 18120P15 M18x1.5x120
DIN9G0 18130P15 M18x1.5x130
DINSED 18140P15 M18x1.5x140
DIN960 18150P15 M18x1.5x150
DINS60 18160P15 M18x1.5x160
DIN960 18180P15 M18x1.5x180

DINS12 20030 M20x2.5x30
DIN912 20035 M20x2.5x35
DIN912 20040 M20x2.5x40
DING12 20045 M20x2.5x45
DING12 20050 M20x2.5x50
DIN912 20055 M20x2.5x55
DIN912 20060 M20x2.5x60
DIN912 20065 M20x2.5x65
DINg12 20070 M20x2.5x70
DING12 20080 M20x2.5x80
DIN912 20090 M20x2.5x90
DIN912 20100 M20x2.5x100
DIN912 20110 M20x2.5x110
DINS12 20120 M20x2.5x120
DIN912 20130 M20x2.5x130
DIN912 20140 M20x2.5x140
DIN912 20150 M20x2.5x150
DING12 20160 M20x2.5x160
DINO12 20180 M20x2.5x180
DIN912 20200 M20x2.5x200

DING12 24040
DINg12 24045
DiNg12 24050
DINg12 24055
DINg12 24080
DINg12 24085
DINg12 24070
DiNg12 24080
DINg12 24080
DINg12 24100
DINg12 24110
DiNg12 24120
DING12 24130
DING12 24140
DINg12 24150
DINg12 24160
DINg12 24180
DINg12 24200
DINg12 24220
DINg12 24240

M24x3.0x40
M24x3.0x45
M24x3.0x50
M24x3.0x55
M24x3.0x60
M24x3.0x65
M24x3.0x70
M24x3.0x80
M24x3.0x80
M24x3.0x100
M24x3.0x110
M24x3.0x120
M24x3.0x130
M24x3.0x140
M24x3.0x150
M24x3.0x160
M24x3.0x180
M24x3 0x200
M24x3.0x220
M24x3.0x240

DING12 30045
DING12 30050
DING12 30055
DiNg12 30080
DiN912 30065
DING12 30070
DING12 30080
DINg12 30090
DiNg12 30100
DiNg12 30110
DiNg12 30120
DiNg12 30130
DING12 30140
DING12 30150
DING12 30160
DING12 30180
DIN912 30200
DINg12 30220
DING12 30240
DING12 30260
DiNg12 30280
DiNg12 30300

M30x3.5x45
M30x3.5x50
M30x3.5x55
M30x3.5x60
M30x3.5x85
M30x3.5x70
M30x3.5x80
M30x3.5x90
M30x3.5x100
M30x3.5x110
M30x3.5x120
M30x3.5x130
M30x3.5x140
M30x3.5x150
M30x3.5x160
M30x3.5x180
M30x3.5x200
M30x3 5x220
M30x3.5x240
M30x3.5x260
M30x3.5x280
M30x3.5x300

DINg12 36055
DING12 36060
DING12 36065
DINg12 38070
DINg12 36080
DING12 36090
DING12 36100
DINg12 36110
DINg12 36120
DING12 36130
DING12 36140
DINg12 36150
DING12 36180
DING12 36180
DING12 36200
DINg12 36220
DINg12 36240
DINg12 36260
DING12 36280
DING12 36300

M36x4. 0x55
M36x4.0x60
M36x4.0x65
M36x4.0x70
M3 OxBO
M36x4.0x90
M36x4.0x100
M36x4.0x110
M36x4.0x120
M36x4.0x130
M36x4.0x140
M36x4.0x150
13614 0x160
M36x4.0x1B0
M3Bx4.0x200
M36x4.0x220
M36x4.0x240
M36x4 0x260
M36x4.0x280
M36xd.0x300

DIN9E0 20080P15 M20x1.5x80
DINS60 20090P15 M20x1.5x80
DIN960 20100P15 M20x1.5x100
DIN960 20110P15 M20x1.5x110
DING60 20120P15 M20x1.5x120
DIN9E0 20130P15 M20x1.5x130
DIN9B0 20140P15 M20x1.5x140
DIN960 20150P15 M20x1.5x150
DIN960 20160P15 M20x1.5x160
DIN9E0 20180P15 M20x1.5x180
DINS60 20200P15 M20x1.5x200

DIN9E0 24100P2 M24x2.0x100 |

DIN960 24110P2 M24x2.0x110
DIN960 24120P2 M24x2.0x120
DING60 24130P2 M24x2 0x130
DING60 24140P2 M24x2,0x140
DINSB0 24160P2 M24x2.0x160
DIN960 24180P2 M24x2.0x180
DIN960 24200P2 M24x2.0x200
DIN960 24220P2 M24x2.0x220
DIN960 24240P2 M24x2.0x240

%S [

DIN960 30130P2 M30x2.0x130
DINGE0 30140P2 M30x2.0x140
DINS60 30160P2 M30x2,0x160
DING60 30180P2 M30x2,0x180
DINSB0 30200P2 M30x2.0x200
DIN9B0 30220P2 M30x2.0x220
DIN9G0 30240P2 M30x2.0x240
DING60 30260P2 M30x2.0x260
DINSE0 30280P2 M30x2.0x280
DINS60 30300P2 M30x2 0x300

DING60 30120P2 M30x2 0x120 |

DIN9E0 36140P3 M36x3.0x140
DINS60 36160P3 M36x3.0x160
DIN9E0 36180P3 M36x3.0x180
DINSG0 36200P3 M36x3.0x200
DIN960 36220P3 M36x3.0x220
DIN9G0 36240P3 M36x3.0x240
DIN9G0 36260P3 M36x3.0x260
DIN9E0 36280P3 M36x3.0x280
DIN9G0 36300P3 M36x3.0x300
DIN9E0 36320P3 M36x3.0x320
DIN960 36340P3 M36x3.0x340
DINS60 36360P3 M36x3.0x360

®




www.atfasteners.com

ATF

Hexagon head bolts with metric fine pitch thread(Full thread)

RALATFRE-25F
DIN961 1SO8676 GB5786

1}

DINGB110020 P125 M10x1.25x20
DINGB110025 P125 M10x1.25x25
DINGB110030 P125 M10x1.25%30
DINGB110035 P125 M10x1.25%35
DINGB110040 P125 M10x1.25x40
DINGB110045 P125 M10x1.25x45
DING61 10050 P125 M10x1.25x50
DING6110055 P125 M10x1.25x55
DING6110060 P125 M10x1,25460
DING61 10065 P125 M10x1.25%65
DINGB110070 P125 M10x1.25x70

DINGGT 12025 P125 M12x1.25x25
DINGGT 12030 P125 M12x1.25x30
DINGGT 12035 P125 M12x1.25%35
DINS61 12040P125 M12x1.25x40
DINGET 12045P125 M12x1.25x45
DINGG1 12050 P125 M12x1.25x50
DIN9G1 12055 P125 M12x1.25x55
DIN9G1 12060 P125 M12x1.25x60
DINGGT 12065 P125 M12x1.25x65
DINgGT 12070P125 M12x1.25%70
DiNg61 12080 P125 M12x1.25x80
DINGB110080 P125 M10x1.254B0 | DINOGT 12090125 M12x1.25x90
DINGB110080 P125 M10x1.25x80 | DIN9GT 12100P125 M12x1.26x100
DINGB110100 P125 M10%1.25%100| DINSGT 12110P125 M12x1.25%110
DINg6T 12120P125 M12x1.25%120

DINGB1 10020 P1 M10x1.0x20
DINGBT 10025 P1 M10x1.0x25
DINS61 10030 P1 M10x1.0x30
DIN9B1 10035 P1 M10x1.0x35
DINGB1 10040 F1 M10x1.0x40
DIN9BT 10045 P1 M10x1.0x45
DIN9B1 10050 P1 M10x1.0x50
DINg61 10055 P1 M10x1.0x55
DIN9B1 10060 P1 M10x1.0x60
DING61 10065 P1 M10x1.0%65
DING61 10070 P1 M10x1.0x70
DIN9G1 10080 P1 M10x1.0x80
DINGB1 10090 P1 M10x1.0x90
DIN9B1 10100 P1 M10x1.0%100

DINGG1 0B016 P1 M8x1.0x16
DINGG1 DBO20 P1 M8x1.0x20
DINDE1 08025 P1 M8x1.0x25
DINGB1 08030 P1 M8x1.0x30
DINGB1 08035 P1 MB8x1.0x35
DIN9G1 DB040 P1 MBx1.0x40
DINGG1 DB045 P1 M8x1.0x45
DINGG1 DBOS0 P1 M8x1.0x50
DINGE1 08055 P1 M8x1.0x55
DIN961 DBOGO P1 M8x1.0x60
DING61 DBOGS P1 M8x1.0x65
DINGG1 08070 P1 M8x1.0x70
DINGGT DBOBO P1 M8x1.0x80

Code

o <

DING61 12025 P16 M12x1.5x25 | DING61 14030 P15 M14x1.5x30 | DIN9G1 16035 P15 M16x1.5x35 | DIN9G1 18035P15  M1Bx1.5x35
DING&1 12030 P15 M12x1.5%30 | DING61 14036 F15 M14x1.5x35 | DIN9G1 16040 P15 M16x1.5x40 | DIN9E1 18040P15  M18x1.5x40
DINGE1 12035 P15 M12x1.5x35 | DINGE114040P15 M14x1.5%40 | DING61 16045 P15 M16x1.5x45 | DIN9G1 18045P15  M18x1.5x45
DINGG1 12040 P15 M12x1.5x40 | DINGE1 14045P15 M14x1.5x45 | DING61 16050 P15 M16x1.5x50 | DIN9E1 18050P15  M18x1.5x50
DINGE1 12045 P15 M12x1.5x45 | DIN961 14050 P15 M14x1.5x50 | DIN9G1 16055 P15 M16x1.5x55 | DIN9G1 18055P15  M18x1.5x55
DING61 12050 P15 M12x1.5x50 | DIN961 14085P15 M14x1.5x55 | DIN961 16060 P15 M16x1.5x60 | DIN9G1 18060P15  M1Bx1.5x60
DING&1 12055 P15 M12x1.5x55 | DIN961 14060 P15 M14x1.5x60 | DIN9G1 16065 P15 M16x1.5x65 | DIN9G1 18065P15  M18x1.5x65
DING&1 12060 P15 M12x1.5x60 | DINGG1 14065 P15 M14x1.5x65 | DIN9G1 16070 P15 M16x1.5x70 | DIN9&1 180T0P1S  M18x1.5x70
DIN@61 12065 P15 M12x1.5x65 | DIN9G1 14070P15 M14x1.5%70 | DINGG1 16080 P15 M16x1.5x80 | DINOG1 18080P15  M18x1.5%80
DINg61 12070 P15 M12x1.5x70 | DIN961 1408015 M14x1.5%80 | DING61 16090 P15 M16x1.5x90 | DIN9G1 18080P15  M18x1.5%80

DINGB1 12080 P15 M12x1.5x80
DING61 12090 P15 M12x1.5x90
DINGG1 12100 P15 M12x1.5%100
DING61 12110 P16 M12x1.5x110
DIN961 12120 P15 M12x1,5x120

DINGET 14090 P15 M14x1.5%90
DINGE1 14100 P15 M14x1.5%100
DINGET 14110 P15 M14x1.5%110
DING61 14120 P15 M14x1.5x120
DIN96114130P15  M14x1.5x130
DINGB1 14140 P15 M14x1.5x140

DING6T 16100 P15 M16x1.5%100
DINg61 16110P15 M16x1.5x110
DINg61 16120 P15 M16x1.5x120
DINS61 16130 P15 M16x1.5x130
DING61 16140 P15 M16x1.5x140
DINg61 16150 P15 M16x1.5x150
DINg61 16160 P15 M16x1.5x160

DINE1 18100 P15
DIN9B1 18110 P15
DIN9B1 18120 P15
DIN9G1 18130 P15
DINS61 18140 P15
DINg61 18150 P15
DIN9&1 18160 P15
DINaE1 18180 P15

M18x1.5%100
M18x1.5x110
M18x1.5x120
M18x1.5x130
M18x1.5x140
M18x1.5x150
M18x1.5x160
M18x1.5x180

DIN9G1 20040 P15 M20x1.5x40 M36x3.0x40

DINGE1 24040P2 M24x2.0x40 DINGB1 30040P2  M30x2.0x40 DIN961 36040P3
DINSG1 20045 P15 M20x1.5x45  DINSE1 24045P2 M24x2.0x45 DINSB1 30045P2  M30x2.0x45 DING61 36045P3 M36x3.0x45
DIN961 20050 P15 M20x1.5x50 | DING&1 24050P2 M24x2.0x50 DINGB1 30050P2  M30x2.0x50 DIN961 36050P3 M36x3.0x50
DIN961 20055P15 M20x1.5x55 | DINGG1 24055P2 M24x2.0x55 DINGB1 30055P2 M30x2.0x55 DIN9&1 36055P3 M36x3.0x55
DIN961 20060P15 M20x1.5x60  DINIE1 24060P2 M24x2.0x60 DINGE1 30060P2  M30x2.0%60 DING61 36060P3  M36x3.0x60
DIN961 20085P15 M20x1.5x65  DIN9G1 24065P2 M24x2.0x65 DINGB1 30065P2 M30x2.0x65 DIN961 36065P3 M36x3.0x65
DINSET 20070 P15 M20x1.5x70 | DING61 24070P2 M24x2.0x70 DINGB1 30070P2  M30x2.0x70 DINGE1 36070P3  M36x3.0x70
DIN9E1 20080 P15 M20x1.5x80 | DINGE1 24080P2 M24x2.0xB0 DIN9B1 30080P2 M30x2.0x80 DIN9E1 36080P3 M36x3.0x80
DIN9G1 20090 P15 M20x1.5x90 | DINGG1 24090P2 M24x2.0x80 DIN9B1 30090P2  M30x2.0x80 DIN9G1 36080P3  M36x3.0x90

DIN961 20100 P15 M20x1.5x100 DINS61 24100P2
DIN961 20110 P15 M20x1.5x110 DINS61 24110P2
DIN9B1 20120 P15 M20x1.5x120  DINS61 24120P2
DIN961 20130 P15 M20x1.5x130 ' DINS&1 24130P2
DIN9G1 20140 P15 M20x1.5x140 DING&1 24140P2
DINg61 20150 P15 M20x1.5x150 | DING&1 24160P2
DIN9G1 20160 P15 M20x1.5x160 DING61 24180P2
DIN9B1 20180 P15 M20x1.52180 DINGG1 24200P2
DIN9B1 20200 P15 M20x1.5x200

®

M24x2.0x100
M24x2.0x110
M24x2 0x120
M24x2.0x130
M24x2.0x140
M24x2.0x160
M24x2.0x180
M24x2.0%200

DINGB1 30100P2
DINSB1 30110P2
DIN9B1 30120P2
DIN9B1 30130P2
DINGB1 30140P2
DINSB1 30160P2
DINGB1 30180P2
DINGB1 30200P2

M30x2.0x100
M30x2.0x110
M30x2.0x120
M30x2.0x130
M30x2.0x140
M30%x2.0x160
M30x2.0x180
M30x2.0x200

DIN961 36100P3
DING61 36110P3  M36x3.0x110
DINGG1 36120P3 M36x3.0x120
DING61 38130P3 M36x3.0x130
DING61 36140P3 M36x3.0x140
DING§1 36160P3 M3Bx3.0x160
DINGE1 36180P3  M36x3.0x180
DINGB1 36200P3 M36x3.0x200

M36x3.0x100

Hexagon bolts with flange-small series —.
AREZERE
DIN EN1662 1SO/DIS15071 GB16674.1

DIN1662 05025
DIN1662 05030
DIN1662 05035
DIN1662 D5040
DIN1662 05045
DIN1662 05050

M5x0.8x30
M5x0.8x35
M5x0.8xd0
M5x0.8x45
M5x0.8x50

DIN1662 06030
DIN1662 06035
DIN1662 06040
DIN16862 06045
DIN1662 06050
DIN1662 DB055
DIN1662 06060

DIN1662 08035 MBx1.25x35
DIN1662 08040 MBx1.25x40
DIN1662 08045 MBx1.25x45
DIN1662 0B0O50 MBx1.25x50
DIN1662 DBOSS MBx1.25x55
DIN1B62 0BDB0 MBx1.25x80
DIN1B862 OBOB5S MBx1.25x65
DIN1662 08070 MBx1.25x70
DIN1662 08080 MB8x1.25x80

DIN1662 10040
DIN1662 10045
DIN1662 10050
DIN1662 10055
DIN1662 10060
DIN1662 10065
DIN1662 10070
DIN1662 10080
DIN1662 10090
DIN1662 10100

M10x1.5x40
M10x1.5x45
M10x1.5x50
M10x1.5x55
M10x1.5x60
M10x1.5%65
M10x1.5x70
M10x1.5x80
M10x1.5x90
M10x1.5x100

DIN1662 12045 M12x1.75x45
DIN1662 12050 M12x1.75x50
DIN1662 12055 M12x1.75x55
DIN1E62 12060 M12x1.75x60
DIN1662 12065 M12x1.75x65
DIN1EB2 12070 M12x1.75x70
DIN1G62 12080 M12x1.75x80
DIN1662 12090 M12x1.75x30
DIN1662 12100 M12x1.75x100
DIN1662 12110 M12x1.75x110
DIN1662 12120 M12x1.75x120

DIN1662 14050
DIN1662 14055
DINTEEZ 14060
DIN1662 14065
DIN1662 14070
DINTEE2 14080
DINTE62 14080
DIN1662 14100
DIN1B62 14110
DIN1662 14120
DIN1662 14130
DIN1EE2 14140

M14x2 0x50
M14x2 0x55
M14x2.0x60
M14x2.0x65
M14x2 0670
M14x2 080
M14x2.0%90
M14x2.0x100
M14x2.0x110
M14x2 0x120
M14x2 0130
M14x2.0x140

Code

%S
DIN1662 16055 M16x2.0x55
DIN1662 16060 M16x2.0x60
DIN1662 16065 M16x2.0x65
DIN1662 16070 M16x2.0x70
DIN1662 16080 M16x2.0x80
DINTBE2 16090 M16x2.0x00
DIN1662 16100 M16x2.0x100
DIN1B62 16110 M16x2.0x110
DIN1662 16120 M16x2.0x120
DIN1662 16130 M16x2.0x130
DIN1662 16140 M16x2.0x140
DIN1662 16150 M16x2.0x150
DIN1662 16160 M16x2.0X160

Hxagon bolts with flange - heavy series

AREZmERmA RS
DIN EN1665 ISO/DP8102 GB5790

DIN1665 05025
DIN1665 05030
DIN1665 05035
DIN1665 05040
DIN1665 05045
DIN1665 05050

M5x0.Bx25
M5x0.8x30
MEx0.8x35
M5x0,8x40
M5x0.8x45
M5x0.8x50

Code
%e

DIN1665 06030
DIN1665 06035
DIN1665 06040
DIN1665 06045
DIN1665 06050
DIN1665 06055
DIN1665 06060

DIN1665 08035 MB8x1,25x35
DIN1665 08040 MBx1.25x40
DIN1B65 DBDA5 MBx1,25x45
DIN1665 0BOS0 MBx1.25x50
DIN1665 08055 MBx1.25x55
DIN1665 0BOB0 MBx1.25x60
DIN1665 08065 MBx1.25x65
DIN1665 08070 MBx1.25x70
DIN1665 08080 MBx1.25xB0

DIN1665 10040
DIN1865 10045
DIN1865 10050
DIN1665 10055
DIN1665 10060
DIN1665 10065
DIN1665 10070
DIN1665 10080
DIN1665 10090
DIN1665 10100

M10x1.5x40
M10x1.5x45
M10x1.5x50
M10x1.5x55
M10x1.5x60
M10x1.5x65
M10x1.5x70
M1Dx1.5x80
M10x1.5x90
M10x1.5x100

DIN1665 12045
DIN1B65 12050
DIN1665 12055
DIN1665 12080
DIN1665 12065
DIN1665 12070
DIN1685 12080
DIN1665 12090
DIN1665 12100
DIN1665 12110
DIN1665 12120

Mi12x1 75x45
M12x1.75x50
M12x1.75x%55
M12x1.75x60
M12x1.75x65
M12x1.75%70
M12x1.75x80
M12x1.75x30
M12x1. 75100
Mi12x1 75110
M12x1.75x120

14050
DIN1665 14055
DIN1665 14060
DIN1665 14065
DIN1665 14070
DIN1665 14080
DIN16865 14090
DIN1665 14100
DIN1B65 14110
DIN1665 14120
DIMN1665 14130
DIN1665 14140

M14x2 0x50
M14x2.0x55
M14x%2.0x60
M14x2 0x65
M14x2. 0670
M14x2. (B0
M14x2. 0680
M14x2.0x100
M14x2.0x110
M14x2. 0x120
M14x2.0x130
M14x2.0x140

®s

DIN1665 16055 M16x2.0x55
DIN1665 16060 M16x2.0x60
DIN1665 16065 M16x2.0x65
DIN1665 16070 M18x2.0x70
DIN1665 16080 M16x2.0x80
DINT665 16090 M16x2.0x90
DIN1865 16100 M16x2.0x100
DIN1B65 16110 M16x2.0x110
DIN1665 16120 M16x2.0x120
DIN1665 16130 M16x2.0x130
DIN1665 16140 M16x2.0x140
DIN1665 16150 M16x2.0x150
DIN1665 16160 M16x2.0x160

DIN1BES 20065
DIN1665 20070
DIN1665 20080
DIN1665 20090
DIN1665 20100
DIN1665 20110
DIN16865 20120
DIN1665 20130
DIN1BGS 20140
DIN1665 20150
DIN16ES 20160
DIN1665 20180
DIN1665 20200

M20x2 5x65
M20x2.5x70
M20x2.5x80
M20x2.5x90
M20x2.5x100
M20x2.5x110
M20x2.5x120
M20x2.5x130
M20%2.5x140
M20x2.5x150
M20x2.5x160
M20x2.5x180
M20x2.5x200

®




ATF® SRR BOLTS/SCREWS

Hexalobular head bolts with large flange Hexalobular head bolts with small flange -
BIEAREREZERE | .. milER AR MNEZERE g

DIN34801 (9 |g e DIN34800

L

Il

Ll
I § .I

W

DxPxL

g

DIN34800 04040 M4x0.7x40  DIN34800 05045 M5x0.8x45 DIN34800 06055 M6Ex1.0x55  DIN34800 08070P1
DIN34800 04045 M4x0.7x45  DIN34800 05050 M5x0.8x50, DIN34800 06060 MEx1.0x60 @ DIN34800 08080P1 M8x1.0x80

Code DxPxL DxPxL | C
i 5 : iS5 i

DIN34801 05045 M5x0.8x45 | DIN34801 06055 M6x1.0x55| DIN34801 08070P1 MBx1.0x70| DIN34801 08070 M8x1.25x70

DIN34801 05050 M5x0.8x50 | DIN34801 06060 M6x1.0x60) DIN34801 08080P1 Max1.0x80 DIN34801 08080 MB8x1.25x80

B

DIN34800 08070 MB8x1.25x70 | DIN34800 10090P1 M10x1.0x90 DIN3480010090P125 M10x1.25x80 | DIN34800 10090 M10x1.5x90
DIN34800 OBOBQ MBx1.25%80 | DINZ4800 107100P1 M10x1.0x100 | DINI480010100P125 M10x1.25x100  DIN34800 10100 M10x1.5x100

DIN34801 10080P1 M10x1.0x30 | DIN34B04 10030P125 M10x1.25:30 | DIN34B0110090 M10x1.5x30 DIN34801 12090P125 M12x1.25x90

DIN34B01 10100P1 M10%1.0x100 | DIN34B01 10100P125 M10x1.25x100 | DIN2480110100 M10x1.5x100 | DIN34B0t 12100P125 M12x1.25x100 # i
DIN34801 12110P125 M12x1.25%110 DIN34B00 12080P125 M12x1.25:80  DIN34BOD 12080P15 M12x1,5x30 = DIN34B0012090 M12x1.75x90  DIN34BO0 14080P15
DIN34801 12120P125 M12x1.25x120 DIN34B00 12100P125 M12x1.25x100 | DIN34B00 12100P15 M12x1.5x100 | DIN3480012100 M12x1.75x100 | DIN34800 14100P15 M14x1.5%100

DIN34800 12110P125 M12x1.25x110 | DIN34800 12110P15 M12x1.5x110 | DIN34800 12110 M12x1.75x110  DIN34800 14110P15 M14x1.5x110
DIN34B00 12120P125 M12x1.25x120 | DIN34B00 12120P15 M12x1.5x120 | DIN34B0012120 M12x1.75x120 DIN34800 14120P15 M14x1.5x120
DIN34800 14130P15 M14dx1.5x130
DIN34800 14140P15 M1dx1.5x140

Code
£ i) 5 i i i
DIN34801 12000P15 M12x1.5x30 DIN34801 12090 M12x1.75%90 | DIN34801 14090P15 M14x1.5x90 | DIN34801 14090 M14x2.0x90 -ode b ':”P:’(' L x s i
DIN34B01 12100P15 M12x1.5x100 = DIN34801 12100 M12x1.75x100 | DIN34801 14100P15 M14x1.5x100| DIN34B0O1 14100 M14x2.0x100 in Mt it Mt

DIN34801 12110P15 M12x1.5x110 | DIN34801 12110 M12x1.75x110 | DIN34801 14110P15 M1dx1.5x110| DIN34B01 14110 WM14x2.0x110 B
DIN34B01 12120P15 M12x1.5x120 | DIN34801 12120 M12x1.75x120 | DING4801 14120P15 M14x1.5x120 DIN34BO1 14120 M14x2.0x120 g:ﬁgiggg s m]ﬁgg;‘;‘go g;:g:ggg:g?ggﬁ}g mg;‘ﬁ?go g{:;ﬁggg Hiap mg:g g:?go g::;jggg}gfgg;}g m;‘l et
g::ﬁ:g} ngm m:::g:lig g::g:gg: 1‘::38 m}j:g-g:}ig DIN34800 14110 M14x2.0x110 | DIN34800 16110P15 M16x1 5x110 | DIN34800 16110 M16x2.0x110  DIN34800 18110P15 M1Bx1 5x110
. . DIN34800 14120 M14x2.0x120 | DIN34800 16120P15 M16x15x120 | DIN34B00 16120 M16x2.0x120  DIN34800 18120P15 M1Bx1.5¢120
DIN34800 14130 M14x2.0x130 | DIN34800 16130P15 M16x1.52130 | DIN34800 16130 M16x2.0x130 | DIN34300 18130P15 M18x1.5x130
DIN34800 14140 M14x2,04140 | DIN34800 16140P15 M16x1.5k140 DIN34800 16140 M16x2.0%140  DIN34800 18140P15 M1Bx1.5x140
DIN34800 16150P15 Mi6x1.5x150 | DIN34800 16150 M16x2.0x150 | DIN34800 18150P15 M18x1.5¢150
DIN34800 16160P15 M16x1.5x160  DING4800 16160 M16x2.0x160 | DIN34800 18160P15 M1Bx1.5x160
DIN34800 18170P15 M18x1.5x170

D x 3
i Hi

5 L
DIN34801 1B090P2 M18x2.0x30

DIN34801 16090 M16x2.0x30 | DIN34801

DIN34801 16090P15 M16x1.5x50 18090P15 M18x1.5x90

DIN34801 16100P15 M16x1.5x100 | DIN34B01 16100 M16x2.0x100 | DIN34B01 18100P15 M1Bx1.5x100 | DIN34801 18100P2 M1Bx2.0x100 0is Wi =y ¢F:.‘.._1'
DIN34801 16110P15 M16x1.5x110 | DIN34801 16110 M16x2.0x110 | DIN34B0T 18110P15 M18x1.5%110 | DIN34801 18110P2 M1Bx2.0x110 — N = — x
DIN34801 16120P15 M16x1.5x120 | DIN34801 16120 M16x2.0x120 | DIN34801 13120P15 M18x1.5x120 | DIN34801 18120P2 M18x2.0x120 DIN34800 18090P2 M1Bx2.0x90 | DIN34B00 18090 DIN3I4800 20090P15 M20x1.5x90 | DIN34800 20000F2 M20x2.0x90
DIN34801 16130P15 M16x1.5%130 | DIN34B01 16130 M16x2.0x130 | DIN34B01 18130P15 M18x1.5x130 | DIN34801 18130P2 M18x2.0x130 DIN34800 18100P2 M18x2.0x100 | DIN34800 18100 M18x2.5x100 | DIN34800 20100P15 M20x1.5x100 DIN34800 20100P2 M20x2.0x100
DIN34B01 16140P15 M16x1.5%140 | DIN34801 16140 M16x2.0x140 | DIN34B01 18140P15 M18x1.5x140 | DIN34801 18140P2 M18x2.0x140 DIN34800 18110P2 M1Bx2.0x110 | DIN34800 18110 M1Bx2.5x110 | DIN34B00 20110P15 M20x1.5x110 DIN34800 20110P2 M20x2.0x110
DIN34801 16150P15 M16x1.5x150 | DIN34801 16150 M16x2.0x150 | DIN34801 18150P15 M18x1.5x150 | DIN34801 18150P2 M18x2.0x150 DIN34800 18120P2 M1Bx2 0x120 | DIN34BO0 18120 M1Bx25x120 | DIN34B0O0 20120P15 M20x1 5x120 | DIN34B00 20120P2 M20x2 0x120
DIN34801 16160P15 M16x1.5x160 | DIN34801 16160 M16x2.0x160 | DIN34B01 18160P15 M18x1.5x160 | DIN34801 18160P2 M18x2.0x160 DIN34800 18130P2 M18x2.0x130 | DIN34800 18130 M18x2.5x130 | DIN34800 20130P15 M20x1.5x130 DIN34800 20130P2 M20x2.0x130
DIN34801 18170P15 M18x1 52170 | DIN34801 18170P2 M1Bx2.0x170 DIN34800 18140P2 M1Bx2.0x140 | DIN34B00 18140 M1Bx25x140 | DIN34B00 20140P15 M20x1.5¢140 DIN34800 20140P2 M20x2.0x140

DIN34800 18150P2 M1Bx2.0x150 | DIN34800 18150 M18x2.5x150 | DIN34B00 20150P15 M20x1.5x150 DIN34800 20150P2 M20x2.0x150
DIN34800 18160P2 M1Bx2.0x160 | DIN34B00 18160 M1Bx2.5x160 DIN34B00 20160P15 M20x1.5x160 DIN34800 20160P2 M20x2.0x160
DIN34800 18170P2 M18x2.0x170 | DIN34800 18170 M18x2.5x170 | DIN34800 20180P15 M20x1.5¢180 DIN34800 20180P2 M20x2.0x180

DIN34800 20200P15 M20x1.5x200 | DIN34800 20200P2 M20x2.0x200

cl

DIN34801 18030 M18x2.5x390 DIN34B01 20030P15 M20x1 530 | DIN34B01 20090P2 M20x2 0x80 | DIN34801 20080 M20x2. 5x90

DIN34801 18100 M1Bx2.5x100 | DIN34B01 20100P15 M20x1.5¢100 | DIN34801 20100P2 M20x2.0x100 | DIN34B01 20100 M20x2.5x100 DIN34B00 20090 M20x2.5%90
DIN34801 18110 M18x2.5x110 = DIN34BO1 20110P15 M20x1.5x110| DIN34801 20110P2 M20x2.0x110 | DIN34801 20110 M20x2.5x110 DIN34800 20100 M20x2.5x100
DIN34801 18120 M18x2.5x120  DIN34B01 20120P15 M20x1.5x120| DIN34801 20120P2 M20x2.0x120  DIN34801 20120 M20x2.5x120 DIN34800 20110 M20x2.5%110
DIN34B01 18130 M1Bx2.5x130  DIN34BO1 20130P15 M20x1.5¢130| DIN34801 20130P2 M20x2.0x130 DIN34801 20130 M20x2.5x130 DIN34800 20120 M20x2.5%120
DIN34B01 18140 M1Bx2.5x140  DIN34BO1 20140P15 M20x1.5x140 | DIN34801 20140P2 M20x20x140  DIN34801 20140 M20x2.5x140 DIN34800 20130 M20x2.5x130
DIN34801 18150 M18x2.5x150  DIN34B01 20150P15 M20x1.5¢150 | DIN34801 20150P2 M20x2.0x150  DIN34801 20150 M20x2.5x150 DIN34800 20140 M20x2 5x140
DIN34B01 18160 M1Bx2.5x160  DIN34BO1 20160F15 M20x1.5¢160 | DIN34801 20160P2 M20x2.0x160  DIN34801 20160 M20x2.5x160 DIN34800 20150 M20x2.5x150
DIN34801 18170 M1Bx2.5x170 | DIN34801 20180P15 M20x1.5x180 | DIN34B801 20180P2 M20x2.0x180 | DIN34B01 20180 M20x2.5x180 DIN34B00 20160 M20x2.5x160

DIN34801 20200P15 M20x1.5x200 | DIN34801 20200P2 M20x2.0x200 | DIN34801 20200 M20x2.5x200 DIN34B00 20180 M20x2.5x180

DIN34800 20200 M20x2.5x200

® ®




www.atfasteners.com

ATF

15 il 4L 4 0 22
DIN MACHINE SCREWS

‘ DxPxL ]

#

M2x0.4x3  M2.5x0.45x3

M3x0.5x5

Material:
Carbon steel: 224,035:40035CrMo:42CMo

M4x0.7x6 M5x0.8x9 MBx1.0x10 M8x1.25x10
M2x0.4x4  M2.5x0.45x4 M3x0.5x6 M4x0.7x8 M5x0.8x10 Mex1.0x12 Méx1.25x12
M2x0.4x5 M2.5x0.45x5 M3x0.5x8 M4x0.7x9 M5x0.8x12 MBx1.0x14 MB8x1.25x14
M2x0.4x6  M2.5x0.45x6 M3x0.5x9 M4x0.7x10 M5x0.8x14 MEx1.0x16 Max1.25%x16
M2x0.4x8 M2.5x0.45x8 M3x0.5x10 M4x0.7x12 M5x0.8x16 M6Ex1.0x18 M8x1.25x18
M2x0.4x10 M2.5x0.45x10 M3x0.5x12 M4x0.7x14 M5x0.8x18 MBx1.0x20 M8x1.25x20
M2x0.4x12 M2.5x0.45x12 M3x0.5x14 M4x0.7x16 M5x0.8x20 MEx1.0x22 M8x1.25x22
M2x0.4x16 M2.5x0.45x16 M3x0.5x16 M4x0.7x18 M5x0.8x22 M6x1.0x25 M8x1.25x25
M2.5x0.45x20 M3x0.5x18 M4x0.7x20 M5x0.8x25 MEx1.0x28 MB8x1.25x28
M3x0.5x20 M4x0.7x22 M5x0.8x28 MEx1.0x30 Méx1.25x30
M3x0.5x22 M4x0.7x25 M5x0.8x30 MEx1.0x35 M8x1.25x35
M3x0.5x25 M4x0.7x28 M5x0.8x35 M6x1.0x40 Méx1.25x40
M3x0.5x28 M4x0.7x30 M5x0.8x40 Mex1.0x45 MBx1.25x45
M3x0.5x30 M4x0.7x35 M5x0.8x45 MBx1.0x50 Méx1.25x50
M4x0.7x40 M5x0.8x50
N B
DIN 963 GB68 ( DIN 964 GBB9 DIN 965 GB819.1 H
S pmm S (mm || @)
FFHE kAR ET FHHE K RET + P SLIRST

\_Slotted countersunk head screws

\_ Slotted raised oval head screws J

\ _ Cross recessed flat head serews )

-

DIN 965 GB819.1 Z )

ORl

KPR K ERET

\_Slotted countersunk head screws PZ )

(" DIN 965 GB819.1 SLD)

©) o

sk A TEERET

\_ Countersunk haad screws similarDINGS sixlobe drive )

7~

DIN 966 GB820 H )

ORI

+ P L 4E 4T

\_Cross recessed countersunk oval head screws

DIN 966 GB820 Z )

ORL__

KREF LIRS

. Cross recessed countersunk oval head screws J

( 1SO 7380 GB70.2 )

©) o

k7 iR

\_ Hexagon sacket botton head screws )

ISO 7380-ULF

©  jw—

FLANRER

\_ Hexagon socket hotton head screws flasch ULF

DIN 7985 GB818 H

(+) ¢ Jommmy

+ P L IRET

\_Cross recessed raised pan_head screws /

( DIN7985GB818 2)

6@ ]
KA £ K AR ET

\_ Cross recessed raised pan head scraws )

(DIN 7985 GB818 SLD |

@ (o

A 7S fE £ L IRET

\_ Cross recessed raised pan headscrews )

DIN 7991 GB70.3

() [ mmm

ik BN R R ET

\_Hexagon socket countersunk head screws

(DIN7991 GB2673 SLD)

© [~ o

Mk TR ET

\_ Countersurk head screws simikar DIN 7811 six kobe drve

GB823

(+)  { oy
+F NS ERET

Cross recessed small pan head screws

®

CLUNCRo g ¥

DIN SELF TAPPING SCREWS

DxPxL| DxPxL| DxPxL
ks
ST22:079:45 STZ8x1.06x65 ST3E1.2785
ST2.2:0.79¢6.5  ST2.9x1.06x9.5 ST3bx1.27x13
ST2240.79x85 ST2.9x1.06x13 ST35¢1.27x16
ST2.2aD.79x13  ST2.8¢1.06x16  ST3.5x1.27x19
ST2. 207916 ST2.8x1.06(18  ST3.5x1.27022
ST3.5x1.27x25
ST3.5x1.27x32
ST3501.27438

DxPxL| DxPxL
Ats | i
ST3.9x1.34x35 5T42x141x8.5
ST8x1.34x13  ST4.2¢1.41x13
ST3.9x1 34516 574 2¢1 41x16
ST3.001.34x19  ST4.2¢1 41019
ST3.0x1.34x22  8T4.2x1.41x22
ST3.8x1.34x25  ST4.2x1.41x25
ST3.0x1.34x32  ST4.2¢1 4132
ST3.0x1.34x38  STd.21 4138
ST3.9x1.34x40  BT4.2¢1.41x40
ST3.9x1.34x45  ST4.2¢1 41xd5
ST3.8x1.34x50  5T4 2xf 41650
5T4.2x1.41x60
ST4.2¢1 41x70

ST4.8x1.59x9.5 ST5.5x1.81x13
ST4.8x1.59%13
5T4.8x1.59x16
ST4.8x1.59x19
ST4.8x1.59x22
ST4.8x1.58x25
ST4.8x1,59%32
ST4.8x1.59x38
ST4.8x1.59%x40
ST4.8x1.59x45
ST4.8x1.59x50
ST4.8x1,59%55
5T4.8x1 59x80
ST4.8x1.59x70
ST4.8x1.59x80
ST4.8x1.58x90
ST4.8x1.59%95

SCREWS

Material:
Carbon steel:22A

5T5.5x1.81x16
575.5x1.81x19
S§T5.5x1.81x22
5T5.5x1.81x25
S5T5.5x1.81x32
ST5.5%1,81x38
8T75.5x1.81x40
5T5.5x1.81x45
S§T5.5x1.81x50
S5T5.5%1.81x55
575.5x1.81x60
ST5.5x1.81x70
ST5.5%1.81x80
S5T5.5x1.81x90 ST6.3x1.81x90

S5T5.5x1.81x95 S5T6.3x1.81x95

S5T5.5x1.81x100 ST6.3x1.81x100

8T6.3x1.81x16
8T6.3x1.81x19
S5T6.3x1.81x22
576.3x1.81x25
S5T6.3x1.81x32
5T6.3x1.81x38
ST6.3x1.81x40
STE.3x1.81x45
576.3x1.81x50
ST6.3x1.81x55
5T6.3x1.81x60
ST6.3x1.81x70
5T6.3x1.81x80

$T4.8x1.59x100

DIN -7982 GB846 H

oo 5

e =pug- 32

SELF TAPPING SCREW,
COUNTERSUNK HEAD ,PHILLIPS,

DIN -7982 GB846 Z

;&

MkEREL

SELF TAPPING SCREW,
COUNTERSUNK HEAD ,POZIDRIV,

DIN -7982 GB846 SLD

Mk EHEL

SELF TAPPING SCREW,
COUNTERSUNK HEAD , TORX,

DIN -7983 GB847 H

(s (4)

nsTeEs
FMkEBBE

SELF TAPPING SCREW,
COUNTERSUNK PAISED HEAD PHILLIPS,

DIN -7983 GB847 Z

s

FiMkABEL
SELF TAPPING SCREW,
COUNTERSUNK PAISED HEAD, POZIDRIV.

DIN -7983 GB847 SLD

ik AMELE
SELF TAPPING SCREW,
COUNTERSUNK PAISED HEAD , TORX.

DIN -7981 GB845 H

(s ()

fe=hod- 13

SELF TAPPING SCREW,PAN HEAD PHILLIPS.

DIN -7981 GB845 Z

(s @

B Anme
SELF TAPPING SCREW, POZIDRIV.

DIN -7981 GB845 SLD

Ly

f-E=hod 11
SELF TAPPING SCREW, TORX




ATF

www.atfasteners.com

P 38 e ik 9% £

TYPE:A

TYPE:D

DROP IN ANCHORS

e

i

o

IIIIIIIII’I

Q

- /l,yl

2 1 B S B R 22
SLEEVE ANCHORS(M/M)

METAL ANCHORS

: = ®
K

(AN

grder 'g:s::i fg:gﬁ: L Pull Out Num_ber
g (D) | (€]

DRMO6 M6 8 10 25 a8 950 DMT-06

DRMO8 M8 10 14 30 10 1350  DMT-08

DRM10  M10 12 15 40 12 1950 DMT-10

DRM12  Mi2 16 20 50 16 2900 DMT-12

DAM16  M16 20 25 65 20 4850  DMT-16

DRM20  M20 25 35 80 25 5900 DMT-20

DRW20 W1/4 8 10 25 8 950 DWT-20

DRW25 WS5/16 10 14 30 10 1350 DWT-25

DRW30 Wa/a 12 15 40 12 1950 DWT-30

DRW40 W1/2 16 20 50 16 20900 DWT-40

DRWS0 Ws/8 20 25 65 20 4850 DMT-50

DRWE0 W3/4 25 35 80 25 5900 DMT-60

DRU20  1/4-20 ag" 1/2" { 3/8" 1000 DUT-1/4
DRU3D 3/8-16 1/2" 5/8" 1-9/16" 1/2* 2000 DUT-3/8
DRU40 1/2-13 5/8" 3/4" 2" 5/8" 3200 DUT-1/2
DRUS0O  5/8-11 7ig" 7i8" 2-1/2" 7/8" 5400 DUT-5/8
DRUBD  3/4-10 1" 1-1/4*  3-1/8" 1 7000  DUT-3/4

Order Ag'fzhfr Drill

Code (AXL_) Diametar
HNMOB0D36 ¢ 6x36
HNMOSDSE  §6x56 M5 8.00 12 @7 600
HNMOBO7S  §6x75
HNMOG100 ¢ 6x100
HNMO08025 ¢ Bx25
HNM0g040 840 M6 10.00 14 o8 800
HNMOBOBS ¢ Bx65
HNMO0B085 ¢ Bx85
HNM10040  §10x40
HNM10050 ¢ 10x50
HNM10060  § 10x80 M8 13.00 18 ©10 1300
HNMI0O7S  $10x75
HNM10100 ¢ 10x100
HNM12060 ¢ 12x60
HNM12075 t 12x75 Mio 15.00 22 Diz 2500
HNM12100 ¢ 12x100
HNM12125  §12x125
HNM160G5 ¢ 16x65
HNM16110  $16x110  M12 18.00 26 ©16 3700
HNM16150 ¢ 16x150
HNM20075  § 20x75
HNM20110 ¢ 20x110 M16 24 a5 w20 5000
HNM20150  $20x150




www.atfasteners.com METAL ANCHORS

HEEEWAKEL R 6 % B 082 42
e — ST ac Sleave Pull Out
=1 dxLxDxW
Code 2 Fhriet
=z CSHTOB M6x45  oBeSil®1s  ©8x30
m HT CSHTOBL M6x60  0BGHiMd18  OBxd5 Bx43 15 500 L
CSHTI0  M8x60 @1 0x60e1 3n 0 24 @ 10x41 10x55 5 800 = ’ ‘
TYPEMHT {Hex head
bolt) GSHT10L M8x80 @ 10x6001 300 24 D10x62 10x55 15 8O0 O
m@ CSHT{2 M0X70  ofadhiTadd)  ©12x48  12x65 5 1200 IL
i CSHTI2L M10x100 &12x100x17x®30 D12x75 12x65 35 1200
ﬁ:@ K CSHEOS M6x50  odGheHeis  ©8x30 8x50 2 500 5
(Eyebol)  GSHE10 MBX60  ©IBGICS024  ©10x41 10x60 2 800
TYPEHE
CSHE12 MI0X70  oi270dkon  ©12xd8  12x70 2 1200 Orddar hread | BotSize | o .. | SleevesSize | Dril BUn Ot
m@ HK CSHKODB  M6x50  Oaamkne g ©Ex30 Bx50 2 500 Code ) (mm) 2 = Diameter (Kgs)
Hook bolt .
L] ¢ ) CsHKIO MexeD  oiomes0 @106 10x60 2 L BADGOSD  MB MEx50 ©9.8x50x10xD16 $9.8x30 @10 890
w CSHK12  M10x70  e12dhdnos  ©12x48  12x70 2 1200 BAOGOED M6 MEXE0 ©9.8xE0x 104018 ©9.8x30 10 890
" d BADBO65 M8 M8x6&5 ©12x65x13x D24 §12x35 ®12 1380
TYPE:HK ﬁ mm e g E nﬁ " b BADBO70 M8 M8x70 ©12x70x13xD 24 ®12x35 12 1390
ey H n L Hk!‘g . BA10070  M10 M10x70  ©14x70x17x030 $14x40 o14 1600
HEAY CONE NUT SLEEVE ANCHORS (DOUBLE SLEEVE) BA1008D  M10  MI0XB0  O14@0xi7x@30  ©14x40 014 1600
Wy A BA10100  M10 M10X100  ©@14x100x17%®30  ©14x40 014 1600
‘C”ri' Load BA10120  M10  M10x120  O14X120x17x030  ©14x40 ©14 1600
oc Hehs
(kgs) BA12100 Miz M12x100  ©17.6x100x19x037  §17.6x50 18 2550
HCNM10100  ®10X100  MEX100 a0 o i s BA12120  M12 Mi2x120  ©17.6x120x10x037 ©17.6x50 18 2550
HCNM10150  @10X150  M6X150 BA12150  M12 M12x150  ©17.6x150x19x037 @17.6x50 18 2550
HCNM12100 ®12X100 MBX100
HONM12115  ©12%115  MEX115 BA12200  M12 M12x200  ©17.6x200x19%x037 ©17.6x50 018 2550
HCNM12145 ©12X145 MB8X145 BA16120  M16 M16X120  ©21.6x120x24x050 ©21.6x60 22 3300
HCNM12185 ®12X185 MB8X185
1 ©21.6x150x24xD 21, o
HONM12200 ®12X200  MBX200 i3 a4 i3 i BA16150 M16 M16x150 21.6x150x24x D50 21.6x60 22 3300
HCNM12235 ©@12X235 MEX235 BA16200 M16 M16x200  ©21.6x200x24xD50 @ 21.6x60 22 3300
HCNM12250  @12X250  MBX250 BA20160  M20 M20x160  ©254x160x30x0B0  $25.4x80 26 4950
HCNM12330  ®12X330 M8X330
HONM16200  @16X200  Mi2X200 BA20200  M20 M20x200  ©25.4x200x30x060 ©25.4x80 26 4950
Eg:mgggg glgiggg m giggg BA22200  M22 M22x200  ©28.6x200x324066  28.6x30 29 6500
HohMioao. oiaxat. Miasws 9 37 16 3700 BA24200  M24  M24x200  ©31.8x200x32x072  $31.8x110 @32 8650
HCNM20200 ®20X200  M16X200
HCNM20220 @®20X220 M16X220
HCNM20250 @20X250 M16X250
HCNM20280 @20X280 M16X280 24 50 20 5000
HCNM20330 ©20X330  M16X330




www.atfasteners.com

TYPEIC

WAMDB040
WAMOB0S55
WAMOBOT0
WAMOB08S
WAMOBDE5
WAMDBOS0
WAMOBOES
WAMDBO75
WAMODB0SO
WAMODB09S
WAMOB105
WANMDB115
WAMDB120
WAMOB165
WAMOB220
WAM10060
WAM10065
WAM10080
WAM10095
WAM10100
WAM10115
WAM10125
WAM10130
WAM12070
WAM12080
WAM12095
WAM12100
WAM12120
WAM12130
WAM12135
WAM12150
WAM12180
WAM16090
WAM16105
WAM16125
WAM15140
WAM16180
WAM16220
WAM20120
WAM20125
WAM20160
WAM20200
WAM20300

M10x100
M10x115
M10%125
M10x130
M12x70
M12x80
M12x95
M12x100
M12x120

M20x300

HE =X A 0R

WEDGE ANCHORS

10x100 40 50 1500
10%115 40 50 1500
10x125 50 50 1500
10x130 55 50 1500
12x70 30 50 2300
12x80 40 50 2300
12x95 45 60 2300
12x100 45 60 2300
12x120 45 60 2300
12x130 45 60 2300
12x135 50 60 2300
12x150 60 60 2300
12x180 70 60 2300
16x90 40 70 3400
16x105 60 75 3400
16x125 60 75 3400
16x140 60 80 3400
16%180 70 90 3400
16x220 B8O 90 3400
20x120 40 80 5400
20x125 65 85 5400
20x160 70 100 5400
20x200 70 100 5400
20x300 70 100 5400

WAW14134 1/4x1-3/4
WAW4214 1/4x2-1/4
WAW14300 1/4x3
WAW14314 1/4x3-1/4
WAWS16234  5/16x2-3/4
WAWS16312  5/16x3-1/2
WAWSIE500  5/16x5
WAW3B214 3/8x2-1/4
WAW3B234 3/8x2-3/4
WAW3BI00 3/8x3
WAW38312 J8xa-1/2
WAW3B334 3/8x3-3/4
‘WAW3B500 X5
WAW12234 1/2x2-3/4
WAW12334 1/2x3-3/4
WAW12414 1/2x4-1/4

WAW12512 1/2x5-1/2

WAWI2700  1/2x7
WAWI2812  1/2x8-1/2
WAWI21000  1/2x10
WAWSB312  5/Bx3-1/2
WAWSB412  5/8x4-1/2
WAWSBEBDD  5/8x6
‘WAWSEB1Z  5/8xB-1/2
'WAWSE1000  5/Bx10
WAWSB1200  5/8x12
WAW3L414  3/ax4-1/4
WAW34512  3/q4x5-1/2
WAWSTOD  3/4x7
WAWS4B12  3/4xB-1/2
WAWS41000  3/4x10
WAWTBEDO  7/Bx6
WAWTBBOD  7/8x8
WAWTB1000  7/8x10

WAW1E000 1x6

WAW 19000 1x9
WAWTI2000  1x12
WAWTI4900  1-1/4x9
WAWII412000 1-1/4x12

1dx1-3/4
1/4x2-1/4
1/4x3
1/4x3-1/4
5/16x2-3/4
5M6x3-1/2
516x5
3/ax2-1/4
3/8x2-3/4

1/2x3-3/4
1/2x4—1/4

1-1/4x9
1-1/4x12

58 J) Y £T S Rk 08 42
HIT ANCHORS

METAL ANCHORS

HACOB045 M6 45 $6 15 $6 475
HACOB060 Mé 60 $6 20 46
HACOBOSD Ma 50 ¢$8 20 48 705
HACOBOT70 Ma 70 ¢$8 25 $8
HAC10050 M10 50 ¢i10 20 $i10 870
HAC10060 M10 80 $10 25 ¢10
HAC10080 M1 ao ¢ 10 25 ¢10
HAC10090 Mi0 a0 ¢ 10 30 $10 1180
HAC10100 M0 100 ¢i0 30 $10
HAC10120 M0 120 ¢ 10 30 ¢10
HAC12060 Mi2 60 ¢iz2 25 412 1460
HAC12070 M12 70 $12 25 412
HAC12090 Mi2 a0 ¢i2 30 $12 1826
HAC12100 M12 100 $12 30 $12
HAC12120 Mi12 120 $12 35 $12
HAC16100 M1G 100 $16 40 $17 3215
HAC16120 M8 120 $16 40 $17
HAC16150 M1& 150 $16 40 $17
HAC20130 M20 130 $ 20 50 $21 4450
HAC20150 M20 150 420 50 $21
HAC20190 M20 120 420 50 $21
L
NAIL ANCHORS L =

w—mem——
 —

Order Anchor
Code Size
QSADB40 $ Bxd40
QSADBED ¢ 6x60

Outside/Lengt|

Dia.x L

¢ 6x40

¢ BxB0

6.4(1/4)

5.4(1/d)

D




AT F® www.atfasteners.com METAL ANCHORS

L F g = R AUk iR 2
- CHEMICAL ANCHOR STUDS THREE-SEGMENT HEAVY DUTY SHELL ANCHORS

Length Outside PullOut
(mm) = e

3P10 M10 60 16 1300
i Max.Thickness | Hole
%‘til_zlg : 5 Dia.xDepth 3P12 Mi2 80 20 2100
Size (mm) 3P16 M16 110 24 2800
3P20 M20 130 32 4600
CASMDB110 M8x110 16 & 10x80
Head Type:
CASM10130 M10x130 22 $12x90
o CASM12160 M12x%160 30 $14x110
Hex
CASM16190 M16x190 38 $1Bx125 3POEHS0 M6 ©12x55x10 12 500
m—.‘ CASM20260 M20x260 70 $25x170 3PDBHED M8 bI4x6E13 14 00
e P 1 3P10H70 M10 ®16x70x17 16 1300
CASM24300 M24x300 65 $28x210 3P12H90 Mi2 ©20%90%19 20 2100

o

4
1 CASM30380 M30x380 70 & 35%280 j 3P16H120 M16 ©24x125x2 24 2800
3P20H150 Mao @32x150x30 32 4600

Frat Boad

SREMMKEL I ——
METAL FRAME ANCHORS : &

3P0BC M6 ©12x50%20 12 600
4 3P0BC ME ©14x60%25 14 s00
: 3P10C Mi0 ©16x65%30 16 1300
3P12C M1z D20x85x40 20 2100
3P16C M16 ©24x115x50 24 2800
3P20C M20 ©32x135x60 a2 4500
Type:C
Anchor | Qutsize
Size S TTE
Size Dia. dxLxD Outside
MFOBO72  $8x72 8 M5XB5 © Bx50 40 rihahE
MF08092  §8x92 8 M5X105  ©Bx50 60 £
MFOB112  $8x112 8 MBX125 @ 8x50 80 3PO8E ME ©12x50%20 12 600
MFOB132  §8x132 8 M5X145  ©B8x50 100 3P0SE M8 ©14x60x25 14 900
MF08152  $8x152 8 MEX165  ©B8x50 140
MFOB172  $8x172 8 M5X185  ® Bx50 150 3P0E M0 ®16x65x30 18 1800
MF10072  §10x72 10 MBX85 @ 10x50 40 3Pi2E Mi2 ©20xB5%40 20 2100
MF10092  §10x92 10 MBX105  ©10x50 60
MF10112  10x112 10 MBX125  © 1050 80 AFIEE Mg S2457115450 24 2900
MF10132  $10x132 10 MBX145  ©10x50 100 Type:E 3P20E M20 ©32x135%60 32 4600
MF10152  $10x152 10 MBX165  ©10x50 140 TR
MF10182  10x182 10 MBX185  ©10x50 150
MF10202  $10x202 10 MBX215  ©10x50 165




www.atfasteners.com METAL ANCHORS

Type:H

0 J 3R B B
FOUR-SEGMENT HEAVY DUTY SHELL ANCHORS

rder s Length
: (mm)
4P06
4P08
4P10
4P12 Mi2 80 20 1800
4P16 M16 110 256 2500
4P20 M20o 130 3z 4300

Qutside Pull Qut

S Load

(mm) (Kgs

4P0BH50 M& ®12x50x10 1z 500
4POBHB0 M8 ©14x85%13 14 800
4P10H7O M10 DI16XTOX1T 16 1100
4P12H90 M1z ®20x90x19 20 1800
4P16H120 M16 ©24x125x24 25 2500
4P20H150 M20 ©32x150%30 3z 4300

Qutside Full Qut
d

Dia.
{mm)

©12x50x20

4P0O8C Ma T 14x60x25
4P10C M10 D 16x65x30
4P12C M12 D20x85x40
4P16C M16 ©24x115x50
4P20C M20 ©32x135x60

PullOut
4P0O6E ME 1225020 12 500
4P0BE Mma ®14x60x25 14 aoo
4P10E M10 ©16x65x30 16 1100
4P12E Mi2 ©20x85x40 20 1800
4P16E M16 @24x115x50 25 2500
4P20E M20 ©32x135x60 az 4300

i T3 22
TOGGLE BOLTS

o110

®13

D13

©13

Pull Out
Load
(kgs)

50

50

50

B0

80

80

80

80

100

100

100

100

Type:P Order
Code
TBMO450V M4x50
TBMO475V Max75
Type:F TEMO4100V M4x100
TBMOS50V Ms5x50
TBMO575V MSK75
— TBMDS5100V M5x100
TBMO5125V Msx125
TBMO5150V MSK150
TEMOGT5V MBX75
Type:H TBMOB100V MEX100
TBMO6125V MEX126
TEMDB150V M6x150
E




www.atfasteners.com

ATF

RRIREE

NYLON WALLPLUGS [

4

LS k82 3% 3

EERREMRLE
L i

p——

R |

WPF

HNERNEVERREE

r
]
i
f
T

OLE DEPTH min

WP0420 4x20 2.0-3.0 20
WP0525 5x25 2.5-4.0 5. 25
WPO0630 6x30 35-4.0 ] 30
WPO735 7x35 4.0-4.5 7 35
WPOB40 Bx40 4.5-6.0 8 40
WP1050 10x50 6.0-8.0 10 50
WP1260 12x60 8.0-10.0 12 60
WP1475 14x75 10.0-12.0 14 75
WP1690 16x90 12.0-14.0 16 90
WP20100 20x100 14.0-16.0 20 100

SIZE SCREW dia.

WPFD&30
WPF0735
WPFO840
WPF1050
WPF1060
WPF1260
WPF1270

WPS0630
WPS0840
WPS1050
WPS51065

NYLON FIXING

BRh TR
i~ 0 WPFC HOLE dia. |HOLEDEPTH min
. WPFC0630 6x30 35-4.0 [} 30
WPFCO840 x40 4.5-6.0 8 40
| WPFC1050 1050 6.0-8.0 10 50
WPFC1260 12%60 8.0-10.0 12 60
WPFC
E L EE
ANSI WALLPLUGS
TYPE A/B
CODE SIZE SCREW dia. | HOLE dia. | HOLEDEPTH min
PADS Bxd0 6.0-8.0 316 1516
PA12 12x60 10.0-12.0 114 1-1/8
PA16 16x90 14.0-16.0 5116 1-7/16
TYPE C
CODE SIZE SCREW dia. | HOLE dia
PACOB12 Bx12 6.0-8.0 316
PACOB14 Bx14 8.0-10.0 316
PAC1016 10x16 10.0-12.0 1/4 1
PAC1424 14124 14.0-16.0 5116 1-1/2

CElR ok

FIXING FOR INSULATING PANELS+PLUG NYLON NAIL

WPQ

REAGEE

WPFB

WPQOE40
WPQ1050
WPQ1260
WPQ1470

6x30 35-40

7x35 4.0-45

x40 45-6.0

1050 6.0-8.0

10x60 6.0-8.0 10 60

1280 8.0-10.0 12 60

1270 8.0-10.0 12 70
SCREW dia.

6x30 3.0-4.0 5 30

8x40 4.0-5.5 8 40

10x50 6.0-8.0 10 50

10x85 6.0-8.0 10 65

REW dia. HOLE dia.

8x40 45-6.0 8

1050 6.0-8.0 10

1260 8.0-10.0 12

1470 10.0-12.0 14

=
e

WPFADG30
WPFAQB40
WPFA1050
WPFA1260
WPFA1470

fix30
2xd0
10x50
12x60
14x70

WPFB0G30
WPFB0840
WPFB1050
WPFB1260

E DEPTH min

10x50 6.0-8.0 10 50
12x60 8.0-10.0 12 60

WITH NYLON NAIL

ORDER CODE SIZE DXLXd DRILL DIA.

FIP10070
FIP10090
FIP10110
FIP10120
FIP10140
FIP10160
FIP10180
FIP10200

0 .

WITH STEEL NAIL

—_—

10x70

10x90

10x110
10x120
10x140
10x160
10x180
10x200

@E0x70xT10

@E0x90xD 10

®B0x110x@10
@E0x120xT10
DEOx140x 210
DE0x160x D10
@E0x180x@10
DEOX200x P10

@10
©10
@10
@10
10
@10
@10
10




AT F ® www.atfasteners.com NYLON FIXI NG

Rxm RABRAST
- SIZE | soaw da

FIXING PANEELS FPe0s 60x8 NYLON FIXING TYPE:W

FP&010 60x10 @10 NWO0B40Z 6x40 4.0x45
FP708 T0x8 k] NWO0860Z 6x60 4.0x65
r 4 | EP7010 Tox10 ®10 NWO0BB0Z 6x80 4.0x85
L ) NWO0B60Z 8x60 5.0x65
NW08802Z 8x80 5.0x85
NW08100Z 8x100 5.0x105
NW08120Z 8x120 5.0x125
NWO08B140Z 8x140 5.0x145
NW1080Z 10x80 7.0x85
I NW101002 10x100 7.0x105
8 3\ F2 2 I B 5 5T NWIOI0Z 1020 70ci28
NYLON FRAME/HAMMER FIXING e L o
NW101602 10x160 7.0x165

CODE ‘ SIZE . | HOLE dia. |HOLEDEPTH min
N3W10BOFZ 10x80 7.0x85 10 85
NIW10100FZ  10x100 7.0x105 10 105
" - ) A N3W10120FZ  10x120 7.0x125 10 125
NYLON HAMMER FIXING TYPE:A/B/C CODE SIZE Nail dia. | HOLE dia. | HOLEDEPTH min N3W10140FZ  10x140 7.0x145 10 145
I NIW10160FZ  10x160 7.0x165 10 165
N0S30Z 5x30 3.5x35 5 35 N3W10180FZ  10x180 7.0x185 10 185
N0535Z 5x35 3.5x40 5 40 NIW10200FZ  10x200 7.0x205 10 205
=] NO540Z 5x40 3.5x45 5 45
NO550Z 5x50 3.5%55 5 55
NOB35Z 6x35 4.0x40 6 40 NYLON FIXING TYPE:3WH - o
Hosite s P & A8 CODE SCREW dia.
m% g::gg :"3:3? g E: : N3W1080H 10x80 7.0x85 10 85
Kiess i i e ke NIW10100H 10x100 7.0x105 10 105
i thaE i & o NIW10120H 10x120 7.0x125 10 125
e &ia0 i g i NIW10140H 10x140 7.0x145 10 145
NO8S0Z 8x80 5.0x85 8 85 N3W10160H 10x160 7.0%165 10 165
NOB100Z Bx100 5.0x105 8 105 NIW10180H 10x180 7.0x185 10 185
idenr it e & bpid NIW10200H 10%200 7.0x205 10 205
NO8140Z 8x140 5.0x145 8 145
<EXXHSIEE:(] @ N1080Z 10x80 7.0x85 10 85
N10100Z 10x100 7.0x105 10 105
N101202 10x120 7.0x125 10 125
N10140Z 10x140 7.0x145 10 145
N10160Z 10x160 7.0x165 10 165
NYLON HAMMER FIXING TYPE:S HOLE dia. |HOLEDE
NS0530Z 5X30 3.5x35 5 a5
NS0550Z 5X50 3.5x55 5 55
NS0640Z Bx40 4.0x45 ;] 45
NS0860Z 6x60 4.0x65 6 65
NS0680Z 6xB80 4.0x85 6 85
NS0860Z 8x60 5.0x65 8 65
NSD8B0Z 8x80 5.0x85 8 85
NS08100Z Bx100 5.0x105 8 105




A T F - www.atfasteners.com S C R E W S

E 515 E Ii% ﬁ Material:

“Carbon steel: 22A

R=1*x

. SELF DRILLING SCREWS st TS
T o - . * Carburizing Heat Treatment
CODE SIZE SCREW RANGE | HOLE Dia. * Surface Hardness: HV >=450
* The Core Hardness:HY 270-390
PTA1180  SHORT #6-#12 5/16 i =
PTA1140  MEDIUM 46-#12 5/16 AALFEHBEINEZ o e
PTA1380  LONG #B-#12 516 DIN-7504-K CW £ Wﬁm ‘,1 ﬂw @
PTA1120  EXTRALONG  #6-#12 5/16 SELF DRILING SCREW,HEXAGON WASHER HEAD - e
PTA1340  XX-LONG i
_ il ik CODE DxPxL CODE
TYPE:PTA o pros o=
HY b8 -3 =S & |
CODE SCREW RANGE | HOLE Dia 7504K 42013 4.2x1.41x13 | 7504K 48013 4.8x1.59x13 | 7504K 55019 55x1.81x19 | 7504K 63019  6.3x1.81x19
! 7504K 42016 4.2x1.41x16 | 7504K 48016 4.8¢1.59x16 | 7504K 55022 55x181x22 | 7504K B3025  6.3x1.81X25
PTB1012 10x12 4x60 10 12 7504K 42019  4.2x1.41x19 | 7504K 48019 4.8x1.50x19 | 7504K 550256 55x1.81x25 | 7504K 63032  6.3x1.81X32
7504K 42025 4.2x1.41x25 | 7504K 48025 4.8x1.59x25 | 7504K 55032 55x1.81x32 | 7504K 63038  6.3x1.81X38
7504K 42032 4.2x1.41x32 | 7504K 48032 4.8x1.59x32 | 7504K 55038 55x1.81x38 | 7504K 63050  6.3x1.B1X50
7504K 42038 4.2x1.41x38 | 7504K 48038 4.8x1.50x38 | 7504K 55050 55x1.81x50 | 7504K 63063  6.3x1.81X63
TYPE:PTB 7504K 55063 5.5x1.81x63 7504K 63075 6.3x1.81X75

7504K 55075 55x1.81x75 | 7504K B30B0  6.3x1.81X80
7504K 63090  6.3x1.81X20
7504K 63100  6.3x1.81X100

NYLON PLUG FOR PLASTERBOARD FIXING WITH SETTING TOOL. 7504K 63110 63x1.81X110

7504K 83120 6.3x1.81X120

\ 7504K 63130 6.3x1.81X130
q‘} ‘ 7504K 63140 6.3x1.81X140

NYLON PLUG SETTING TOOL SAEFFHEPDME SR A HNIEZ i
7504K-W (§ = ﬁ@
NYLON SELF-DRIVE PLUG PLASTERBOARD FIXINGS. SELF DRILLING SCREW, HEXAGON WASHER HEAD WITH EPDM. g
' 2 CODE DxPxL CODE DxPxL
% %S s %S

T504W 48016  4.8x1.59x16 7504W 55019 5.5%1.81x19 7504W 63018  6.3x1.81x19

7504W 48019 4.8x1.59x19 7504W 55025 5.5%1.81X25 7504W 63025  B.3x1.81x25

A B 7504W 48029  4.8x1.59x29 7504W 55032 5.5x1.81x32 7504W 63032  6.3x1.81x32

7504W 48038  4.8x1.50x38 7504W 55038 5.5%1.81x38 7504W 63038  6.3x1.81x38

7504W 48050  4.8x1.59x50 7504W 55050 5.5x1.81x50 7504W 63050  6.3x1.81x50

T504W 48060  4.8x1.59x60 7504W 55064 5.5x1.81x64 7504W 63063  6.3x1.81x63

7504W 48070  4.8x1.50x70 7504W 63070  6.3x1.81x70

7504W 48080  4.8x1.59xB0 7504W 63080  6.3x1.B1x80

7504W 83100 6.3x1.81x100
7504W 63130 6.3x1.81x130
7504W 63150 6.3x1.81x150
7504W 63175 6.3x1.81x175

ARAEEFARKEEAHAREL
SELF DRILLING SCREW POINT NS, HEXAGON WASHER HEAD. CODE

7504KN 5525 5.5x1.81x25
7504KN 5532 5.5x1.81X32
7504KN 5535 5.5x1.81x35
7504KN 5538 5.5%1.81x38
7504KN 5551 5.5x1.81x51
7504KN 5567 5.5x1.81x67




www.atfasteners.com

SCREWS

ATDS1212

ATDS1212 SELF DRILLING SCREWS

7504KLB

DIN7504KLB SELF DRILLING SCREWS

I L A B B SR

SELF DRILLING SCREW FLAT HEAD, WITH WINGS. COUNTERSUNK PHILLIPS HEAD

Code DxPxL

3.9x1.34x16 T504PA 4216 4.2x1.41x16 | T504PA 4825
T504PA 3019 3.9x134019 | T504PA 4219 420141419 | T504PA 4832
TEO4PA 3025 3.9x134x25 | T504PA 4225  4.201.41x25 | TS04PA 4838

Code DxPxL
wa P

4Bx159x25 | 7504PB 5538 5.5x181x38  7504PB 6360 6.3x1.B1X60
4.8x1.50x32 | 7504PB 5545 5.5x1.81X45 | 7504PB 6370  6.3x1.81X70
4.8x1.50x38 | 7504PB 5555 5.5x181x85 | 7504PB 6385 6.3x1.81X85

ATDS 1212085 UNC12/12-24x85 7504KLB 63 55085 ST6.3/5.5-24x85
ATDS 1212110 UNC12/12-24x110 7504KLB 6355110 STE.3/5.5-24x110 T504PA 3932 3.9x1.34x32 T504PA 4232 4.2¢1.41x32 | 7504PA 4845  4.Bx150%d5 | 7504PB 5565 5.5x1.81x65

ATDS 1212125 UNG12/12-24%125 7504KLE 63 55125 ST6.3/5.5-24%125 TS04PA 3938 3.9x1.34x38 TH04PA 4238 426141638 | T504PA 4850 4.Bx1.5Ow50

ATDS 1212135 UNC12/12-24x135 7504KLE 63 55135 ST6.3/5.5-24x185 TS04PA 4245 4.2t 41ndS

ATDS 1212145 UNC12/12-24x145 T7504KLB 63 55155 576.3/5.5-24x155

ATDS 1212155 UNC12/12-24x155 7504KLB 6355175 5T6.3/5.5-24x175

ATDS 1212175 UNC12/12-24x175 7504KLB 6355185 ST6.3/5.5-24x195

ATDS 1212185 UNC12/12-24x1856 7504KLB 63 55235 ST6.3/5.5-24x235 +FELET(RIELBEE g + P Sk T (RN sk B i

ATDS 1212235 UNC12/12-24x235

SELF DRILLING SCREW, PHILLIPS PAN HEAD WASHER.

SELF TAPPING SCREW, PHILLIPS PAN HEAD WASHER

TFRIEHELERZ
DIN-7504-N
SELF DRILLING SCREW, PHILLIPS PAN HEAD

Code DxP
®E #

SDPW 4213

4.2x1.41x13 STPW 4213 4.2x1.41x13
SDPW 4216 4.2x1.41x16 STPW 4216 4.2x1.41x16
7504N 3509 35x1.27x0.5 | 7504N 3913 3.9x1.34x13 | 7504N4213  42¢1.41x13| 7504N 4813 4.8x1.5013  7504N 5519 5.5%1.81x19 SDPW 4219 4.2x1.41x19 STPW 4219 4.2%1.41x19
7504N 3511 3.5x1.27x11 7504N 3916 3.9:1.34n16 | 7504N 4216  4.2¢1.41x16 | 7504N 4816 4.8x1.59x16 = 7504N 5522 5.5x1.81x22 SDPW 4225 4.2x1 41x25 STPW 4225 4.2x%1.41x25
7504N 3513 35x1.2713 | TH04N 3919 3.9x1.34x19 | T504N 4219 42¢1.4x19| 7504N 4819 4.8x1.5919  T504N 5525 5.5x1.81x25 SDPW 4232 4.2x1.41x32 STPW 4232 4.2x1.41x32
7504N 3516 35x127x16 | 7504N 3922 39x134x22 | 7504N 4222 42¢141x22| 7504N 4822 4Bx159x22  7504N 5532 5.5¢1.81x32 SDPW 4238 4.2x1.41x38 STPW 4238 4.2%1.41x38
7504N 3519 35x1.27x19 | 7504N 3025 8.9x1.34x25 | 7504N4225 4.2¢1.41x25| 7504N 4825 4.8x150x25 7504N 5538 5.5%1.81x38 SDPW 4245 4.2x1.41x45 STPW 4245 4.2x1.41x45
7504N 3522  35x1.27a22 | T504N 3932 3.0x1.34x32 | 7504MN 4232 4.2¢141x32 | 7504N 4832 4.8x1.50x32  7504N 5545 5.5x1.81xd5 SDPW 4251 4.2x1.41x51 STPW 4251 4.2x1.41x51
7504N 3525 3.5x1.27x25 7504N 3938 3.09x1.34x38 | T504N 4238  42¢1.41x38 | 7504N 4838 4.8x159x38  T504N 5560 5.5x1.81x60
7504N 3532 3.5x1.27x32 TS04N 4250 42x1.41%50 | 7504N 4845 4.8x1.59x45  7504N 5573 5.5x1.81x73
7504N 4850  4.8x1.59x50
7504N 4860  4.8x1.59x60 o e
7504N 4873 461 59473 HIL(EE)L B EBURL P (i) sk BT iR 22

SELF DRILLING SCREW BINDING HEAD

SELF TAPPING SCREW BINDING HEAD

+FML A AR
DIN-7504-P
SELF DRILLING SCREW, COUNTERSUNK PHILLIPS HEAD

i
P :

|

e

7504P 3509 35d1.27x85 | 7504P 3913 3M134013 | T7504P 4213  42141xi3 | 7504P4813 4.Bx1.5%x13  T504P 5519 55x1.81x19 SDB 3509

3.5x1.27x9.5 STB 3509 3.5x1.27x9.5
7504P 3511 3.51.27x11 | 7504P 3916 39x1.34x16 | 7504P 4216 4.2x141x16 | 7504P4816 4.Bx1.58x16 | 7504P 5525 5.5x1.81x25 SDB 351 3.5x1.27x11 STB 3511 3.5x1.27x11
T504P 3513 35x1.27x13 | 7504P 3919 3M1.34x19 | 7504P 4219  42141x19 | 7504P4819 4.Bx1.519  T504P 5532 5.5x1.81x32 SDB 3909 3.9x1.34x8.5
7504P 3516 35x1.27x16 | 7504P 3022 39x1.34x22 |7504P 4222 42141322 | 7504P4825 4.Bx1.5%x25 = T504P 5538 5.5x1.81x38 SDB 3911 3.9x1.34x11

7504P 3519 3501.27x19 | 7504P 3925 3513425 |T504P 4225 42x141x25 | 7504P4832 4.8x1.5%:x32  T504P 5545 5.5x1.81xd5
7504P 3522 3.51.27x22 | 7504P 3932 3.0x1.34x32 | 7504P 4232 4.2x141x32 | 7504P4838 4.8x1.50x38 | 7504P 5550 5.5x1.81x50
T504P 3525 35x1.27x25 | T504P 3038 313438 | T504P 4238  420141x38 | T504P4B45  4.Bx150md5

T504P 4245 4214145 | 7504P4850  d.Bx1.58x50

@ D




A T F ® www.atfasteners.com S c R EWS

35 4R 5T sk BN

HREEEHBNRE
SELF DRILLING ROOF SCREWS DRY WALL SCREW Heat Treatement:
For Fixong Of Steel Sheet Profiles On Wood Carburizing Heat Treatment

* Surface Hardness: HV 580-620

Onstruction In Aggressive Environment * The Core Hardness:HV 270-425

SDRS 4816 4.6x2.1X16 + R IO\ Sk B8 SRR ST B
SDRS 4819 4802.1X18 DWS-CS l@bﬁ' ) (@) Prr—
SDRS 4829 4.8x2.1%29 DRY WALL SCREW FOR PLASTERBOARD. BUGLE HEAD COARSE THREAD.S-POINT.,
SDRS 4835 4.8x2.1X35
SDRS 4838 4.8x2.1X38 A P :
SDRS 4850 4.8x2.1X50 CODE DIN ANSI | CODE DIN  ANSI CODE DIN  ANSI | CODE DIN  ANSI
SDRS 4860 4.8x2.1X60 DWS-CS 35016 3.5-9x16  6-0a5i§ DWS-CS 38025 3.9-0x25 7-Ox1 | DWS-CS 42081 42-Ba5t  B-8a2 DWS-CS 48070 4.8-Bx70  10-Br2-304
SDRS 4870 4.8x2.1X70 DWS-CS 35019 3.5-9¢19  f-Gudid DWS-CS 39098 B.9-Ox38  7-Ox1-1/2 | DWS-CS 4o0s7 42-BxS7  B-Bxp-14 | OWS-CS 4806 4.8-Bx76  10-Bxd
SDRS 4880 4.8x2.1XB0 DWS-C5 35005 3.5-9x25 §-txt DWS-CS 30045 3.9-Ox45  7-9x1-3/4 | DWS-CS 42063 42-BxB3  B-3x2-122  DWS-CSagse 4.8-BxBD  10-Bu31R2
DWS-CS35032 3.5-9x32 6-Bui-114 | DWS-CS 20057 3.9-0x57 7-9x2-1/4 | DWS-CS 4270 42-Bx70  6-8x2-34 | DWS-CS 48005 4.8-Bx05 10-Bx3-3¢
DWS-C535035 3.5-9x35 6-Bii-36 | DWS-CS 50063 3.9-0x63 7-0x2-1/2 | DWS-CS 42076 42-Bx76  B-8:3 DINS-CS 45100 4.8-8x100 10-Bxé
DWS-C5 35041 3.5-9x41 6-0x1-5/8 | DWS-CS 38070 3.9-Gu70  7-9x2-344 | OWS-CS 42081 42-B83  B-8x3-14 | DWS-CB4gti0 4.8-Bt10 10-Bud-30E
7k iﬁ.‘,ﬂ DWS-C5 35045 3.5-9¢45 6-Bx1-34 | DWS-CS 39076 3.9-9aT6  7-Dx3 DWS-CS 42069 #2-B0B0  8-Bx3-12 | DWS-CS sa120 48-8x120 10-Bxd-3id
Material: DWS-CS 35051 3.5-9x51 6-9e2 DWS-CS 45130 4.8-81130 10845
CONGRETESCREWS * Carbon steel: 22A DWS-C5 35057 3.5-9x57 6-18x2-114 DWS-CS 48150 4.8-Bx152  10-8x6
Heat Treatement:
TORX-DRIVE COUNTERSUNK FLAT HEAD WITH 5 NIBS f ga':w”zllinag dHeat Tr:singggt i
UNDER HEAD HI-LO THREAD YELLOW ZINC PLATED. urlace Hardness: s
' * The Core Hardness:HV 270-425 + =R I\ Sk W 2 oF S AR T
Pl oy @ @ fprm——
DRY WALL SCREW FOR PLASTERBOARD. BUGLE HEAD.TWINFAST THREAD.S POINT.
cs 75072 :
CS 75082 7.5x82 |
Cs 75112 7.5x112 CODE DIN ANSI | CODE DIN ANSI CODE DIN ANSI | CODE DIN ANSI
CS 75132 7.5x132 DWS-28 35016 35-18x16 6-1958  DWS-2530025 9.9-16x25  7-16xi DWS-2842051 42-15051 G152 | DWS-2548070 A8-12670 10-12:2-34
CS 75152 7.5x152 DWS-28 35018 35-18x19  §-1Bx304 DWS-2530038 3.9-16x38  T-16x1-12 | DWS-2842057 4.2-15x87 B-15x2-114 | DWS-28 48076 4B-12476 10-1243
Cs 75182 7.5x182 DWS-25 35025 35-18K25 618k DWS-2530045 3516645  T-16x1-314 | DWS-2542060 4.2-15163 B-15k-12 | DWS-254B0ae 4.8-12k89 10-126-12
CS 75202 7.5x202 DWS-25 35030 3.5-18x32  6-18¢1-14 | DWS-2830057 39-18657 7-16x2-14 | DWS-2542070 4.2-15070 B-15e2-34 | DWS-25 46005 48-12095  10-1243-304

DWS-28 35035 35-18x35  G-1841-3/6 | DWS-2820083 3.9-16x63 7-16x2-112 | DWS-254207 4.2-1576 B-15xd DWS-28 4100 4B-12¢100 10-12¢4
DWS-25 35041 351841 B6-18x1-5/8 | DWS-2530070 3.9-16670 T-16x2-34 | DWS-2842083 4.2-15083 B-15x3104 | DWS-25 48110 4.8-124110 10-12x4-3/8

ﬂl H: , * H: ﬂ 5 Ri]. . OWS-25 35045 15-18x45  6-18x1-34 | DWS-2830076 3016676  7-16x3 DWS-25 42080 4.2-15xB8 B-15x3-12 | DWS-2548120 4.8-12¢120 10-12xd-344
Material: DWS-25 35051 35-18K51 6182 DWS-25 48130 4 6124130 10-12:6

MW DOUBLE THREADED BOLT ggﬁ‘l’ggif;eﬁt £ DWS-25 35057 35-18657  6-162-104 B S A tadst i
+Em kW & B IS IRIE 2
DWS-DR : [ ———

DRY WALL SELF DRILLING SCREW FOR PLASTERBOARDBUGLE HEAD

CODE DN ANSI | CODE DN ANSI | CODE DIN ANSI | CODE DIN ANSI

DWS-DR3501E 35-1816  6-18058 | OWS-DR 39025  38-16:25  7-16xd DWS-DR42051  4.2-15x51 B-15x2 DWS-DR4BOTD 4812470 10-1262-34
DWS-DR 35019 35-18u1d  6-16xdid OWS-DR 39038  3.9-16438  7-16x1-1/2 | DWS-DR42057  4.2-15457 B-1342-14 DWS-DR4BOTE 4.B-12476 10-1243

il

MWB 06040  MW6Ex40 ‘ MWB 08050 MWBx50 MWB 10080 MW10x80

MWE 06050  MWBXS0 MWE 08060 MWERED MWEB 10080 MW10x80 DWS-DR3S0Z5 35-125  6-1exl  |OWS-DR3U04E  39-1645  7-1601-304 | ONS-DRAZED 4.2-16163 619212 DNS-DRABIED 4B-1289 10-1203-12

MWB 06060  MWBXE0 MWE 08070 MWEX70 MWE 10100 MW10x100 DWS-DR3SO2 35-132  6elful-tid |OWS-DR3U0ST  39-16:57  7-162-14 | DWS-DR4ZTD 42-15:70 B-152-34 DNS-DRABISS 4B-1265 10-1200-34

MWB 06070  MW6X70 MWE 08080 MWax80 MWE 10110 MW10x110 DWS-DR35035 L5-135  6-16ai-38 |OWS-DR3IS  39-16i63  7-18K2-12 | OWS-DRXTS 42-15:76 8-153 | DNS-DRABIDD  LB-12¢100 101244

MWB 06080  MWEX80 MWE 08080 MW&x90 MWE 10120 MW10x120 DWS-DRISO 35-1odt  G-18¢158 |OMS-DRIOTD  39-1600  7-16:2-3/4 | DWSDA4NE 42-15:3 6-19G14 DNS-DRABTIO  £8-12¢110 10-1204-318

MWE CEoBd  IAWE#a0 MWE 05100 MWEx 100 MWB 10120 MW10x130 DWS-DRISOS 35-1u5 6186134 |OWS-DR3U0T6  39-1676 7-16:3 | OWS-DR4XNSS 42-15:89 B-150-12 DWS-DRABIZ) 48-120120 10-1264-304
MWE 08110 MWEx110 MWE 10140 MWA0x140 DWS-DR35051 L5-1851 61812 DIVS-DA4BIZ  4.6-12¢130 10-12x5
MWE 08120 MWEX 120 MWE 10150 MW10x150 DWS-DR 35057 3514157 6-18x2-114 DIVS-DABISE  4.6-124152 10-12x8
MWE 08130 Mwax 130 MWE 10180 MW10x180

(39 (40




www.atfasteners.com

ATF

ﬁ:l: bﬁ ﬁ H Material:

i * Carbon steel; 224
CHIPBOARD SCREW Heat Treatement,
| AR ,“ &me‘u & ‘}:--aﬁﬁmwm arburizing Heat Treatmen

* Surface Hardness: HY500-550
fe g sk

* The Core Hardness:HV 250-380
wuwns ©
PAN HEAD

A-TORX CSKHEAD A-PAN

e Sk £ ) Sk
A-TRUSS PAN HEAD WASHER

kEmk @
A-POZI  CSKHEAD

CODE 3 ) : CODE SIZE CODE SIZE CODE SIZE
%" B ik | %S i #s mE | %S A

CBS30012 CBS45016 CBS50020 5.0X20 CBSE0020 6.0X20
CBS30016 3.0X16 CBS35016 3.5X16 | CBS40016 4.0X16 | CBS45020 4.5X20 CBS50025 5.0X25 CBSE0030 6.0X30
CBS30020 3.0X20 CBS35018 3.5X18 | CBS40020 4.0X20 | CBS45025 4.5X25 CBSS50030 5.0X30 CBSE0040 6.0X40
CBS30025 3.0X25 CBS35020 3.5X20 | CBS40025 4.0X25 CBS45030 4.5X30  CBS50035 5.0X35 | CBS60050 6.0X50
CBS30030 3.0X30 CBS35025 3.5X25 | CBS40030 4.0X30  CBS45035 4.5X35  CBS50040 5.0X40 | CBS60060 6.0X60
CBS30035 3.0X35 CBS35030 3.5X30 | CBS40035 4.0X35 | CBS45040 4.5X40 CBSS50045 5.0X45 CBSG0070 6.0X70
CBS35035 3.5X35 | CBS40040 4.0X40  CBS45045 4.5X45 CBS50050 5.0X50 CBS60080 6.0X80
CBS35040 3.5X40 | CBS40045 4.0X45  CBS45050 4.5X50 CBS50060 5.0X60 CBS60090 6.0X90
CBS35045 3.5X45 | CBS40050 4.0X50 | CBS45060 4.5X60 CBS50070 5.0X70 CBS60100 6.0X100
CBS35050 3.5X50 | CBS40055 4.0X55 | CBS45070 4.5X70 CBS5008B0 5.0X80 CBSE0110 6.0X110
CBS40060 4.0X60 | CBS45080 4.5X80 CBS50090 5.0X90 CBS60120 6.0X120
CBS40070 4.0X70 CBS50100 5.0X100 CBS60130 6.0X130
CBS60140 6.0X140
CBS60150 6.0X150

WS

'] 7 48 2%
WINDOW AND DOOR SCREWS

+TERALTEFERENEFARBL

CSK4R-HL
CSK TAPFO(G SCREWFOR HGH DENSITY PLASTERBORRD. HIGH-LOW THREAD

CSK4R-HL 3919
CSK4R-HL 3925
CSK4R-HL 3932
CSK4R-HL 3935
CSK4R-HL 3945
CSK4R-HL 3951
CSK4R-HL 3957

SCREWS

Material:

* Carbon steel: 22A

Heat Treatement:

* Carburizing Heat Treatment

* Surface Hardness: HV500-550
* The Core Hardness:HV 250-380

ANSI

DxTxL
3.9-16x19 7-16x3/4
3.9-16x25 7-18x1
3.9-16x32 T-16x1-1/4
3.9-16x35 7-16x1-3/8
3.9-16x45 7-16x1-3/4
3.9-16x51 7-16x2
3.9-16x57 T-16x2-1/4

TFRLEEE AT NG BREL
CSK4R-D
CSK DRILLINGSCREW FORHIGH DENSITY ALASTERBOARD

e

CSK4R-D 39219
CSK4R-D 3925
CSK4R-D 3932
GSK4R-D 3935
CSK4R-D 3945
CSK4R-D 3951
CSK4R-D 3957

DIN ANSI
CODE

3.9-16x19 T-16x3/4
3.9-16x25 7-16x1
3.9-16x32 T=16x1-1/4
3.9-16x35 7-16x1-3/8
3.0-16x45 7-16x1-3/4
3.9-16x51 T-16x2
3.9-16x57 T-16x2-1/4

+ERLFEARATNHBNRZ
CSK4R CSK4R 3919
CSK TAPPINGSCAEW FOR HIGH DENSITY PLASTERBOARD CSK4R 3925
CSK4R 3932
[ aRRR AR AR CSK4R 3935
CSK4R 3945
CSK4R 3951
CSK4R 3957
CSK4R 4225
CSK4R 4251
CSK4R 4257
CSK4R 4851
CSK4R 4857
CSK4R 4870
CSK4R 4876
CSK4R 4889

CSK4R 48100

CSK4R 48110

PANNURLANY
oo - D

ANSI
DxTxL DxTxL

3.9-16x19 7-16x3/4
3.9-16x25 7-16x1
3.9-16x32 7-16x1-1/4
3.9-16x35 7-16x1-3/8
3.9-16x45 7-16x1-3/4
3.9-16x51 7-16x2
3.9-16x57 7-16x2-1/
4.2-15x45 B8-15x1-3/4
4.2-15x51 8-156x2
4.2-15x57 8-15x2-1/
4.8-12x51 10=12x2
4.8-12x57 10-12x2-1/
4.8-12x70 10-12x2-3/4
4.8-12x76 10-12x3
4.8-12x89 10-12x3-1/2
4.8-12x100 10-12x4
4.8-12x110 10-12x4-3/8




www.atfasteners.com

SCREWS

ATF

+FHBE L ARET

CROSS RECESSED ROUND HEAD WOOD SCREWS

DIN7996 GB950 Material:

*Carbon steel: 1008, 22A

=

Code DxPxL

%8 o

DIN7%96 35010 3.5x1.6x10 | DIN7996 40012 d4x1.8x12 = DIN7996 45016 4.5x2x16 | DINT996 50016 5x2.2x16 = DINT996 60040 6x2.6x40
DIN7996 35012 3.5x1.6x12 = DIN7996 40016 d4x1.8x16 | DINT996 45020 4.5x2x20 | DINT996 50020 5x2.2x20 | DINT996 60045 6x2.6x45
DIN7996 35016 3.5x1.6x16 = DIN7996 40020 4x1.8x20 | DINT996 45025 4.5x2x25 | DINT996 50025 5x2.2x25 = DINT996 60050 6x2.6x50
DIN7996 35020 3.5x%1.8x20 = DIN7996 40025 4x1.8x25 = DINT996 45030 4.5x2x30 | DINT996 50030 5x2.2x30 | DINT996 60060 6x2.6x60
DIN7996 35025 3.5x1.6x25 DIN7996 40030 4x1.8x30 DIN7996 45035 4.5x2x35 | DINTS96 50035 5x2.2x35 = DINT996 60070 6x2.6x70
DIN7996 35030 3.5x1.6x30  DIN7996 40035 4x1.8x35 = DINT996 45040 4.5x2x40 | DINT996 50040 5x2.2x40 | DINT996 60080 6x2.6x80
DIN7996 35035 3.5x1.6%35  DIN7996 40040 4x1.8x40 @ DINTI96 45045 4.5x2x45 | DINT996 50045 5x2.2x45 = DINT996 60080 Gx2.6x90
DIN7996 35040 3.5%1.6x40 = DIN7G96 40045 4x1.8x45 = DINTI96 45050 4.5x2x50 | DINTH96 50050 5x2.2%50 & DINTI96 60100 6x2.6x100
DIN7996 35045 3.5x1.6x45 = DIN7996 40050 4x1.8x50 = DIN7996 45060 4.5x2x60 | DINTS26 50060 S5x2.2x60

DINT996 50070 5x2.2x70

DINT996 50080 5x2.2x80

+F B UK AR ERET

CROSS RECESSED COUNTERSUNK HEAD WOOD SCREWS
DIN7997 GB951

Material:
“Carbon steel: 1008, 22A

Code DxPxL Code ¢ P x Code
%5 %S : %S

DxPxL >ode Code DxPxL
e o

#5 H#E R 5 %53 i

DIN7997 35010 3.5x1.6x10 | DIN7997 40012 4x1.8x12 | DIN7997 45016 4.5x2x16 | DIN7997 50016 5x2.2x16 | DIN7997 60040 6x2.6x40
DIN7997 35012 3.5x1.6x12 | DIN7S97 40016 4x1.8x16 | DINTIST 45020 4.5x2x20 | DINTIG7 50020 5x2.2x20 | DIN7DG7 60045 6x2.6x45
DIN7297 35016 3.5x1.6x16 = DINTI9T 40020 4x1.8x20 | DINTI97 45025 4.5x2x25 | DIN7907 50025 5x2.2x25 | DIN7997 60050 6x2.6x50
DIN7997 35020 3.5x1.6x20 | DINVI97 40025 4x1.8x25 | DIN7997 45030 4.5x2x30 | DIN7997 50030 5x2.2x30 | DIN7997 60060 6x2.6x60
DIN7997 35025 3.5x1.6x25 | DIN7997 40030 4x1.8x30 | DIN7S97 45035 4.5x2x35 | DIN7997 50035 5x2.2x35 | DIN7997 60070 6x2.6x70
DIN7997 35030 3.5x1.6x30 | DIN7997 40035 4x1.8x35 | DINTSST 45040 4.5x2xd0 | DINTIO7 50040 5x22x40 | DIN7S97 60080 6x2.6x80
DIN7997 35035 3.5x1.6x35 | DIN7997 40040 4x1.8x40 | DIN79S7 45045 4.5x2x45 | DINTIG7 50045 5x2.2x45 | DIN7S97 60090 6x2.6x80
DIN7997 35040 3.5x1.6x40 = DIN7T997 40045 4x1.8x45 | DINTO97 45050 4.5x2x50 | DIN7997 50050 5x22x50 = DIN7997 60100 6x2.6x100
DIN7997 35045 3.5x1.6x45 DIN7997 40050 4x1.8x50 | DINT997 45060 4.5x2x60 | DIN7TI97 50060 5x2.2x60

DIN7987 50070 5x2.2x70

DIN7SG7 50080  5x2.2x80

®

+ P KARIRET

CROSS RECESSED RAISED COUNTERSUNK HEAD WOOD SCREWS
DIN7995 GB952

Material:
*Carbon steel: 1008, 22A

BS

DINT995 35010 3.5x1.6x10 | DINT995 40012 4x1.8x12 | DINT995 45016 4.5x2x16 | DIN7I95 50016 5x2.2x16 | DIN7995 60040
DIN7995 35012 3.5x1.6x12 | DIN7995 40016 4x1.8¢16 | DIN7995 45020 4.5x2x20 | DIN7995 50020 5x2.2x20 | DIN7935 60045
DIN7995 35016 3.5x1.6x16 | DIN799540020 4x1.8x20 | DIN7995 45025 4.5x2x25 | DIN799550025 5x2.2x25 | DIN7995 60050
DIN7995 35020 3.5x1.6x20 | DIN799540025 4x1.8x25 | DIN7995 45030 4.5x2x30 | DIN799550030 5x2.2x30 | DIN7995 60060
DIN7995 35025 3.5x1.6x25 | DINT99540030 4x1.8x30 | DIN7995 45035 4.5x2x35 | DIN799550035 5x2.2x35 | DIN7995 60070
DINT995 35030 3.5x1.6x30 | DINT99540035 4x1.8x35 | DINTO95 45040 4.5x2x40 | DIN7995 50040 5x2.2x40 = DIN7995 60080
DIN7995 35035 3.5x1.6x35 | DIN7995 40040 4x1.8x40 | DIN7995 45045 4.5x2x45 | DIN7I95 50045 5x2.2x45 | DIN7995 60090
DIN7995 35040 3.5x1.6x40 | DIN799540045 4x1.8x45 | DIN7S95 45050 4.5x2x50 | DIN7995 50050 65x2.2x50 | DIN7995 60100
DIN7995 35045 3.5x1.6x45 | DIN7O95 40050 4x1.8x50 | DIN7S95 45060 4.5x2x60 | DIN7995 50060 5x2.2x60

DIN7995 50070  5x2.2x70

DIN7995 50080  5x2.2x80

s b

6x2.6x40
6x2.6%45
6x2.6x50
6x2.6x60
6x2.6x70
6x2.6%80
6x2.6490

6x2.6x100

AR RIRET N
HEXAGON HEAD WOOD SCREWS
DIN571 GB102 k

ik ®S i S
DIN571 06020 Bx2.6x20 DIN571 08025  Bx3.6x25 DINS71 10030 10x4.5%30 12x5.0x35
DINS71 08025 Bx2.6x25 DIN5S71 08030  Bx3.6x30 DING71 10035 10x4.5x35 DINS71 12040 12x5.0x40
DINS71 06030 6x2.6x30 DIN571 08035  8x3.6x35 DINS71 10040 10x4.5x40 DING71 12045  12x5.0x45
DINS71 08035 Bx2.6x35 DINS71 08040  8x3.6x40 DINS71 10045  10x4.5x45 DINS71 12050 12x5.0x50
DIN571 06040 Bx2.6x40 DIN5S71 08045  Bx3.6x45 DING71 10050 10x4.5x50 DIN571 12055  12x5.0x55
DINS71 06045 6x2.6x45 DIN5S71 08050  Bx3.6x50 DIN571 10055 10x4.5x55 DIN571 12060  12x5.0x60
DINS71 06050 Bx2.6x50 DIN571 08055  8x3.6x55 DINS71 10060  10x4.5x60 DIN571 12065  12x5.0x65
DINS71 08055 6x2.6x55 DINS71 08060  8x3.6x60 DINS71 10065 10x4.5%65 DINS71 12070 12x5.0x70
DIN571 06060 6x2.6x60 DINS71 08065  8x3.6x65 DINS71 10070 10%4.5%70 DINS71 12075 12x5.0%75
DIN5S71 08070  Bx3.6x70 DIN571 10075 10x4.5x75 DIN571 12080 12x5.0x80
DINS71 08075  8x3.6x75 DINS71 10080 10x4.5x80 DIN571 12090  12x5.0x90
DINS71 08080  8x3.6x80 DINS71 10090  10x4.5x90 DINS71 12100 12x5.0x100
DINS71 08090  8x3.6x90 DINS71 10000  10x4.5%100 DING71 12110 12x5.0x110
DIN571 08100  8x3.6x100 DIN571 12120 12x5.0x120

@




®
A T F www.atfasteners.com

—FIEF UL ARIRET

SLOTTED RAISED COUNTERSUNK HEAD WOOD SCREWS
DIN95 GB101

DINgS5 35010
DiNg5 35012
DING5 35016
DING5 35020
DINgS 35025
DIN95 35030
DING5 35035
DIN9S 35040
DING5 35045

3.5¢1.6x10
3.5x1.6x12
3.5¢1.6x16
3.5x1.6x20
3.5%1.6x25
3.5x1.6x30
3.5%1.6x35
3.5¢1.6x40
3.5x1.6x45

DIN9S 40012
DiN9s 40016
DIN95 40020
DINS5 40025
DINGS 40030
DIN9S 40035
DING5 40040
DIN9S 40045
DING5 40050

4x1.8x12
4x1.8x16
4x1.8x20
4x1.8x25
4x1.8x30
4x1.8x35
4x1.8x40
4x1.8x45
4x1.8x50

DINS5 45016
DINg5 45020
DING5 45025
DINGS5 45030
DINg5 45035
DINS5 45040
DINg5 45045
DING5 45050
DINS5 45060

4.5x2¢16
455220
455225
4.5x2%30
4.5%2%35
4.5x2x40
4.5x2%45
4.5x2x50
4.5x2¢60

SCREWS

Bs
DING5 50016
DINg5 50020
DIN95 50025
DIN95 50030
DING5 50035
DING5 50040
DIN95 50045
DIN95 50050
DINI5 50060
DINg5 50070
DINa5 50080

Material:
‘Carbon steel: 1008, 22A

5x2.2x16
5x2.2x20
5x2.2x25
5x2.2x30
5x2.2x35
5x2.2x40
5x2.2x45
5x2.2x50
5x2.2x60
5x2.2x70
5x2.2x80

#Ha

DING5 60040 6x2.6x40
DINg5 60045 Ex2.6x45
DINGS 60050 6x2.6x30
DING5 60060  B6x2.6x60
DINGS5 60070 Bx2.6x70
DING5 60080 6x2.6x80
DINGS 60090 Bx2.6x90
DING5 60100 6x2.6x100

S ER#E
CARRIAGE BOLTS

DING03

DINGO3 05016
DING03 05020
DINg03 05025
DING03 05030
DING03 05035
DING03 05040
DINB0O3 05045
DINGO3 05050
DING03 05055
DIN803 05060
DING03 05065
DINGO3 05070
DING03 05080

M5x0.8x16
M5x0.8x20
M5x0.8x25
M5x0.8x30
M5x0.8x35
M5x0.8x40
M5x0.8x45
M5x0.8x50
M5x0.8x55
M5x0.8x60
IM5x0.8x65
M5x0.8x70
M5x0.8x80

Code

DINBO3 06016
DINGO3 06020
DINBO3 06025
DING03 06030
DINGO3 06035
DINGO3 06040
DINED3 06045
DINGO3 06050
DINBO3 06055
DINED3 DBOSO
DINBO3 06065
DINBO3 06070
DINGO3 06080
DINBO3 06090
DINED3 06100
DINGO3 06110
DINGO3 06120
DINED3 06130
DINGO3 06140
DINBO3 DB150

Méx1.Oxi6
Méx1.0x20
Méxi.0x25
Méxt.0x30
MBx1.0x35
Méx1.0xd0
Méx1.0x45
Méx1.0x50
Méx1.0x55
M8x1.0x60
M6x1.0x65
M6x1.0x70
Mé6x1.0x80
MBx1.0x90
M6x1.0x100
MEx1.04110
Méx1.0x120
MEx1.0%130
Méx1.0x140
Méx1.0x150

DINGO3 08020

DINGO3 08025
DINGO3 08030
DINGO3 08035
DINGO3 08040
DINGO3 08045
DINGO3 08050
DINGO3 08055
DINGO3 08060
DING03 08065
DINGO3 08070
DINGO3 08080
DINGO3 08090
DINGO3 08100
DINGO3 08110
DINGO3 08120
DINGO3 08130
DINGO3 08140
DINGO3 08150

—

Material:
“Carbon steel: 1008, C35

Maxt 2520
Max1.25x25
Max1. 2530
Max1.25¢35
Max1.25x40
Max1.25x45
Max1.25¢50
Max1.25155
M8x1.25¢60
M8x1.25%65
W8x1.2570
Max1.25¢B0
MBx1.25x80
MBx1,25x100
M8x1.25x110
Max1.25x120
1 250130
IMéx1.25x140
a1 251150

3

DINGO3 10020
DINGO3 10025
DINGO3 10030
DINGO3 10035
DINGO3 10040
DINGO3 10045
DINGO3 10050
DING03 10055
DING03 10060
DINGO3 10085
DINGO3 10070
DINGO3 10080
DINGO3 10090
DINGO3 10100
DINGO3 10110
DINGO3 10120
DINGO3 10130
[DINGO3 10140
DINGO3 10150
DINGO3 10160
DINGO3 10180
DINGC3 10200

M10x1.5%25
M10x1.5x30
M10x1.5%35
MA0x1.5xd0
M10x1.5x45
M10x1.5%50
WH10x1.5%55
M10x1.5x60
M10x1.5%85
M10x1.5x70
M10x1.5%80
M10x1.5x90
M10x1.5x100
M10x1.5x110
M10x1.5x120
M10x1.5x130
M10x1.5x140
M10x1.5x150
M10x1.5x160
M10x1.5x180
M10x1.5x200

DING03 12030 M12x1.75x30
DING03 12035 M12x1.75x35
DINGO3 12040 M12x1.75x40
DINGO3 12045 M12x1.75xd45
DING03 12050 M12x1.75x50
DING03 12055 M12x1.75x55
DING03 12060 M12x1.75x60
DINGO3 12065 M12x1.75x65
DINGO3 12070 M12x1.75x70
DING03 12080 M12x1.75x80
DINGO3 12090 M12x1.75x30
DING03 12100 M12x1.75x100
DINGO3 12110 M12x1.75x110
DING03 12120 M12x1.75x120
DING03 12130 M12x1.75x130
DING03 12140 M12x1.75x140
DINGO3 12150 M12x1.75x150
DING03 12160 M12x1.75x160
DINGO3 12180 M12x1.75x180
DING03 12200 M12x1.75x200

www.atfasteners.com

CLAMP
SC640 STEEL CLAMP(SQUARE NAIL)

56640-22
SCH40-28
SC640-35
SC640-40
ﬁi' 5C640-48
SCE40-60

SCED-75

SC6E40-90

J SCEH40-115

20-25
26-30
32-36
38-43
47-51
60-64
7580
a7-82
113-118

STEEL CLAMPS

SC64ZBHEAVY DUTY STEEL CLAMPS WITHOUT RUBBE

SCe42B-18
SCe42B-22

(;" \. 5C642B-28

- SCB42B-35
- SCE42B-48
n{

SC642B-60

5C642B-75
5C6428-90
' SC6428-100
L 5 5C6428-110

1 SC642B-115
SCe42B-125
SCE428-160

3/8"
12t
314t

1
1-1/2"
o

2-1/2"

156-19
20-25
26-30
32-38
47-51
60-64
75-80
87-82
99-105
107-112
113-118
125-130
169-166

SC642 STEEL CLAMP WITHOUT RUBBER

SC643 STEEL CLAMP WITH RUBBER

SCE43-18
$CB43-22
SC643-28
SCB43-35
5C643-40
SCE643-48
SCE643-54
SCE43-60
SCE43-70
SCB43-T5
SCE43-83
5C643-90

SC642-100 100 99-16
5CE42-110 110 107-112 SCe43-100
SC642-1156 115 4 113-118 5C843-110 107-112
5C642-125 125 125-130 S5C643-1156 4* 113-118
SC642-133 133 132-137 5C643-125 125-130
SCE42-140 140 i 138-142 SC643-133 132-137
SCE42-150 150 148-152 SCE43-140 5 138-142
SCH42-160 160 & 159-166 SCB43-150 148-152
5C642-200 200 200-212 SCB43-160 & 159-166
8CB42-220 220 a" 215-220 SCB43-200 200-212
5C843-220 220 a8° 215-220
SC642P STEEL CLAMPS WITHOUT RUBBER

M

SCE42P-18 18 3/8"
SCB4ZP-22 22 1/2*
SCB42P-28 28 an"
SCE42P-35 a5 1
SCE42P-48 48 1-1/2"
SCE42P-B0 &0 2"
SCB42P-75 75 2-1/2"
SCE42P-60 00 3"

SCE42P-100 100
SCB42P-110 110
S5Ce42P-115 115 4"
SCE42P-126 125
SCB4A2P-160 160 B

15-19
20-25
26-30
32-36
47-51
60-64
75-80
87-02
99-105
107-112
113-118
125-130
159-166

SC643P STEEL CLAM

C

SCE43P-18

SCE43P-22
L SCE43P-28
# SCEB43P-35
SCE43P-48
SCH43P-60
SCE43P-75
SCE43P-00
SCE43P-100
SCB43P-110
SCEB43P-115
SCH43P-1256
SCE43P-160

P WITH RUBEBER

‘II"I'II'T’I

| INCH ‘ -

16-189
20-25
26-30
32-36
47-51
B0-64
7580
a7-g2
99-105
107-112
113-118
125-130
159-166




www.atfasteners.com S T E E L C LA M P S

SC642D M8/M10 STEEL CLAMP WITHOUT RUBBER

sCeaz-22 22 20-25
SCed2-28 28 3 26-30
SC642-35 a5 32-36
5064240 40 =1/ 38-43
SC642-48 48 i 47-61
SC642-54 54 53-58
SCE42-60 [ 2* BO-B4
SCE42-70 70 68-72
5G642-75 75 2-1/2" 75-80
SCEA2-B3 a3 B1-86
SC642-80 90 3 B7-82
SCe42-100 100 89-105
SCE42-110 110 107=
SC642-115 115 a 113-118
SCEaz-125 125 125-130
5C642-133 133 132-137
SC642-140 140 5 138-142
SCEA2-150 150 148-152
SCH42-160 160 6 159-166
BCE42-200 200 200-212
SC642-220 220 8 215-220

SC643D M8/M10 STEEL CLAMP WITH RUBBER

SCEA3-18
SCH48-22
SCE43-28
SCH43-35
SCEA3-40
SCE4T-4B
SCA43-54
SCB43-60
SCH4S-TO
SCB43-T5
SCHA3-E3
SCE43-90
SCEA3-100
SCH43-110
SC643-115
SCHA3-125
SC643-133
SCE43-140

107-112
4 113-118
125-130
132-137
s 138-142
SCE43-150 148-152
SCE43-160 & 168166
SCE43-200 200 200-212
5C643-220 220 a* 215-220

SC644 DOUBLE STEEL CLAMP WITHOUT RUBBER

SC645 DOUBLE STEEL CLAMP WITH RUBBER

SCB45-22

OO $C645-28 B a

| ! 50645-35 35 e

SCB45-40 40 1-1/4"
SCB45-48 48 1-12
5084560 &0 >

scazz-1a 18 15-19
SCaze-22 22 20-25
8caz2-23 28 26-30
SCAzZ-15 as 32-38
4 SCAZZ-48 48 L 47-51
SCa22-60 80 2 E0-B4
SCAZ2-T5 75 a-1igs TH-80
SCazz-90 90 3 87-92
SCazz-115 15 4 113-118

SCH23-18 18 378" 15-19
BCA25-22 22 12" 20-25
5CB23-28 28 LN 26-30
4 SCB23-35 35 1 32-36
SCE25-48 48 1-12° 47-51
- SCA23-60 &0 gt B0-54
SCRZ3-T5 5 21020 75-80
SCA23-90 30 3 B7-92
SCH23-115 116 4 113-118

S5CH30-18 18 alg"
SCeap-22 22 172"
SC830-28 28 3/
5CH30-35 35 1
SCB30D-48 48 1-1/2°
5C830-60 60 2°
SCB30-75 75

S5CB30-90 20
SCAa30-115 115 4*
SCAID-160 160 6 158-166

STEEL PLAT:20X0.6

STEEL PLAT:20X0.6

UBIg# U-BOLT

SC100 SINGLE CONDUIT CLIP

m METRIC PIPE | STEEL PIPE PLASTIC PIPE THICKNESS
10 12
118

SC100-10 12" 1.0

SC100-12 12 1.0 12
5G100-14 14 il 1.0 12
SC100-16 1% 1.0 12
5C100-16 16 16 aE 16 1.0 12
SC100-18 18 1.0 12
8C100-20 20 20 20 1.0 15
5C100-22 22 1.0 15
5C100-24 24 1.0 15
S5C100-25 25 25 25 1.0 15
SC100-28 26 S 120 15
SC100-28 28 1.20 15
SC100-30 30 120 15
56100-32 a2 32 0 32 120 17.50
SC100-37 7 1.20 17.50
8C100-40 40 A0 an 120 17.50
SC100-42 az 11 1.20 17.50
SC100-47 47 -1 1.20 17.50
SC100-50 50 50 50 1.20 17.50
8C100-63 63 83 2 83 1.20 17.50

SC102 SINGLE CONDUIT CLIP

SC102-8 a 1.0 12
5G102-10 10 1.0 12
5C102-12 12 114" 1.0 12
SC102-14 14 1.8 12
5C102-15 15 /8" 1.0 12
SC102-18 16 16 18 1.0 12
SC102-18 18 12 1.0 12
5C102-20 20 20 20 1.0 15
SC102-22 22 1.0 15
S5C102-24 24 1.0 15
5G102-25 25 25 25 1.0 15
SC102-26 28 314" 120 15
SC102-28 28 1.20 15
5C102-32 az a2 1 32 120 17.50
SC102-37 ar 120 17.50
80102-40 40 40 40 1.20 17.50
SC102-42 42 1-114* 120 17.50
SC102-47 48 -1zt 120 17.50
S8C102-50 50 50 50 1.20 17.50
SC102-63 63 62 2" B3 1.20 17.50

UBOLTS

AUBIO8

AUBI4 14"

AUBloas a8

AuBINZ2 12" Mé& 213 275 25 80 250
AuBlOa4 34" Me 26.7 33 31 111 2.50
AuUg1100 1" Ma 334 39.5 39 137 2.50
AUBIT14 1174 M6 42.2 48.5 44 160 2.50
AUBIT12 112" Me 48.3 56.5 48 181 3.50
AUBIZ00 ¢ Ma 60.3 68.5 53 209 3.50
AUBIZ14 214" M8 73 83 63 255 350
AuBiz12 2172 Ma 78 83 7 270 3.50
ALIBI300 3 ma 88.9 99 78 302 3.50
AlUBI312 aver M8 i01.9 112 82 33z 3.50
AuBlS0D 4 Ma 114.3 125 a7 365 3.50
AUBI412 4172 M10 132 140 100 425 3.50
AUBISOO 5 M10 141.3 152 105 445 350
AUBIEDO 6" M10 168.3 179 118 510 3.50




www.atfasteners.com

STANITARY FIXING

ATF-

FIXING FOR WASH BASIN

CODE ITME SIZE CODE ITME SIZE CODE ITME SIZE
THOOTABS10FRO_MWOE100S 10FRE MWEX100 THOUTABS10FR2  MWOB120310FRE MWaX120 THODTA10S10FRA _ NWOB140310FR1D MWaX140

Description  Size Colour  Cuanlity Description  Size Colour  Quanlity Dascription  Size Coleur  Quantity
Serew Mwaxiap  ZnP 2
Scraw MWEX1D0 ZnP 2 Soraw MWBX120 ZnP 2 Nt A ZnP 2
Nut M P 2 Nut M8 ZnP & Wiallplug sioxgoF  Omange 3
Wallphig S10KG0F  Orange 2 Wallplug S10KGO0F  Orange z Plastic Washer  5XB White 2
Plagtic Washer 358 Whita 2 Piagtic Washar 35X8 Wits. 2 StaslWasher  DIN125MB 20 2

FIXING FOR WASH BASIN

CODE ITME SIZE
THOO3BBS12R  MWI090S12RE MW10X80

CODE ITME SIZE
THODTASSIZRD  MWID100S12R8  MW10X100

CODE ITME SIZE
THOOTABS12G0  MW10100312G8 MW10X100

THOO7BBS10FR0 MWHOS100510FRE  MWHBX100 THOOTBEST0FGN  MWHOA100510FGE  MWHBX100 THOOTBES10FG2  MW0A120510FGA MWHEX120

Dascription  Size Colour  Quantity
Screw MW10XS0  ZnP 2

B

AL s N, e

sxam

Description  Siza  Colour  Quantity

= =
<o ©)
e —

s

Description  Siza  Golour  Quantity

CODE ITME SIZE CODE ITME SIZE CODE ITME SIZE

Serew MWOXTE  YZnP 2 Screw MWIDXI00  ZoP 2
HNut # Mut Mo 2 MNut M1 nP 2
Wallplug 51280 Oranga 2 Wallplug $12160 Orange 2 plug S12X60 Grey 2
Plastic Washar  85%10 White 2 Plaztic Washer  35%10 White 2 Plastic Washer 3510 White 2
CODE ITME SIZE CODE ITME SIZE CODE ITME SIZE

THOO1ABS12BD  MW1010051288  Mw10X100

THODTABS12A1 MW10110512RE  MW10X110

THOD1ABS12R2  MW1D120812RE  MW10X120

Description  Size Colgur  Quantity Dascription  Size Colour  Quantity Dascription  Size Calour  Quantity
Sorow MWHEX100  ZnP 2 Screw MWHEX100  ZnP 2 Seraw MWHEX120  ZnP 2
hut Ma ZnP 2 Nut ] ZnP 2 Mut Mg 2P z
Vialipiug SIONGOF  Orange 2 Wallpiug S10XEDF Grey 2 Wallplug S10XE0F Gey 2
Plastic Washer 35X8 White 2 Plastic Washer 35X3 White 2 Plastic Washer 35X3 White 2
CODE ITME SIZE CODE ITME SIZE CODE ITME SIZE

THOOTB0S10FGY  MIWHOAT4OST0FGID  MWHBX14D THOOJABS1ZA0  MWHOS100512R8  MWHEX100 THOO3A8512G0 MWHI9100S12G8  MWHBX100

g (©)
TSI ¢

e

Dascription  Size Colour  Duantity

S )
R ()
ORI

s

Description  Siza Colour  Quantity

Description  Siza  Colour  Quantity

weam o O seesaE

s
e () e e ST, (%

Cgad (o
e T——— ;

i R T

~ -
cccctamm) - () «EEam

Description  Size  Colour  Quantity Description  Size Colour  Quantity Description  Size  Colour  Quantity
Seraw RMWHEX140 nP 2 Scraw MWHIX100  ZnP 2 Seraw MWHIX 100 InP 2
Nut Me ZnP 2 Hut 8517 nP 2 Nut 8517 ZnP 2
Wallptug S10X60F Grey F Waliplug S1zx60 Orange 2 Wallplug $12%60 Grey 2
Piastic Washer 35X8 White 2 Plastic Washer  35K9 Wihite 2 Plastic Washer 35x3 White 2
Steal Washar  DIN12EME  Znp 2

Seraw MWIDXI00  ZnP 2 Seraw MW10X110 ZnP 2 Screw MWI0X120  ZnP 2
Nut Wi ZnP 3 Nt W10 P 2 Mat Wio 2P 2
Wallpiug S12%60 Black 2 Wallplug S12KED drange 2 Wallplug S12X60 Omange 2
Plastic Washer 35X10 While 2 Prastic Washas  3BX10 Wihite 2 Plaglic Washe! 38X10 Wihite 2
CODE ITME SIZE CODE ITME SIZE CODE ITME SIZE

THOO1ABS12G2 MW10120812G8  NW1DX120

THOOTABS12W2 MWIDT20S12WE  MW10X120

THOO1A10S12RZ MWID120S12R10  MW10X120

L)

Dsscription  Size  Colour  Quantity

Screw MWiOXi2o  ZoP 2
Nut W0 ZnP 2
Waliplug S12KE0 Grey 2
Plastic Washer 38X10 White 2z

Description  Siza  Calour  Quantity

Screw M1 0K 120 InpP 2
Nut M1 inP 2
Wallpiug 512%60 Wihita 2
Plastic Washer 38X10 White 2

@ © ¢

m O

Description  Size  Colour  Quantity
P

Scraw MWioX120 £l 2
Nut Mo Zn! 2
Wallplug 512%60 Orange 3
Plasiic Washer 3EX10 White 2
Steel Washar  2Bx10x1.5  Znp 2




www.atfasteners.com

ATF-

FIXING FOR WASH BASIN

CODE ITME SIZE
THOO1B8S12R2 MWHID120512R8  MWH10X120

CODE ITME SIZE
THOD1B8S12G2 MWHIDI20512G8  MWH10X120

CODE ITME SIZE

THOO1B10612R2  MWH10120812R10  MWH10X120

e -
< O)
e

e

smEs
R )
TR T

s

THOD1BES14R2 MWHI0120514R8  MWH10X120

Description  Size  Colour  Quantity Description  Size  Celour  Quantity Description  Size Coleur  Quantity
Sceew MWH1DXI2D  ZnP 2 Sorew MWHIOKIZD  ZnP 2 Serew MWHIOX1Z0  ZnP 2
Nut Mo InP 2 Nut M1 ZnP 2 Mut M0 ZnP -
Wallglug 512460 Orage 2 Wallplug S12X60 Grey 2 Wallplug S12XE0 Orange 2
Plastic Washer 38X10 Whita 2 Plastic Washer  38K10 White 2 Plastic Washer 30X10 White 2

Siesl Washer  28x10415 Znp 2

CODE ITME SIZE CODE ITME SIZE CODE ITME SIZE

THOOTBAS14G2  MWHIOT20514GE  MWH10X120

THOO1B10S14R2  MWH10120S14R10  MWH10X120

Descripfion  Slzs  Colour  Quantity

L=

el

Description  Sizs  Colour  Guantity

esoslim

- )

Description  Size  Colour  Quantity

THOO1B10814R4  MWHIO140G14R10  MWH10X140

Screw MWHIBK120 ZnP 2 Screw MWHI0X120  2nP H Serew MWHIX120  ZnP 2
Hut M0 nP 2 HNut M10 ZnP 2 Nut nio nP 2
Wallplug 51475 Oranga 2 wallplug S14X75 Grey z Wallplug 51475 Oranga 2
Plastic Washer 38X10 White 2 Plastic Washer 38X10 White 2 Plastic Washar  38X10 White 2

Stesl Washer _ 28x10015  Znp 2
CODE ITME SIZE CODE ITME SIZE CODE ITME SIZE

THOO1B10514G4 MWHI01A0814610  NWH10X140

THOD1BAS14A25 MWHIDI20GS14RES  MWHI0X1208

Description  Size  GColour  Quantity

Serew MWHIOX140  ZnP 2
Nut L) ZnP 2
wallpiug S14X75 Qrange 2
Plastic Washer 38X10 White 2
Steel Washer  28x10x1.5  Zn) 2

eeE@Em - O
- )

el 0 O

Deseription  Siza  Golour  Guantity

Serew MWHI0X140  ZnP 2
Mt W0 ZnP 2
wallplug Saxrs Gray 2
Plastic Washer 38410 White 2
Steel Washer 2810615 ZnP 2

Destription  Site

Golour  Quantity

Setew MWHIDK1208  §304 2
Mut M108 5304 2
wallplug S18X75 Orange 2
Plastic Washer 40X10 White 2

FIXING FORW.C. BIDET

CODE ITME SIZE

MWHEXTS

THOOBA16S8RC  MWHD7588R 160

CODE ITME SIZE
THOOBATESSWE  MWHOETESEWTEC  MWHEXTS

CODE ITME
THOOBATESBGW MWHOSTSSEG1EW

STANITARY FIXING

SIZE
MWHEXTS

® 9 9@

®? @ @ @

2 % 9 2

*

Description  Siza Colour  Quantity Dascription Giza Colour  Quantity Description  Size Golour  Quantity
Scraw MWHBX?S  ZnP 4 Screw MViHEXTS  ZnP 4 Screm WHHEXTS P 4
Cap Nut Ms 1P 4 Cap Mut ME NP, 4 Wihole FlatCapNut ME NP 4
Wallpfug SEX4D Orange 4 Wallplug SB40 White 4 Wiallplug 38340 Grey 4
Plastic Washer _16x10x6 White 4 Plastic Washer 16x10z6 Vihite 4 Plashc Washer  16u10m White 4
CODE ITME SIZE CODE ITME SIZE CODE ITME SIZE

THODEB16SERW 1680 MWHEXE0 THOOGB16SEGW THOOGB1GSERE  MWHOEBOSER16B MWHEXED

P o0

H

Description  Size Coleur  Quantity Deseription  Size  Colour  Quantity Deseriptisn  Size Colour  Quantity
Serew MWHENED  ZnP 4 Screm MWHESED  ZnP 4 Strew MWHGKED YZnP 4
Whals Flat Gap Nut M8 Ni P a Wihola FlatCapNut W6 NP 4 BrastCaphui  M§ Brass 4
Waliplug SaxAD Oranga 4 Wallplug S3K40 Gray 4 Wallplug s8X40 Orange 4
Plastic Washer 180156 While 4 Plaslic Washes 181546 While 4 Plastic Washer 1811548 While 4

CODE ITME SIZE CODE ITME SIZE CODE ITME SIZE
THOOBB1ASBGE MWHOBBDSAGIAE  MWHEXED THODBC1BSRRAW MWHOBSDSER1EW — MWHEXS0 THOOECIASBGW  MIWHDES0SBGIEW  MWHEX90

?I@Wﬂ*

@ e

[ 5]

»
=
-
v

e @ oo

H

=i

==

Description  Siza  Colour  Quantity Description  Size  Colour  Quantity Desaription  Size  Colour  Quantity
Serew MWHEXBD  ZnP 4 W MWHEKSD  ZnP 4 Serew MWHERSD  ZnP 4
BrasiCapNut - M6 Brass 4 WhaiaFlat Caphut MG NP 4 WholoFlat Cap Nt W6 NP 4
Wallplug SEKAD Grey 4 Wallphuy SEXI0  Orange 4 Waipisg EE Grey 4
Piastic Washar _18115x6 _ While 4 Plasbc Washar ___ 18x15__ Whits 4 Plastic Washor __ 18x15:8_ While 4

52




www.atfasteners.com

ATF-

FIXING FORW.C. BIDET

CODE ITME SIZE CODE ITME SIZE CODE ITME SIZE
THODGC1658RE  MWHDBADSER1EE  MWHEX90 THOOBC1BS10FRS Rl MWHEXE0 THODBB 1656655  MWHIEH0S586165 MWHEX30
P oa

an_:w*

Deseription  Size Colout  Quantity

Y

e @ 3 @

Description  Size Colout  Quarntity

BGIIO*
[Pr—
w*

m*

Descripion  Size Colour  Quantity

FIXING FORW.C. BIDET

STANITARY FIXING

Scraw MWHEX90 YZnP 4 Screw MWHEXE0 YZnP 4 5304 Scraw MWHEXS0 5304 4
Brass CapMNut N8 Brass 4 8304 Cap Nut M5 S30a 4 5304 Cap Nut Mg 5304 4
Wallplug SN0 Omange 4 Wallplug SI0GG0F  Orange 4 Wallplug S8X40  Grey 4
Plastic Washar 182158 While 4 Plastic Washer 14x15x6 White 4 Plastic Washer 18x15x6 White 4
CODE ITME SIZE CODE ITME SIZE CODE ITME SIZE
THOOBB16SBGBE  MWHIBB0BSAG1EE MWHEX80 THOOSB1658GE W 188 MWHS.5X30 THO0SB16S6GSS MWHOSSB0S5BG1ES  MWHS.SXBO

Em—

Deseription  Size Colowr  Quantily

00 OO0 muen
¥
m*

Ty, (RS

Description  Size Celour  Quantity

CmT—— e

Description  Size  Colour  Quantity

Brasa Screw MWHEXBD Brass 4 Screw MWHE.5KBO  ZnP 4 5304 Screw WIS 5XE0 5304 4
Brass Caphut W Brass 4 Brass Cap Nut M5S Brass 4 5304 CapNut  MSS 5304 4
Wallglug 52840 Grey 4 Wasglug S840 Grey 4 Wallplug s8nA0 Gray 4
Plastic Washer  18x15x6 White 4 Plastic Washar 181 5 White: 4 Plastic Washer 1801526 While 4
CODE ITME SIZE CODE ITME SIZE CODE ITME SIZE
THOO5B16S8GEE B MWHS.5X80 THOOEBBSERW WWHEX80 THC RE W MWHEX80
e e n @

e e T
R ——- = (=
Lo e v *

Descripion  Size  Calowr  Quantity Descriplion Siza  Colour  Gluantity Description Size  Colour  Guantity
Brass Serow MWHS.5XB0  Brass 4 Seraw WWE80 YZnP 2 Scraw MWHExB)  YZnP 2
BrasaCaphit M55 ras P Vinole Flat Cap but W6 i 2 Brass Caphiul M6 rass. 2
Wallphug saXa0 Orange 4 Viallplug saxa0 Orange 2 Wallplisg S840 Gray 2
PlasticWasher  18x!5x6 White 4 Plastic Washer 16x10x6 White 2 Plastic Washer 16x10x6 VWhite 2

CODE ITME SIZE CODE ITME SIZE CODE ITME SIZE
T MWHOE5E80858GES MWHS.5XB) THO12BESBG  DET1 WEX80 THO13A10G ~ ESDETSM3SSBGI0 ESEX75
R —— @ b '

L wee =
Description Sz Colour  Quantity Description  Slze  Colour  Guantity Description  Size  Golour  Guantity
5304 Screw  MWHSSd0 5304 2 OINS71 Screw  WExB0  ZnP 2 Eye Screw Wes?s  ZnP 2
8304 Caphut  MES 5304 2 Wallplug MEXAD Grey 2 Mazhing Screw MEx35. NiP 2
Waliplug SaKAD Grey 2 Plestic Washer  16X1246  White 2 Wallplug SEN4D  Grey 2
Prastic Washer 1811528 While - Plastiz Gap o] White 2 Plastic Washar White 2

Plastic Sguare Washar White 2
CODE ITME SIZE CODE ITME SIZE CODE ITME SIZE
THO15A8  D79B3IS0670S8GH STEXT0
= -
- i Y
Deseription  Size Colsur  Quanlity Daseriplion  Shee Celour  Quaniily Deseription  Size Celour  Cuantily
DIN7S83 Sorew  SIGATD  Brass ]
Plastic Wazhar 16X12x6  While 2
Wallplug Sixé0  Gray 2
Plastic Cap 2043 ‘While 2
CODE ITME SIZE CODE ITME SIZE CODE ITME SIZE
Description Size  Colour  Quantity Description Size Colour  Quantity Description  Size  Colour  Quantity

@




ATF-

www.atfasteners.com

FIXING FOR WATER HEATER

CODE

THOD4A4512R

ITME

WL09EES12R4

SIZE
WLAXes

CODE ITME SIZE
THOO4A45128  WL098551284 WLOXBS

CODE ITME SIZE
THOD2A4812R  WL1090812R4 WL10X30

é(i

FIXING FOR TOILET TANK

THODBA125WA0 TSOBBOSWI2 MBXB0

CODE

ITME SIZE

THODBAT4SW1D0  TSD61005W14 MEX100

CODE

ITME
THOODEB12SWBD TSOBBOSW12

STANITARY FIXING

SIZE
MBX80

©000:4

Deseription  Size Colour  Quantity Deseription  Size Colour  Quantity Description  Size Colour  Quantity
Scrow WLIx85 ZnP 2 Sorew W85  ZnP 2 Sorew WLI0NS0  ZnP 2
Wallplug S12X60 orange 2 Wallplug S12K60 Black 2 Wallplug  S1z060  Orange 2
THOO2BAS12G80 WHLIDBOS12G4  WHLIOXSD THO0284512R%0 WHL1090512R4  WHL10X30 THO02B4514R30 WHL10B0ST4R  WHLIOXSD
m’ »  — g
Description  Size Colour  Quantity Description  Size Colour  Quantity Description  Size Colour  Quantity
Serew WHLI0x8D  ZnP 2 Scraw WHL10x80  ZnP 2 Seraw WHL10x90 ZnP 2
Wallglug 51260 Grey 2 Wallplug S$12XE0 Crange 3 Wallplug  514x75 Orange 2
CODE ITME SIZE CODE ITME SIZE CODE (1 SIZE
THOOEBAS14R100 WHL10T00S14Re  WHL10X100 THOOEB4S14R120 WHLIOT20514RE  WHLIOX12(

o0
0050 .3

0-4
0-4

5004

Dascription  Size  Colour  Quantity Description  Size  Colour  Guantity Description  Siza  Colour  Guantity
Seraw MExBD Cuf 2 Serew MEx100 CuP 2 Serew Maxs0 CuP z
Steel Washer 2ixbxl 5 Cup 4 Steel Washar 21a6x1 5 CuP 4 Stesl Washer 17a8x1 NiP 2
Rubber Washer a7 Black 2 Aubber Washer g7 Black a Rubber Washar o7 Black F
Rubbar Washer 20 Black 2 Rubbar Washar 20 Black 2 Rublier Washar 0 Black 2
Hut M6 CuP 2 Hut ME CuP 2 Hut M8 CuP z
Wing Hut ME CuP 2 Wing Nut ME CuP 2 Wing Nt ma CuP 2

CODE ITME SIZE CODE ITME SIZE

THOOBB125W100 TS081005W12 MBX100 THODEAT4BB30 TBSOSBOBWI4 MEXa0 THOOBA14BB100 TBS0A100BW14 MEX100

A Sprrrrreeenna SRUERRPETT A CERTLTET:
R
A SeprxerErrrno L
b e ]

o4

Description  Gize  Colour  Quantity Description  Size  Colour  Quantity Description  Size  Colour  Quantity
Scraw WHL1Dx100  ZnP 2 Screw WHL10x120  ZnP 2
Wallplug  514X75 Qrange 2 Wallplug  514X75 Orange 2

Description ~ Size  Colour  Quantity Descripion  Siza  Colour  Quantity Description  Siza  Colour  Guantity
Serew MEx100  CuP 2 Brass Seraw MExAO  Brass 2 Brass Scraw  Mexioo  Brass 2
Stel Washer 172811 cuP 2 Brass Washer 21x6x1.5 Brass 4 Brass Washe!  21xEx15  Bress 4
Rubber Washer 37 Black 2 Rubbar Washer g7 Brass H Rubber Washer o7 Brass 2
Fubber Washer 20 Bilack 2 Rubber Washer  zp Brass 2 Rubber Washer 20 Brass 2
Nust ua CuP 2 Brass Nut ME Brass 2 Brass Nut ME Brass 2
Wisa Ma CuP 2 Winp it ME CuP 2 Wing Ml ME GuP z
CODE ITME SIZE CODE ITME SIZE CODE ITME SIZE
THOD8B12BBA0  TBSOBROBW1Z MBXED THOOBA14S380 TSSO0BE0SSWI4  MEXED THOOBB123S80 TSSO8BOSSW1Z  MEXED

Q@000

Deseription  Size Colour  Quantity Description  SBlza Colour  Quantity Description  Size Colour  Quantity
Brass Scraw MExRO Brass 2 5304 Serew IBRE0 5304 2 5344 Screw MEx80 Sane 2
Brass Washer 25x8x1.5 Brass 2 5304 Washar 21x6x15 5304 4 5304 Washar 2aeEx s 5304 2
Rubber Washer 27 Black 2 Aubber Washar g7 Black 2 Aubber Washar i Black 2
Rubber Washer  2g Black z Aubber Washer 2 Black z Aubber Washer  2p Black 2
Brass Nut e Brass 2 S304 Hul " 5304 z S304 Nut MB Sa04 2
Wing Nut ME CuP 2 Wing Nut MB 5304 2 Wing Mut M8 5304 H




ATF-

www.atfasteners.com

CALIDUCT STAND

CALIDUCT STAND

CODE ITME SIZE CODE ITME SIZE CODE ITME SIZE
THO10A4R BRO7S175W4 7.5X175 THO10A4F BFO7S175W4 7.5%175 THO10B4R18  BROSO180WA ax180
-
%
Description  Size Ceolour  Quantity Description  Size Colaur  Quantity Description  Size Colour  Quanlity
Screw R7.5¢175  Whita 2 Scraw F7.5x175  Whita 2 Screw R9x1B0  White 2
Wallplug 12X70 Wihite 2 Wallplug 12870 White 2 Wallplug TAXED White 2
CODE ITME SIZE CODE ITME SIZE CODE ITME SIZE
THO10B4R21 BR0O90210W4 9xX210 THO10B4F18 BFO30180W4 X180 THO10B4F21 BF0B0Z10W4 X210
b N e R
. .
o &
Y
Description  Size Colowr  Cuantity Description  Size Colour  Quantity Description  Size Colour  Quantity
Screw RSX210 Whita 2 Screw Fox180  Whita 2 Screw Fox210 White 2
Wallplug 14%80 Whita B Wallplug 14X80 White & Wallplug 14XB0 Wihite 2
CODE ITME SIZE CODE ITME SIZE CODE ITME SIZE
THO11A4R21 BR115210W4 11.5%210 THO11A4RES BR115235W4 11.5%235 THO1144R26 BR115260Wd 11.5X260
& 4
-~ -
\
Y ) ]
= s b . ] w
4
Description. Size  Colowr  Quantity Description  Size  Colour  Quanfity Description  Size  Colour  Quantity
Seraw A1 Ex210 Wihite 2 Scraw A11.5x235  White 2 Scraw R116x260  While 2
Wallplug  15x80 White H Waliplug — 15%80 White 2 Waliplug 1500 White 2

57)

CALIDUCT STAND

CODE ITME SIZE CODE ITME SIZE CODE ITME SIZE
THO11A4RZ1S  BR1151902N4  11.5X100 THO11A4RZ21  BR1152102ZN4 11.5X210 THO11A4RZ23 BR115235ZN4 11.5X235
- -

Deseription  Size Calour  Quantity Description  Size Colour  Quantity Deseription  Size Colour  Quantity
Scraw AN1.5x180  Zrp ] Screw A11.52210  Znp 2 Scraw R11.5x235  Znp 2
Wallplug  15x%90 Whnite 2 Wallplug  15%20 White 2 Wallplug  15x80 white 2

CODE ITME SIZE CODE | ITME SIZE CODE ITME SIZE

THO30A4W TH110W4 110 THO3DABWL LHO85WE a5

N

Description  Size  Golour  Quantity Description  Size  Colour  Quantity Description  Size  Golour  Quantity

Stand 10 White 2 Stand 95 ‘White a

Seeaw STaaxso  Znp 2 Screw ST4.Bx50 Znp 2

Wallplug _ sex4s Gray 2 Waliplug  sax4s Gray 2
CODE | ITME SIZE CODE | ITME SIZE CODE ITME SIZE
THO31A14W  PLBOW14 Pa0 THO31B14Zn SL80Zn14 580 THO31C12W  PLSSW12 P55

Ay
2\ T

Dasariptian Size Colour

Description  Size  Colour  Quantity Quantity Description  Siza  Colour  Quantity

5¢)




